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Chapter 10
Plant Assets, Natural Resources, and Intangible Assets
A salall 5 gt g domdall 351 gl g "2l ALy gl ALY J gaa¥)
Plant Assets Ja¥) 4L gk J gua)
Plant assets are resources that have el Gl 3l sl &
physical substance (a definite size and shape)
(Case S5 ana) 4l b Bale
are used in the operations of a business
4 el Jleel cillee & axaius
are not intended for sale to customers
"I e Seall wall Baxa Cand
are expected to provide service to the company for a number of years.
sl (e 02 AS 5l Aarald) a5 (f a8 gl (4

* Referred to as property, plant, and equipment; plant and equipment; and fixed assets.
AN J a5 6lana g piiaa ¢ Clana g YT 5 SRS Lo iy
Plant assets are critical to a company’s success

Al el paa ) A Gl Ja) Al sh Jsaal)
Cost Principle — requires that companies record plant assets at cost.

AdSHL piadl) J geal @IS ) Jas of callaty — A0S fasa
Cost is not an estimate number Ui Lad ) o Sl

*Cost consists of all expenditures necessary to acquire an asset and make it ready for its intended use.
R gaiall AR SaN Alea g Jual o J ganll Ao U i) asan (pa ARSI ) <

Land a2
All necessary costs incurred in making land ready for its intended use increase (debit) the Land account.

oY) Claa ) (geaall) 33l ) L 3 geallall aladiadl i) Sagad L saiall da B Cadlsill g

Costs typically include: 3is adl<ill Jads

1) cash purchase price,. gl o) il e
2) closing costs such as title and attorney’s fees. Blalaall sl 5 ASLal) Jie cadisall (33le )
3) real estate brokers’ commissions . a3yl &Y gac

4) Accrued (due to) property taxes and other liens on the land assumed by the purchaser.
gl Lelaaty ) G ¥ e (s AN ol S5 ASLl) ol juin (ass) Aliasdl)
5) filling and grading ol 5 edall

Q: Hayes Manufacturing Company acquires real estate at a cash cost of $100,000. The property
contains an old warehouse that is razed at a net cost of $6,000 ($7,500 in costs less $1,500 proceeds
from salvaged materials). Additional expenditures are the attorney’s fee, 51,000, and the real estate
broker’s commission, $8,000.

gasiue o Jlall g 5iny )Y 50 100000 o a8 4 4slS @l Jie e 3 aiud Hayes Manufacturing 4S s J) s

(3] &3 ) o) gall Claile e Y 50 1500 Ll Y 52 7500 <allSs) LY 53 6000 La )8 dilia 48K 48 j5 &5
Y 528000 ¢ s teal) Jhaandi dlsac 5 ¢ 5Y 53 1000 ¢ ebaal) Hlail 4 Al el
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Required: Determine the amount to be reported as the cost of the land.
(oY A die § LY ) el alall pan ;o gllaal)
Land

Cash price of property ($100,000) sy sam o $100,000

Net removal cost of warehouse ($6,000) s i 6,000
Attorney's fees ($1,000)  stise s 1,000
Real estate broker’s commission ($8,000) 8,000

o e meﬁ

s as Cost of Land $115,000

* Land Improvements (<l cilisal
Cost includes all expenditures necessary to make the improvements ready for their intended use.
e 3 gucall alaiiud 5 ks cilipenill Jaa e 301 EATY pan ARISH) Jadi
€ Examples: driveways, parking lots, fences, landscaping, and lighting.
Belaa¥ls ¢ dumndall ALl ¢l eud1 Gl ) CB) e cqel el (AN @
€ Limited useful lives.
Bagae il Gl 4 @
€ Expense (depreciate) the cost of land improvementsiover their useful lives.
(Y W jae (530 e ooal PV il 435 (ML) Cli s padl @

** Buildings <L)
Includes all costs related directly to purchase or construction.
Ll gf o) a0 6 yilee daleial) GRS araa Jady
Purchase costs: &)l Ciudl<s
@ Purchase price, closing costs (attorney’s fees, title insurance, etc.) and real estate broker’s
commission.
(Nl loandl A gae o (@lld ) Los ASLA) e el g slelaall i) (3D W) CallSi g o)yl 2 @
€ Remodeling and replacing or repairing the roof, floors, electrical wiring, and plumbing.
ASLud) 5 4l 5eSH LY 5 il Y1 5 o) #Sal ol Jlagind 5 S sale) @
Construction costs: sbil) i<
€ Contract price plus payments for architects’ fees, building permits, and excavation costs.
il Callss g el C‘:’JL‘A} Crolazall (il alas] Gle daa J) ALYl diall e @

Equipment <laxal)

Include all costs incurred in acquiring the equipment and preparing it for use.
AL laalae ) 5 Clanall ey 52Kl CallSEl pan (el o

Costs typically include:
(b Lo bale il Jass

@ Cash purchase price. rrall el il e
€ Sales taxes. Cilagaall () yuia
€ Freight charges. ol a g )
€ Insurance during transit paid by the purchaser. Dl oW el (g yidiall ady
€ Expenditures required in assembling, installing, and testing the unit.
Bl il S S5 el 4 gllaal) culaail)
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Q: Lenard Company purchases a delivery truck at a cash price of $22,000. Related expenditures are

, painting and lettering $500, motor vehicle license $80, and a three-year accident
insurance policy $1,600. Compute the cost of the delivery truck.

@ Al s el | Y 50 22000 538 (5385 e Jua 58 Aials Lenard 4S8 5 A% 1) g
Y53 1600 < s 3G Baal Cad) gall dum (alill A8 55 ¢ 15Y 50 80 5kl duad 5 ¢ 4V 52 500 AU 5 s i g ¢
i gl 8l A8 G

Truck
Cash price Bl ) $22,000
Sales taxes bl Gl ua 1,320
Painting and lettering 4t 5 a g 500

o i) Al RIS
Cost of Delivery Truck $23,820

Q: Lenard Company purchases a delivery truck at a cash price of $22,000. Related expenditures are
sales taxes $1,320, painting and lettering $500, motor vehicle license $80, and a three-year accident
insurance policy $1,600. Prepare the journal entry to record these costs.

3 S Y 50 22000 o 538 s a5 Liald Lenard 3858 (s it 1 5840 L) JA4" Ua o<1y Gibad) J)sedd
(Sl o3 Joaodll AN JLA2) el a8 Y 53 1600 <l sias S 53] sl sl

Equipment <l 23,820
License Expense was A b juas 80
Prepaid Insurance @ (s (sl 1,600
Cash (Al (ELst) 25,500

Process of allocating to expense the cost of a plant asset over its useful (service) life in a rational and
systematic manner.

Angies Auhaie syl 3dall (1a22])) o jee g2 o aiadl) Joal S5 GUY Qapadill il

@ Process of cost allocation, not asset valuation.
Jsa¥) apli Gud s ¢ A Gapadi e @
€ Applies to land improvements, buildings, and equipment, not land.
a1 Gy lanally il ol ) a3 @
€ Depreciable, because the revenue-producing ability of asset will decline over the asset’s useful life.
e Ay el lae o Gmidiig Jaall s jad) Jsal 5,08 0¥ Dl 6 @
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Depreciation Factors : €Ygiu) Jal g
1. Cost: all expenditures necessary to acquire the asset and make it ready for intended use / Real value
W s Sy Y " A Gl [ 3 geaila) a3l el alas g Jeal) e J seandl A 53U ldil) aes ALLSH)
2. Useful life: estimate of the expected life based on need for repair, service life, and vulnerability to
obsolescence /estimate
"l (g s i3 (S s/ o) S 5 Handl a5 3 nlal) e s o il nll i 1kl el
3. Salvage value (S.V): estimate of the asset’s value at the end of its useful life / estimate
"l 3 La s (S 8 [ (ALY o e Bl 8 Jeal A o ATy Auh

Note: Depreciation expense is reported on the income statement. Accumulated depreciation
is reported on the balance sheet as a deduction from plant assets.
2aall Jsal (e aad e geal) ) Jaall 3 da Hae aS) il SNGLYT JRa) Gl 8 DY) i g pae Qi o4 14BN

Note 2 : Another term sometimes used for salvage value is residual value.
Aariall dail) g SEY) dait) Ulal aadiy Al mllacas ; 2 Aaadla
Depreciation Methods <3¢l &)k

Management selects the method it believes best measures an asset’s contribution to revenue over its
useful life.

(Y jee jlae o Gl Y1 U sal) daalie Juabl JSE (s Lol aied 0 A5kl 5 lay) s

83%
Straight-line

Examples include: Jads ALiay)

(1) Straight-line method (S.L.M). "Bl Ll adiiall Jadll 38 5l
(2) Units-of-activity method. Ll cilas 5 48y ,ha
(3) Declining-balance method. Uadlitall avea 5l A 5k
8% Other
(1) Straight-l_ine M‘ il 5% Units-of-activity

4% Declining-balance
@ Expense is same amount for each year. -

"okl AL e W e AT Lo (S alal) (il lad) @
€ Depreciable cost = Cost less salvage value.
LA Ao 4alSs Jil = Dl ALl ksl @
Depreciation expenses per year = ( Cost — Salvage Value (S.V)) / Useful life in years
<) giaadly ad giall ALY jand) [ "Adial™ NAY) dad — 4G = (o glud) D) iy laa 10 gildl)

(2) Units-of-Activity "z clas g™ LUl claag
€ Companies estimate total units of activity to calculate depreciation cost per unit.
Ban sy JSI DlaY) 4S5 Clald Bl clas s Mea) lS a0 06 4
€ Expense varies based on units of activity.
Llaal) caa g el Gy jladl Caliss @
€ Depreciable cost is cost less salvage value.
AEY) e Leta A 5 e A o IO ALE) L) @

Note Another term often used is the units-of-production method.
ZEY) Clas s 48 5k s AT alhias aodig L Ule d3adl
Depreciaiton Expense per unit= (Cost- Salvage value) / useful life in units * number of units
. Aaddiioal) Claa gl aae * Cilaa gl QLYY peadl [ LAY dad — QI = Baa g JSI DIGILY) Ciy jlaa ;¢ gilAl)
Then we multiply by number of units used during the period.
.(Number of units) 3_i&ll DA dasiial) claa gl e & G pdal o
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(3) Declining-Balance <8liiall sua i
@ Accelerated method. Alaaal) 48, k)
@ Decreasing annual depreciation expense over the asset’s useful life.
B alBY) el gae o G siadl SDAY) Clig ae (mids @
€ Twice the straight-line rate with Double-Declining-Balance.
L3l gailiiall dua )l ae il lanill) Jaxs Conn @
€ Rate applied to book value.
Ay yiaall dadll e gahaall jaudl @

SLM Rate = 1/ useful life in years Colil) Jacl) 48y ha A cpe i JS Jua aladia) i
Required rate= SLM Rate * 2 Culil) Jadl) Jana Cirua 48y jhll gl oY cogthaall Jarad) (g8

Depreciaiton Expense per year = Bv(Book value) Beginning of year * Required rate
sthaall Janall * g jial) dall = "Gty A JS 5Y Loy diw JSU s daw JS eDiginy)

Q: Barb’s Florists purchased a small delivery truck on January 1, 2014.
2014 (5l A G581 A 5 sua Jua 5 Liali Barb's Florists < id) 1 Q

Cost 4l $13,000

Expected salvage value 4ad giall JE) dod $1,000

Estimated useful life in years < giwlly ja8all AUN) jeall 5

Estimated useful life in miles Jwa¥l a8l ALY yaall 100,000
Required: Compute depreciation using the following. (b La pladily i) Gl 1 slhaal)
(a) Straight-Line. asiwall laall (b) Units-of-Activity. hliill &las ¢ (¢) Declining Balance. (<iliidl aua i

A) Straight-Line aiiwall laill
Depreciation expenses per year = ( Cost —Salvage Value (S.V)) / Useful life in years
Depreciation expenses per year = ( 13000 — 1000) / 5 = 12000/5 = 24005 /per year
Al A5 A IS Al () A8l e3a Gaer e **
Yearly depreciation for 1 full year = $ 2400
N9 2400 = Jels als baal ‘“53.'\.“3\ iy PRI
For 2014= 2400
For 2015= 2400
For 2016= 2400
For 2017= 2400
For 2018= 2400
oadliiall el A5 5k e Jglan Jand linie Lag A JST 200 dadl) gl 45, )kl la
Assume the delivery truck was purchased on April 1, 2014.
2014 Jinl 1 G 3ld & Jaea il dialis o (a3
Yearly depreciation for 1 full year = $ 2400
For 2014 = 2400*9/12= 1800
For 2015= 2400
For 2016= 2400
For 2017= 2400
For 2018= 2400
For 2019 = 2400*3/12=600
Sl ariii & 5 Jin 2014/4/1 A Liajh by jidl Ll (e ¢ 2400 = Dlginy) culd s JS 8 48 5kl gla b ola
L i 3.2018. 2017, 2016. 2015 . 2014 Ledl Q) sd (Fin ¢ Aadsia Gl 5 5 e el 9 "Jaa i) dialis”
.35 daunse ddyhall s 2019
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B) Units-of-Activity "z <laa " LLail) claag
Depreciaiton Expense per unit= ((Cost- Salvage value) / useful life in units ) * number of units
QA Gua ¢« Jaa 15000 dim Jsi s ¢ S22 100.000 Aialil) odai @ gia J) gually Us
Depreciaiton Expense per unit= ((Cost- Salvage value) [ useful life in units )* number of units
Depreciaiton Expense per unit= ((13000- 1000) / 100,000 miles) * 15000 miles "First year"
Depreciaiton Expense per unit= ((12000) / 100,000) * 15000
Depreciaiton Expense per unit= (0.12) * 15000 = 1800$/per years

Cilaa o) Lall cpa J) sl W) dlidony ) Cilad gl Cua CALATY Al JS **

Miles Cost per Annual Accum. Book
Year Driven x Unit = Expense Deprec. Value
2014 15,000 $0.12 $ 1,800 $ 1,800 $ 11,200
2015 30,000 0.12 3,600 5,400 7,600
2016 20,000 0.12 2,400 7,800 5,200
2017 25,000 0.12 3,000 10,800 2,200
2018 10,000 0.12 1,200 12,000 1,000

2014 Depreciation expense 1,800
Jgurnal Accumulated depreciation 1,800
ntry

Sy jlaall 428 giall Al g ¢ Jae 100000 pge sama s Aalill agabasi = ) I Jaall 230 28 5l lie 4w JS (58 — gl g
s ALl ) dall Ue allays « Accumulated oS)iall SNy 3 agaenias ¢ daall 220 (DA we Caliady Ly
L el s

Assume the delivery truck was purchased on April 1, 2014.
COR A s L Al k) sla A 2014/4/1 B Wl jid) Laldll g Lyl ol

C ) Declining-Balance <8liiall 3ua 4l
SLM Rate = 1/ useful life inyears =1 /5=20%
Required rate = SLM Rate*2 =20% * 2 = 40%
Depreciaiton Expense per years = Bv(Book value) Beginning of year * Required rate

BV at
Date beginning of Depreciation Accumulated BV at year
year expense Depreciation End
o A ydal) dagdl) o A yidal) dagal)
gl dad) Al g iy jlan AS) yial) &g ) Al
01/01/14 13000 5200 5200 7800
01/01/15 7800 3120 8320 4680
01/01/16 4680 1872 10192 2808
01/01/17 2808 1123 11315 1685
01/01/18 1685 674 11989 1011

*685 *12000 *1000
Depreciaiton Expense 2014 = Bv Beginning of year * Required rate = 13000 * 40%=52005/year
Depreciaiton Expense 2015 = Bv Beginning of year * Required rate = 7800 * 40% = 3120S/year
Depreciaiton Expense 2018 = Bv Beginning of year * Required rate = 1685* 40%=6475/year
" Jsa (b b AT B g Jpaadl) " as) el DG $11 Aila)s $1000 (& Ll Al oY Jard a3Y 50
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Assume the delivery truck was purchased on April 1, 2014.
LoaBlial) dua ) A8y sk cus DALY quni Ua g 2014/ 4/ 1 (B o8 pdh o AN 6 (i il

BV at
Date beginning Depreciation Accumulated BV at year

of year expense Depreciation End
04/01/14 13000 3900 3900 9100
01/01/15 9100 3640 7540 5460
01/01/16 5460 2184 9724 3276
01/01/17 3276 1310 11034 1966
01/01/18 1966 786 11821 1179
01/01/19 179%** 12000 1000

Comparison of Methods (k! 43 i

g - Straight- Units-of- Declining-
;5% $5.000 - g;;i"gnhi‘n':_";we Year Line Activity Balance
W #4000 = Unkes-of acily 2014 $ 2,400 $ 1,800 $ 5,200
g $3000F 2015 2,400 3,600 3,120
It 2016 2,400 2,400 1,872
g s1oor 2017 2,400 3,000 1,123
0 | 1 I 1 1

2014 2015 2016 2017 2018 ALl 200 1200 S

Year $12,000 $12,000 $12,000

Each method is acceptable because each recognizes the decline in service potential of the asset

in a rational and systematic manner.
Ay L 4Ly oD Aantl) ) (il iy Leia JS 0F Apha ik S

Depreciation and Income Taxes Jadl g Mgiul) il pua
IRS does not require taxpayer to use the same depreciation method on the tax return that is used in

preparing financial statements.
i) alae) 3 aaiidl upeall ) AV SILY) Ady e el alafind (il pual) adly (pe () juall Aalias callal Y
Al

IRS requires the straight-line method or a special accelerated-depreciation method called the Modified
Accelerated Cost Recovery System (MACRS).
(MACRS). Janall Jaeall 48K 3yl alai e Jazall éllgindd dals 45 jla o ol Landll 43 ) |RS calkas

MACRS is NOT acceptable under GAAP.
GAAP. > 501 J 5130 2 MACRS

Revising Periodic Depreciation s Mgy 42l
€ Accounted for in the period of change and future periods (Change in Estimate).
(ol & juaill) Aldtial) il el g el 38 8 Candial

@ Not handled retrospectively. =) il Leae Jaalail) Al ol
€ Not considered error. tad joay Y
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Q: Arcadia HS, purchased equipment for $510,000 which was estimated to have a useful life of 10 years
with a salvage value of $10,000 at the end of that time. Depreciation has been recorded for 7 years on a
straight-line basis. In 2014 (year 8), it is determined that the total estimated life should be 15 years with
a salvage value of $5,000 at the end of that timg.
VT 10 38 day g 10 @l Al jee Ld 5B Y 50 Cill 510 alear Clana o i) ¢ "AS 5" Gul i) WS ) s
O daai i ¢ (8 4aull) 2014 ale & culil) Ll Ll e <l g 7 30l @MY st 23 < ) @l s & )Y 50
i ) Ay s 8 Y 50 5000 28 dessy Wle 15 (56 o cons (g il jeal) Ml
Questions: .Y
€ What is the journal entry to correct the prior years’ depreciation?
AaL) gl Dgins) el il il Jo) 0 L @
€ Calculate the depreciation expense for 2014.
2014 ol DUGLY) (g pan ounl @

First, establish NBV at date of change in estimate

S B sl d S A NBV das ¢ Y
Dep expense per year = ("Equipment" cost — Salvage Value) / useful = (510,000 — 10,000) / 10

= / 10 = 50,0008 /year
Accumulated depreciation of 7 yaers (the basic of SLM)= 50,000 * 7 = 350,0005

o Qlped) o an ) Jacidl) 4By sl (ubaa] Ao aS) il DMGILY) U (5
NBV (4384l dadll Ala) = Cost (4ilsill)- Accumulated depreciation ( aS/_iall dMgiuy))
=510,000 - 350,000 = 160,000

Balance Sheet (Dec. 31, 2014)
Plant Assets:
Equipment $510,000
Accumulated depreciation 350,000
Net book value (NBV) $160,000
Depreciation Expense calculation for 2014. 2014 ol DAY Gy uas Glwa,

New Depreciation =( Net book value — Salvage value New) / Usefil life Remining

hial) addiceall jas [ yan NENY) Lo — 4y 80 Ladl) il = aaal) gL
New Depreciation = ( — Salvage value New) / Usefil life Remining
New Depreciation = ( —5,000) / 8 = 155,000 / 8 = 19,3755 /years.

Journal entry for 2014 and future years.

Depreciation Expense 19,375
Accumulated Depreciation 19,375
|Page8
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Expenditures During Useful Life al23iu¥) 5aa JMA ciladil)

Ordinary Repairs — expenditures to maintain the operating efficiency and productive life of the unit.
Ban sl ALY jeall s Qi) 3eUS o Blall cilas — Lalal) cladlal)

@ Debit — Repair (or Maintenance) Expense. Llaall 5 #OlaY) Cay jlas — (pta
€ Referred to as revenue expenditures. <l el Ll e e iy

Additions and Improvements — costs incurred to increase the operating efficiency, productive capacity,

or useful life of a plant asset.
aal) Jaal ALY jaall o Ll s 0l o Juall 5ol 3aly 3 saiall CallSl) — ciliuadl) g cilélay)

@ Debit — the plant asset affected. giad) Jual il — (pta
@ Referred to as capital expenditures. Alland y il g5l e L) Ly

Plant Asset Disposals 3all 4l gh J gV (s Galiill

Companies dispose of plant assets in three ways —Retirement, Sale, or Exchange (appendix).
(L) Qo o ) o se el — (3 5k O aibiaal) J sal 8 IS ) o s

Piper Co. Lowy Col Piper Co. Lowy (;oj
S == S =

b3 &

TAD

—_— -— > <

e s O Sale Retirement J¥*= Exchange ctamall 515 23

A - Equipment is sold Equipment is scrapped Existing equipment is traded 3 g3 gall
Al AL another party. or discarded. for new equipment. Saaall olsall

JLgta galdsll gl cilanall glddf a3
Record depreciation up to the date of disposal.
Lo palial) fo ) in giuY) o
Eliminate asset by (1) debiting Accumulated Depreciation, and (2) crediting the asset account.
Jsal¥) Glua "G "(2) 5 ¢ Sl ANGY) "0 (1) Gasb e Jpal) (g (ali
1) Retirement of Plant Assets "Jsa¥) 2cli " J gall sla olgiil
@ No cash is received. ) 2D oy ol
€ Decrease (debit) Accumulated Depreciation for the full amount of depreciation taken over the
life of the asset.
A e lae o (3 sl eDliuY) i JolSI A8 jiall Y () palii] @
€ Decrease (credit) the asset account for the original cost of the asset.
(e D ALY AESH J peal) s (1) palis) @

Q: Hobart Enterprises retires its computer printers, which cost $32,000. The accumulated depreciation
on these printers is $32,000. Prepare the entry to record this retirement.
Y53 32000 s» Claglall 3l oS) jiall @iy | Y oo all 32 Calks il Ay sulall Lgilalda (e CaaelE & jlga 4S8 0
MdaY) sla Al acl@l) 1 Jaaedl JIAaY) juass
Accumulated Depreciation =ss @ 32 000

Equipment  ci=w 32,000

Question: What happens if a fully depreciated plant asset is still useful to the company?
948 il 13k JI 3 Y JalSIL 4S3lgiul o3 (Al pinadll Jual IS 13) Caany 13ka ;)
A8 jrall 4 dgilay OS5 (S Agllall BAll Jual) e : il s
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Q: Sunset Company discards delivery equipment that cost $18,000 and has accumulated depreciation
of $14,000. The journal entry is?
Ay yiall el Y 52 14000 LSeinl oS 535 ¥ 50 18000 <alSi Al aduill ilass Sunset Company 48 i Jalasi ;&

fot lelsta oy A
Accumulated Depreciation s ey 14,000
Loss on Disposal o=t 5 us 4,000
Equipment el 18,000

*Companies report a loss on disposal in the “Other expenses and losses” section of the income
statement.

R s e Mg AT il g iy jluaa™ b b Lia Galiill die 5 jleall e § UYL S ) o g

2) Sale of Plant Assets sl 4l sh J sa¥)
Compare the book value of the asset with the proceeds received from the sale.
el e Al Clailally JeaBU4 sl daill) ) )8
@ |f proceeds exceed the book value, a gain on disposal occurs.
il (e gy sy ¢y il el clailall <l 13 @
@ |If proceeds are less than the book value, a loss on disposal occurs.

o pail) die B led o ¢ Ay yiall Al Cpe J8 clailall cul< 1) 4@
Gain on Sale &) 1o

Q: OnJuly 1, 2014, Wright Company sells office furniture for $16,000 cash. The office furniture
originally cost $60,000. As of January 1, 2014, it had accumulated depreciation of $41,000. Depreciation
for the first six months of 2014 is $8,000. Prepare the journal entry to record depreciation expense up
to the date of sale.
60 Jua) 8 Sy Sl SV S I3 S el HY 50 16000 Jilie LS BT Wright 48,5 @i 2014 sds 1 G g
2014 dle (e Y @l 53S0 SMaY) Y 52 41000 o8 SMa) Ledle cans) i« 2014 i 1 o Vokie) Y 5o ll
o) e ia G iy jeme Jamnii] dpa sl iy JIA0) dlacly 4B L Y 52 8000

July 1 Depreciation Expense @y o e 8,000
Accumulated Depreciation s s asgay 8,000
Cost of office furniture $60,000
Less: Accumulated depreciation ($41,000 + $8.000) 49,000
Book value at date of disposal 11,000
Proceeds from sale 16,000
Gain on disposal of plant asset $ 5,000

Wright records the sale as follows.

S il el Wright 48 il s

July1 Cash il (Al 16,000
Accumulated Depreciation @ 49 000
Equipment sl 60,000
Gain on Disposal oaldal G 5,000
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Loss on sale gl s 8 lud

Q: Assume that instead of selling the office furniture for $16,000, Wright sells it for $9,00Q.
.0¥529000 Jilie 4xz Wright 48 55 caald ¢ ¥ 53 16000 Jilie iSall 1w (g Yo 4l ) o

Cost of office furniture $60,000
Less: Accumulated depreciation 49,000
Book value at date of disposal 11,000
Proceeds from sale 9,000
Loss on disposal of plant asset $ 2,000
July 1 Cash 9,000
Accumulated Depreciation 49,000
Loss on Disposal 2,000
Equipment 60,000

3) Exchange of Plant Assets !l 4ligh J gua¥) Jaks

We need to learn a new concept: fair market value Or Trade in value We compare this value with the
book value of Asset on day of exchange
Jolill o gy (& a4y jiaall Aagilly dagdll o3a () )i dail) 83 jlacll o Alolad) 48 sl dasdl)
(1) If fair market value is higher than book value- then we have a gain.
S a0 L ¢ Ay yiall Aagdl) e e d Aalall A48 guall dagall CilS 1)
(2) If fair market value is Lower than book.value- then we have a loss.
S Jeais Lild - 4y yidal) dadll (e J81 Aalad) 438 gl Al S 1)
(3) If fair market value is equal to book value- then'we have NO gain, and No Loss.
5 Yz Ll (50 (8 - Ay 8l el 4 glase Alalal) 2,8 gudd) Al ulS 13)
The cost of new asset we get = fair market value of old asset PLUS cash we pay (cash paid).
(1383) axds 53 ) ) ALaYly apsil) JeaSU Alslall A sd) Aaill = gl Juan Sl 5300 J ) 48l
OR
The cost of New asset we get = fair market value of old asset Minus cash we receive (cash receive).

(A al) Adde Jian o3 Sl Lgie 1A 5 jhan apill Jual Alalall 438 sl el = Lgle Juan ) 52l J sea) 483

Q: Roland Co. exchanged old trucks (cost $64,000 less $22,000 accumulated depreciation) plus cash of
$17,000 for a new semi-truck. The old trucks had a fair market value of $26,000.
(S el i) (e 15Y 92 22000 Lie A 5 ke Y 52 64000 Leiilss) Al Glialal) Roland Co 48 p& cilagind 1) 5w
Y32 26000 s Aale 48 g A daadl) liallll CilS 3o A5ald 4040 )Y 93 17000 o8 (o388 i I Ayl

Cost of old trucks $64,000
Less: Accumulated depreciation 22,000
Book value 42,000
Fair market value of old trucks 26,000
Loss on disposal $16,000
Fair market value of old trucks $26,000
Cash paid 17,000
Cost of new truck $43,000
|Pagell
{TS-HUB.com Uploaded By anonymous


https://students-hub.com

ACCT230_CH10 el
- Sl slua

Q: Roland Co. exchanged old trucks (cost $64,000 less $22,000 accumulated depreciation) plus cash of
$17,000 for a new semi-truck. The old trucks had a fair market value of $26,000.
Prepare the entry to record the exchange of assets by Roland Co
(i) &SI jia 15Y 93 22000 e s 5 ke HY 52 64000 Lealss) Aaadl) lialill Roland Co 48 b <ol ¢ Jl g
Y52 26000 &t Asle 48 o Ao dapall cilialill culS s diald 403l HY 50 17000 o8 i il ) 8Lyl
Roland Co ddaul s Jsea¥! Jalii Jaasll JLaaY) alacly 28

Equipment (new) 43,000
Accumulated Depreciation 22,000
Loss on Disposal 16,000
Equipment (old) 64,000
Cash 17,000

Q: Mark Express Delivery trades its old delivery equipment (cost $40,000 less $28,000 accumulated
depreciation) for new delivery equipment. The old equipment had a fair market value of $19,000. Mark
also paid $3,000.
Y52 28.000 leie 55 5ka 1Y 53 40.000 lSh) Ler Aalall daadl) aledll Cilaay Mark Express Delivery jal@ :dl 5w
3000 Lyl &l jle g ;Y 53 19000 &ls Aole 48 g Ao dapiill Hlanall S saaal) alill Cilaal (81 jiall gLy (1

¥
Cost of old equipment $40,000
Less: Accumulated depreciation 28,000
Book value 12,000
Fair market value of old equipment 19,000
Gain on disposal $ 7,000
Fair market value of old equipment $19,000
Cash paid 3,000
Cost of new equipment $22,000

Q: Mark Express Delivery trades its old delivery equipment (cost $40,000 less $28,000 accumulated
depreciation) for new delivery equipment. The old equipment had a fair market value of $19,000. Mark
also paid $3,000.
Prepare the entry to record the exchange of assets by Mark Express.
LY 5228.000 e a5 yha 1Y 53 40.000 lS5) L Aaldl) dagasl) sl Claaas Mark Express Delivery sl Jl g
3000 Wl @l jle g . 5¥.50 19000 &l Asle 4 o Fad Lapaill lanall IS 3300 adill Cilanal (oS jiall Ui e

.Mark Express 4wl 52 Jga¥) Jobii Joaad! JBSY) -“:lj;g
Equipment (new) 22,000
Accumulated Depreciation 28,000
Equipment (used) 40,000
Gain on Disposal 7,000
Cash 3,000
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Natural resources consist of standing timber and underground deposits of oil, gas, and minerals.
Odbaall g 3l g daaill dd al) il g 1) g Aalall LAY e dadal) 3 ) gal) ) oS5
Distinguishing characteristics: 3 yaall (ailadll
@ Physically extracted in operations. Gillaad) L Liale g jadue
€ Replaceable only by an act of nature. b daiy V) Al (S Y

Cost — price needed to acquire the resource and prepare it for its intended use.

gl a2 o Jeais 3y sall o Jgeanll Cllaall jad) — 3l

Depletion <Mgiwd
The allocation of the cost to expense in a rational and systematic manner over the resource’s useful life.

@ Depletion is to natural resources as depreciation is to plant assets.
cdall Al gl Jgual) ga DN o dua Aaudal) o) gall ga AERLY @
€ Companies generally use units-of-activity method.
Lall claa g 48y jh ale (K8 S 8l sl @
€ Depletion generally is a function of the units extracted and sold.
Asliall g da jAluiall claa gl A3 g8 ale Sy AT @

Q: Lane Coal Company invests $5 million in a mine estimated to have 10 million tons of coal and no
salvage value. In the first year, Lane extracts and sells 800,000 tons of coal. Lane computes the depletion
expense as follows:
zoAEl ¢ Y el 3 3EY) Al Vg andll e Gl Cdle 10 @ o anie 8 Y 50 Gt 5 jeiid IS Y 380 1 Jlige
il il e gumaill iy jlas (ol oy andll (g0 e all 800 @y 0

$5,000,000 + 10,000,000 = S.50 depletion cost per ton
S.50 x 800,000 = S400,000 depletion expense
Journal entry:
Depletion expense dMginy! ca jlas 400,000
Accumulated Depletion S _iall &Biginy) 400,000

LANE COAL COMPANY

Balance Sheet (partial)

Coal mine $5,000,000
Less: Accumulated depletion 400,000 $4,600,000

Extracted resources that have not been sold are reported as inventory in the current assets section.
sl a6 (5 35S gy o o) S0 A sl 2l all e LY o
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Intangible Assets

A galall & Jgal)

Limited - (Definite) life intangibles Capitalize Expense Amortize
" gale " 3Ll (3335) - 33 50na 3ol &5 <l g jeae Lol e el iy LeSgiad (S
Unlimited - (Indefinite) life intangibles Capitalize Expense Do not amortize
i sale 5" slall (Badae ) - dgaaae BaliiuY) &T 5 yan el o Lol &5 LeSOleinl (S Y

Patent 20 Years from the date of the grant Useful life or legal life whichever is
Belyall e Za U e 420 shorter
g Y cle) Jshal Legal 43 53l 3Lad) sl saadl) sLall
Copyrights The life of creator plus 70.years Amortized over relatively short period
‘ 4 70 35t Ll jee of time
allil) 5 il (§ gia Liaaad Byl A3k 5 3 i SIS gl

Trademarks & Trade Names

Al elen) & 4 el ciledlal)

Indefinite number of 20 year
renewal periods
Lale 20 3aal paaill ¢l 38 0 Jasa e dae

Not amortized
Blgin) aa o ¥

Franchise & Licenses

ol il & <l ey

By contract-definite or
Indefinite
2aa ol 2aga de 3y o0

Definite: Amortized over its useful life
‘5;\:\.\?‘ el 520 e i) ¢ dasa
Indefinite: Not amortized
N D o

Research & Development: R&D Costs are expensed as incurred "Expense"
M g paaS" AT Aoy ghall g Cuad) GRS ada Al 1y ghail) g Cial)

Q: National Labs purchases a patent at a cost of $60,000 on June 30. National estimates the useful life
of the patent to be eight years. Prepare the journal entry to record the amortization for the six-month

period ended December 31.

Sel nll alBY) eall AS AN 5855 gaiga 30 2 LY 52 60.000 483 #1538 5¢)  National Labs (s il [ samd ¢ am )y
ezt 31 B gl g ALl 5 il g Jonel dpa il 38 20l o8 s L
Annual expenses per year "in Q" = Cost / Useful life in years = 60,000 / 8 = 7,500
Amortization expenses "in 31/12" = Annual expenses * 6/12 = 7,500$ * 6/12 = 3,750$

*31.Dec

Amortization Expense "<Dlginy) claat
Patent "g ! syl 3¢l "

Goodwill Indefinite Not Amortized
Other Types

3,750
3,750
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Q: Identify the term most directly associated with each statement

4l Ali

Ol IS Ul ) Y elhaal) sas

The allocation of the cost of a natural resource to expense in a rational
and systematic manner.

Apngiay duhaie 45 ylay b g jemall Lpaplall 3 ) gall 2a] 465 apads

Depletion

gy

Rights, privileges, and competitive advantages that result from the
ownership of long-lived assets that do not possess physical substance.
Gl Y 1 enll Al s g Sk (o AaTl Al ) sall 5 2 SLiaY ] 5 il
) RERONIRTYEN

Intangible Assets
Ao saldl j2 g

Jala 4yl clawd of dima 4o jlad Gldle aladind ol dime Gladd o caladiie and 3
=) S a4y ) 8 S A B) aalCa

3 | An exclusive right granted by the federal government to reproduce and | Copyrights
sell an artistic or published work. osall (§5a
e 5f 8 Jae gy 2150 5ale Y Ayl do Sall 4nii 5 a2
A right to sell certain products or services or to use certain trademarks Franchise
or trade names within a designated geographic area. BRECYY

Costs incurred by a company that often lead to patents or new
products. These costs must be expensed as incurred.
Baaall clatidl o g1 8 ey ) gasi L Wle 5 4S5 bass 3l calsl)
LA die CallSll s3a ady cany

Research and Development

Costs
nshaill g ) Canliss

Q2: Indicate to which account Benedict would debit each of the costs.
Agle cilcil) JS Benedict A8 w3 cilaad) 33a 12 (w

Benedict Company incurred the following costs

Account Debited

Aull wllsill Benedict A4Sy Gass 3381 cllaa
Sales tax on factory machinery purchased $ 5,000 Machinery
Y53 5000 piaall T e gl Ay jom & il AN
Painting of and lettering on truck immediately upon purchase 700 Truck
700 il pd )5 dialill e g ally ol dald
Installation and testing of factory machinery 2,000 Machinery
2000 piadll clisSle JLial g S <l
Real estate broker’s commission on land purchased 3,500 Land
3500 W3l s i gl e il Jlie jluan A ae wa

Insurance premium paid for first year’s insurance on new truck 880

880 suaall dalall e ) &l cuals Jiie (el Jand a3

Prepaid Insurance
) Graa Gl

Cost of landscaping on property purchased 7,200

7200 31_jiia) cilSaall Jle @laall G 2SS

Land Improvements
ALY Gl

Cost of paving parking lot for new building constructed 17,900

17900 25 s el HUaT) Aalu Caa ) 48K

Land Improvements
oA Gl

Cost of clearing, draining, and filling land 13,300 Land
13300 oY) sday Chiialy ek 4SS o2
Architect’s fees on self-constructed building 10,000 Building
10000 L3 sl sl e (5 el atigall o5 i)
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Q3 "P10-1A": Venable Company was organized on January 1. During the first year of operations, the

following plant asset expenditures and receipts were recorded in random order.
iy AU gl Ay gha J gual L] g Bl Juad a3 ¢ cllaad) A6V Al A i 1 2 Venable 48 d cualis

o se
Debt Account
1 | Cost of filling and grading the land $ 4,000 Land
¥524000 ()Y gpis ao ) 4415 oa )
2 | Full payment to building contractor 690,000 Building
690.000 =Ll Jslaal JalSl) o) <Ll
3 | Real estate taxes on land paid for the current year 5,000 Taxes Expense
5000 sl alall de ggaall )Y e 4 jliall o)yl il pual) iy s
4 | Cost of real estate purchased as a plant site (land $100,000 and Land
building $45,000) 145,000
(LY 52 45000 sises LY 52 100000 af) Joa) @8 5aS 3l jidiall <l jlanl) 4815 way
145000
5 | Excavation costs for new building 35,000 Building
35000 yaall inall jiall oSS <L)
6 | Architect’s fees on building plans 10,000 Building
10000 ¢ldl cillakaia te (5 jlanal) uaigall ilai bl
7 | Accrued real estate taxes paid at time of purchase of real estate 2,000 | Land
2000 < léall ¢ y5 vie de daal) ddatuall 4 el il ) way
8 | Cost of parking lots and driveways 14,000 Land Improvements
14000 < yaall 5 ol Hlal) a8l g 285 v ) il
9 | Cost of demolishing building to make land suitable for construction of | Land
new building 25,000 oY)
25000 33> Jise sl dpulia i )¥) Jral e a8 DS
Credit
10 | Proceeds from salvage of demolished building $ 3,500 Land
Y52 3500 paeall (el A Alpas wa)

Q4: For each item listed below, enter a code letter in the blank space to indicate the allocation
terminology for the item. Use the following codes for your answer:

A—Amortization
D—Depreciation

2. Land

P—Depletion
N—Non-Deprecation

1. Goodwill _____7.Timberlands

8. Franchises (indefinite life)
____ 3. Buildings 9. Licenses (limited life)
______ 4. Patents ____10. Land Improvements

5. Copyrights
6. Research and development costs

11. Oil Deposits
12. Equipment

Solution
1.N 5.A 9.A
2.N 6.N 10.D
3.D 7.P 11.P
4.A 8.N 12.D
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Q5: Truck purchased on 1-1-2020
Cost= 100,000, useful life= 4 years, salvage value= 15,000, Also, useful life in units= 200,000 km

2- what is depreciation expense for years 2020 and 2021 using SLM?
" aiinall B i) Jacdl) 48 jh aladialy 2021 5 2020 elad Digia) cild g puan A L
Depreciation expenses per year = (Cost — Salvage Value (S.V)) / Useful life in years

-

<) giaally Ldal) pandl [ ((S.V) A dad — ddlSill) = Add) B DY) Ciy Laa
Depreciation expense per year= (100000- 15000)/ 4 = $ 21,250. For both years it’s the same.
Adl g Cpalad) Mt

3- prepare the adjusting entry on 31-12-2020? 31.12.2020 b hudall 48 s
31-12-2020 Depreciation expense"&dMginl) iy uas": Truck 21,250
Accumulated depreciation"as!_iall dMgiu)": Truck 21,250
4- What is the book value of Truck on 1-1-2022 ?? 1.1.2022 it Aalill 4, 3.1 dall) 4 L
Book value (4 _séa)) 4addll) = Cost (44isill)- Accumulated depreciation (aS)siall dMgiuy))
=100,000 — (2X21,250) = 100,000-42,500 = 57,5005

5- If truck was driven 22,000 km in 2020, and 50,000 in 2021, what is depreciation using units of
activity.

LU Claa g A8y play DIgiaY) 98 La ¢ 2021 ple 23 50000 5 < 2020 ple aS ilf 22 Aialil) 52 a3 13)

Depreciaiton Expense per unit (km)= (Cost- Salvage value) / useful life in units
Clas gl _alBY) janll [ (SEY) Aed A = (aS) San g JSI i) iy jas

Depreciation expense per unit (km)= (100000- 15,000)/200,000= $ 0.425 per KM.
So, for 2020, depreciation expense= 0.425 X 22,000= $ 9350
So, for 2021, depreciation expense= 0.425 X 50,000=$ 21250

6. for the 4 years, using Double 17 declining balance u28liia dua ) aladiuly "EMgiuy!™ & giu 4 3aal
T35l

SLM Rate = 1/ useful life in years Baall VA Lgud gL Ay ) dpeadll
SLM rate= 1/4=0.25

Required rate="SLM Rate * 2 oedliial) dua ) A8y jha o i gllaal) Janal)
Required rate= 2 *0.25 =0.50

BV at
Date  beginning of  Depreciation expense Accumulated BV at year

year Depreciation End

b Ay il deall (s A yidal) Al

gl Al 4l DY) oy jlas aS) il gy Al Al
2020 100000 0.5 X100,000= 50,000 50,000 50,000
2021 50,000 0.5 X 50,000= 25,000 75,000 25,000
2022 25,000 0.5 X 25,000 = 12,500 87,500 12,500

we need to stop at 15,000 (the salvage value) , So we change the depreciation for the last year

manually
Ul (odalall alall DY) iy Lad A ¢ (JATY) Lad) 15000 vie i gii 0 quag
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it should be 10,000, so Accumulated depreciation becomes 85,000 and BV becomes exactly 15,000
which is salvage value

) dad a9 15000 hapally gl 4 Bal Lailll 9 85000 aS) sial) Dlgind) gy M < 10000 O8O ez
Note we did not do year 4 in this case Aal) oda A dayl ) Adedly 283 ol L) BaY

Q6: Terry Wade, the new controller of Hellickson Company, has reviewed the expected, useful lives
and salvage values of selected depreciable assets at the beginning of 2017. His findings are as follows.

ALLAN 3 jUidal) J guad AN 2 g LaliiY) g And giall JlecY) (Hellickson 4S il saadl Gl jall ¢ &g s a1 JVsm
A il e L) Jua g Al i) @ils 2017 ale Ay B Dlgiud

Useful life In years Salvage value
Type of assets | Date acquired | Cost Accumulated | Old Proposed old Proposed
depreciation
da¥l g g | aiiSal) gl 48l | on 1-1-2017 el Al aadl g AL
aS) jial) Edlgia)
Building 1/1/11 800,000 | 114,000 40 50 40,000 26,000

Book value "4 4edli" at 1/1/2017= Cost — Accumulated depreciation
= 800,000- 114,000 = 686,000.

New salvage value " 3333 J&Y) 4ad "= 26,000
Remaining New useful life" yaad) (Adall allY) jeell ™ = 50- 6= 44 year.

New (Adjusted) depreciation expense per year= (Net book value — S.V New) / Useful life Remining
=(686,000 - 26,000) / 44 =$ 15,000 per year.

31-12-2017 Depreciation Expense " &giu) iy juaa " 15,000
Accumulated depreciation " aS jiall dMgiuy) " 15,000

Q7: Rottino Company purchased a new machine on October 1, 2017, at a cost of $150,000. The
company estimated that the machine will have a salvage value of $12,000.
M) Adial) Lgiad Joais AV G 4S80 ¢ ja8 5 Y g9 Gl 150 48K « 2017 asiSi 1 8 saaa A Rottino A8 < il
45212000
The machine is expected to be used for 10,000 working hours during its 5-year life
Gl gl 5 AL ) 38 W jee DA Jas delu 10000 el AN alasin) aiy o a8 sil (e
*Compute the depreciation expense under the following methods for the year indicated.
L) Jldial) Al Al 5 phall 188 g SINAY) g puas quual *
(a) Straight-line for 2017.
2017 alad aficial) ail)
(b) Units-of-activity for 2017, assuming machine usage was 1,700 hours.
Aelu 1700 ols 4istal) aladind o Gl 58l ¢ 2017 abad Bl ciaa g
(c) Declining-balance using double the straight-line rate for 2017 and 2018
2018 52017 (pobad i) ol jouw i aladialy (abliial) dua )
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a- SLM Method "aical) i) " cylil) Jacidl) 48y )b
Depreciation expenses per year = (Cost — Salvage Value (S.V)) / Useful life in years
= (150,000 - 12,000) /5 = 138,000/5 = $27600 / per years

For 2017= (27600) X (3/12) = 27600*(3/12) = 6900
b- Units of Activity Method "zLiy™ hLadl cilas g 48 4k
Depreciation expense per unit (km)= (Cost- Salvage value) / useful life in units
=(150,000 — 12,000) / 10,000 = 13.8 /per units
For 2017=(13.8) X (1700) = 23,460%

c- Using DDB Method (<éliial) dua i) 45, )b
SLM Rate = 1/ useful life in years
SLM rate= 1/5=0.20

Required rate= SLM Rate * 2
Required rate= 2 *0.20 = 0.40

BV at
Date beginning of  Depreciation expense Accumulated BV at year
year Depreciation End
& Aiall Al & Aq_yiall daudll
&l Al Al ALY iy luan oS yiall Dyl Ll 4l
2017 150000 60000 60000 90000
2018 90000 36000 96000 54000

Q8: Machine has a cost of $ 20,000, Accumulated depreciation is $ 15,000. It was scrapped (retired).
(35 LE) o3lal) a3, ¥ 53 15000 ASIial) i) dlug ¢ ¥ 93 20000 gl A8l &L

BV on scrap day "dwa¥) sl a g 4y 584l Aadl)"= cost - Accumulated depreciation
=20,000- 15,000=$ 5,000
So if we scrap it we lose $ 5000. $5000 s La Jua¥) a5 U 13)

Entry:
Accumulated depreciation " aS) i) Mgy ": Machine $ 15,000
Loss on retirement of machine "J«a¥) o1& sic § jLudld) " 5,000
Machine " 4% " $ 20,000

If Accumulated depreciation was $ 20,000 (here we assume no salve value in this example),then no
gain no loss
Sobed Yy S ¢ (Jal) 130 8 M) Aad dga g a2 AT LA) Y54 20,000 $& aS) all gy oA 13)

Entry:
Accumulated depreciation"as! il &giuy) ": Machine  $ 20,000
Machine "3\ $ 20,000
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Q9: Machine has a cost of $ 20,000, Accumulated depreciation is $ 15,000.
sSaal Y53 15000 aS) el Mgiu) iy Lk ¢ (S a) ¥ 52 20000 gl 48l 315

1. It was sold for 5,000. 1485 5000 Jilia Ay A
2. If we sell it for 3,000. 3000 Jilia Lgaas Liad 13
3. If we sell it for 8,000. 8000 J:lia Lgzaw Liad 1}

1. Itwassold for 5,000 cash 5000 < 4xw i Ladic

BV on selling day "l a5 4y y8all dall"= - Accumulated depreciation
= -15,000=$ 5,000.
So if we sell it (4=x) for 5,000, NO Gain No Loss 3l Vg )y U 5000 Jilie dny Liad 13) &l

Entry:

Accumulated depreciation "aS)_idl d3iuyY1": Machine $ 15,000

Cash 5000

Machine S 20,000

2. If we sell it for 3,000 3000 o Any Licd 1)

Entry:
Accumulated depreciation "aSI_idl dMeiuY1": Machine $ 15,000
Cash 3000
Loss on sale of machine 2000
Machine $ 20,000
3. If we sell it for 8,000 8000 < Anyy Liad 1)
** then we have a Gain of 3000. 3000 g i Lia 13
Entry:
Accumulated depreciation : Machine $ 15,000
Cash 8,000
Machine S 20,000
Gain on sale of Machine 3,000

QlO: Machine has a cost of $ 20,000, Accumulated depreciation is $ 15,000.

Sl N33 15000 S ial) i) il Lady ¢ (054l ¥ 53 20000 el AL 415 110

A. lts fair market value was 3,000. It was exchanged for a new one. Cash of 15,000 was paid.
N385 15000 @8 &5 paa aal s allagind &5, 3000 Ualall 438 gl Lgied culs

B. Its fair market value was 8,000. It was exchanged for a new one. Cash of 15,000 was paid.
J28 15000 @ &3 s as) g allasiv) &5 8000 Aalad) 408 ) Lgiadd

C. Its fair market value was 5,000. It was exchanged for a new one. Cash of 15,000 was paid.
N385 15000 @82 &5 L3 aa) g alladind &5 5000 Aalad) 438 gl Leiagd

A. lts fair market value was 3,000. It was exchanged for a new one. Cash of 15,000 was paid.
N385 15000 @82 &5 paa aal s alladnd &5, 3000 Ualall 438 gl Leiad culs

BV of old machine is 5,000. Fair market value is 3,000. So Fair value is less than BV, so we will have a loss

of 2,000.
i I ¢ &y il el (pe S8 Alalal) Aal 3 121 3000 Aslall 3 gudd) Aaill 5000 & Fapall S &y sidall Aadl
2000
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Entry:
Accumulated depreciation : Machine (old) $ 15,000
Loss on Exchange of asset 2,000
Machine(new) 18,000
Machine (old) $ 20,000
Cash 15,000

B. Its fair market value was 8,000. It was exchanged for a new one. Cash of 15,000 was paid.
J35 15000 a8 &5 s aal s allasiud 23 8000 Ualall 48 guall Lgiaid

BV of old machine is 5,000. Fair market value is 8,000. So Fair value is MORE than BV, so we will have a

Gain of 3,000.
o Ll () 5Sons A ¢ Ailmall el (e ST Alslall Aol (6 131 8000 Alslall 438 susdl Aaill 5000 dazall A 2, jball el

.3000 -3
Entry:
Accumulated depreciation : Machine (old) $ 15,000
Machine(new) 23,000
Machine (old) $ 20,000
Cash 15,000
Gain on exchange of asset 3,000

C. Its fair market value was 5,000. It was exchanged for a new one. Cash of 15,000 was paid.
J38515000 & &5 s aa) s el &5 5000 Aalad) 48 gl Lgiegd
BV of old machine is 5,000. Fair market value is 5,000. So Fair value is equal to BV, so we will have NO
Gain and No loss
058 o A ¢ Ailaal) Al dad g st Alslall el (3 13 5000 Wslall 28 sudl Zaill 5000 54 Aarsil) AN & bl dadl
5o Vs ey il

Entry:
Accumulated depreciation : Machine (old) $ 15,000
Machine(new) 20,000
Machine (old) $ 20,000
Cash 15,000

Q11: E10-9, Presented below are selected transactions at Ridge Company for 2017.
2017 et Ridge 48 il sasaa clalaa ¢ 5 ke olal (i g jaall
1. Jan. 1 Retired a piece of machinery that was purchased on January 1, 2007. The machine cost $62,000
on that date. It had a useful life of 10 years with no salvage value.
L OIS ol &l 3 Y 93 62000 AY) A4S 2007 ol 1 (A La sl o3 OV (e dadal el il |
) dad 92 D g 10 Al jee
2. June 30 Sold a computer that was purchased on January 1, 2014. The computer cost $45,000. It had a
useful life of 5 years with no salvage value. The computer was sold for $14,000.
A e A GS )Y 5245000 sisnasl 4815 2014 b 1 (Bosl b & 5isnaS e e 535 30
0¥52 14000 dilae i el an o &) da 52 Dl 5 § a1l
3. Dec. 31 Discarded a delivery truck that was purchased on January 1, 2013. The truck cost $33,000. It
was depreciated based on a 6-year useful life with a $3,000 salvage value.
6 bud (e aSlginl &3, 5Y 50 33000 Laldll 45 2013 nliy 1 (2 W3l & o 58 als o paldil a3 jaenns 31
Y 52 3000 La a8 &) daghy aliY) yendl (e & s
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Required: Journalize all entries required on the above dates, including entries to update depreciation,
where applicable, on assets disposed of. Ridge Company uses straight-line depreciation. (Assume
depreciation is up to date as of December 31, 2016.)
¢ LYl die ¢ SDlay) Cuaatl VA Gl b La ¢ odlel 5y Sl fy ) il b A sllaall VY gaen sl o8 7 o sllaal)
Dt 31 8 LS Cdad DI o G il) il Jandl) ) g 4S5 ki ke Galidl) 5 ) Jpal) e
(.2016
1. Jan. 1 Retired a piece of machinery that was purchased on January 1, 2007. The machine cost
$62,000 on that date. It had a useful life of 10 years with no salvage value.
Led OIS gl IS & 5Y 92 62000 AY) 285 2007 by 1 (o8 W5 8 a3 YY) (e dadad Cixel il |
A A (s D g 10 @y (2l jee
The machinery was used for full 10 years. From 1-1-2007 until 1-1-2017.So its total accumulated
depreciation should be $ 62,000, because the salvage value is zero. So, BV on 1-1-2017 is = 62,000 -
62,000 = 0. It was retired so no gain and no loss case.
oS1 il @) Ml 58 of g S 2017-1-1 s 2007-1-1 o ALIS g 10 32ad "ANIM LSL) aladind
¥ A Lgdlay &5 .0 = 62.000 - 62.000 = & 2017-1-1 b & yball el 13 jia & &Y 4ad oY ¢ )Y 50 62000
Sobed A Yy s 22
Entry:
Accumulated depreciation 62,000
Machinery 62,000

2. June 30 Sold a computer that was purchased on January 1, 2014. The computer cost $45,000. It
had a useful life of 5 years with no salvage value. The computer was sold for $14,000.
) pee A Y8 Y 345000 sl 45,2014 il 1 (Bl pd s gnaS Jles aw i 30
Y33 14000 Jilie i saaSll a5 383) dad (5 il 5is 5 ol
We need to calculate the book value on selling day. We need to know accumulated depreciation, and so
we have to calculate depreciation expense per year first.
U s A il g jme il Lnle Gl ¢ oS i) SIBGELY) 46 jre ) zlind aad) o gy (8 Gy jall Al s ) s
N
Depreciation expenses per year = (Cost — Salvage Value (S.V)) / Useful life in years
[((5.V) Jay) dad — 4aSi)) = Add) b Dlgiuy) Gy laa
Depreciation expense per year= (45,000 - 0) / 5 = 9,000 per year.
It was used for 3. 5 years (from 1-1-2014 until 30-6-2017).
(2017-6-30 i 2014-1-1 () Dl 5w 3.5 Baal daladind o3
So, accumulated depreciation "aS) il &Bgiuy "= 3.5 years X 9,000 = $ 31,500.
BV on selling day= 45,000 - 31,500=$ 13,500. it was sold for 14,000, so we have a gain of 500.
.500 o8 5, Ui UM ¢ 14000 Jilia 42 a5, ;Y 52 13500 = 31500 - 45000 = gl o 53 A 4 idall sl

Entry:

Accumulated depreciation 31,500

Cash 14,000
Computer 45,000
Gain on Sale of computer 500

3. Dec. 31 Discarded a delivery truck that was purchased on January 1, 2013. The truck cost
$33,000. It was depreciated based on a 6-year useful life with a $3,000 salvage value.
AS3lgiul a3 Y 53 33000 Aalill 485 2013 bt 1 (B gl b & Joa ¢ A0ald (e galil) o e 31
Y53 3000 a8 M) dagsy alY) jeall Ge O i 6 el e
Depreciation expenses per year = (Cost — Salvage Value (S.V)) / Useful life in years

Depreciation expense per year= (33,000 - 3,000) / 6 = 5,000 per year. A JS) DUgELY) Cy jlan
It was used for 5 years (from 1-1-2013 until 31-12-2017). Gl g 5 320 daladiul o
So, accumulated depreciation = 5 years X 5,000 = $ 25,000. DS el @Bl i
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BV on retirement day= 33,000 - 25,000= $ 8,000. it was retired, so we have a loss of 8,000.
.8000 W a8 3 jLud Ll UMl ¢ saeld a3 ;Y 50 8000 = 25000 - 33000 = 2el&ill a5 4, yidall dagl)

Entry:
Accumulated depreciation 25,000
Loss on scrapping truck 8,000
Truck 33,000
Q12: Presented below are two independent transactions. Both transactions have commercial
substance.

LIl G sadaa Lagd Galanl) WIS (yilfia (pilalan ¢ B e olisl gudagall 111
1. Mercy Co. exchanged old trucks (cost $64,000 less $22,000 accumulated depreciation) plus cash
of $17,000 for new trucks. The old trucks had a fair value of 38,000.008.
(PS) el Y (g (S sl HY 52 22,000 L 5 5 ke Y 52 64,000 Lehlss) dapail) lialill Mercy A4S 5 i)
Y53 38.000.00 4alall Lgiad cilS daaill il saaall clialall (S jal 5Y 52 17,000 o8 (538 alie ) A8l
2. Pence Inc. trades its used machine (cost $12,000 less $4,000 accumulated depreciation) for a
new machine. In addition to exchanging the old machine (which had a fair value of $11,000),
Pence also paid cash of $3,000.
B AV (i) oS jia 5Y 53 4000 Lo a5 ke Y 50 12000 Liilss) dlexivall i jeal Pence Inc 48 5 Jagud
Y 533000 o8 i Blue Wil iy o ¢ (L)Y 59 11000 Aolall e 3l 1) aaaill Slead) Jhagial ) A8yl

Required
(a) Prepare the entry to record the exchange of assets by Mercy Co.
Mercy Co 4S8 il J sa¥) Jalss Jamasil JAaY1 dlac)
(b) Prepare the entry to record the exchange of assets by Pence Inc.
.Pence Inc 48 il Jpa¥) Jals Jaaustl JA2Y) Slac|

(a) Prepare the entry to record the exchange of assets by Mercy Co.
.Mercy Co 4S8 il Jsa¥) Jalsi Jaanstl JA2Y) dlac)
BV of old Trucks "4l cilialall 4, yiall el =.64,000 - 22,000 = 42,000.
Fair value of old trucks is 38,000. We have a loss of 4,000, because BV is more than FV.
Aol Gl pe ST A ) Al dad N ¢ 4000 Lo 3 5 jlud Lual 38000 Gl clialill Alalall dol)
Cost of New trucks"suaall clialll) 43"= 38 000 + 17,000= 55,000.

Entry:

Accumulated depreciation (old) 22,000

Trucks (New) 55,000

Loss on exchange 4,000
Trucks (old) 64,000
Cash 17,000

(b) Prepare the entry to record the exchange of assets by Pence Inc.
.Pence Inc A&l J s Jals Jeaill JAaY dlac)
BV of old Machine"&«adll 4130 4, sl 4esll"= 12,000 - 4,000 = 8,000.
Fair value of old machine is 11,000. We have a Gain of 3,000, because BV is Less than FV.
Al dadll e J1 4 yi8all dadll ¥ ¢ 3000 Lisy ) . 11000 (o Al A Alalal) Gl
Cost of New Machine"sxaall A1) 43l<"'= 11,000 + 3,000= 14,000.

Entry:
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Accumulated depreciation (old) 4,000

Machine (New) 14,000
Machine (old) 12,000
Cash 3,000
Gain on exchange 3,000

Q13: E10-11 On July 1, 2017, Friedman Inc. invested $720,000 in a mine estimated to have 900,000 tons
of ore of uniform grade. During the last 6 months of 2017, 100,000 tons of ore were mined
(e alall (e ol all 900 (Ao (s sing 4dl HaE) ania A& Y 50 ll 720 Gleny 8 AS 58 @ palind < 2017 s 1 4113 0w
Al e 1006000 (ass a3 « 2017 ale (e 5! Al Hed) A 3 sall 4l
Required
(a) Prepare the journal entry to record depletion.
i) JmatlAga sl 28 jian
(b) Assume that the 100,000 tons of ore were mined, but only 80,000 units were sold. How are the
costs applicable to the 20,000 unsold units reported?
) CallSill e ¢ Y S S L s 5 80000 g &5 oS5 ¢ Alall e o 100000 paxs 5 43l sl
ficlu ye 325520000 e

(a) Prepare the journal entry to record depletion.
i) i) dga gl 48 jpuma
Depreciation expenses per Ton = (Cost — Salvage Value (S.V)) / Useful life in Tons
Depreciation expense per Ton= (720,000 - 0) / =$0.80 per ton.

Depletion expense for 2017 = 100,000 X 0.80 = $ 80,000
Entry:
depletion expense 80,000

Accumulated depletion 80,000

(b) Assume that the 100,000 tons of ore were mined, but only 80,000 units were sold. How are the
costs applicable to the 20,000 unsold units reported?

) CallSill e ¢V A oS L s 5 80000 & 5 oS5 ¢ Alall (e o 100000 paxs 5 43l sl
facla e 322520000 e

these costs will appear in the Inventory account.
Al Clas 3 Callall odn gl

depletion expense 64,000
Accumulated depletion 64,000

Inventory"2_al" 16000
Accumulated depletion 16,000
" 80,000$ * 20% = 16,0005 " 443l & I agzw o3 L 20,000 (& Walins 42y o3 b 80,000 : 4daad
Q14: The following are selected 2017 transactions of Pedigo Corporation.
. S8 48,40 2017 clalie yaat a3 L Lad 113
Jan. 1 Purchased a small company and recorded goodwill of $150,000. Its useful life is indefinite.
Sne e ALY W e )Y 50 Gl 150 W )85 jed Cala s 5 s A8 58 Cy il () S o 5lS 1
May 1 Purchased for $75,000 a patent with an estimated useful life of 5 years and a legal life of 20 years.
Lle 20 S5l yae 5 g 5oy 3y bl jens S el JY 52 75000 deer g1 50 56 5 6l b &3 ¢ sile g0 J5Y)
Required
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Prepare necessary adjusting entries at December 31 to record amortization required by the events

above.
kel 3 ) Saall Cilan) allai 53 @By Joaasi] jaanns 31 (8 Ay )5 puall Jandll YA Slacly &8

1- The Goodwill can not be amortized. It has indifinate life () 3La),
(R Bla) Badaa e Bl Lol B edd) el (S Y
2- Amortization expenses per year = (Cost — Salvage Value (S.V)) / Useful life in years
Amortization expense per year= (75,000 - 0) / 5 = $15,000 per year
we have 8 months in 2017, so
amortization expense for 2017= 15,000 X (8/12) =$10,000.
Entry:
Amortization expense(patent) 10,000
Patent 10,000

END OF Chapter
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CHAPTER 11

Current Liabilities and Payroll Accounting
Gl gl Aplaa g (s2all B paual () gaall

Lib 2022 AUl pall Jeadl) Cuea il ol o sllaal) ; daadl
Aailly a7 s e Gl gl dplaal ity Lal ¢ (el 3l ¢y gaal
etz Lo I pplanls (e Caliaty 5 1S jaY
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Al Apuailly Wl ¢ sal) 8 ypudd (3 gyl 1k 2022 (A ol 5 Joadll canen il ol 3 st ; 3aaa
ez Lo A el e Caliay o 1S 5aY daaills (s 5 ke g0

Current liability is debt with two key features: POl ) e 4l (3 58 (s2al) Byl () gaal)

1. Company expects to pay the debt from existing current assets or through the creation of
other current liabilities.
L AT A gate el e L) DA (e sl Al A gliall J gal) (el Sl AS ) 88 g
2. Company will pay the debt within one year or the operating cycle, whichever is longer.
Jshl Legal Jaail) 3550 of Bas) 5 4o IS cpall 38,80 adoias

Current liabilities include dal) B puad () gaall) Jadi
1. Notes payable &l 6l
2. Accounts payable alall cableal)
3. Unearned revenues AauiCa pal) clal )
4. Accrued liabilities Aaaiaall by sl

Accrued liabilities such as taxes payable, salaries and wages payable, and interest payable.
) Al ) gal) 5 adal) Aiaiuaall ) sa Y1 5 il 5 M) 5 Abainal) (ol yuall Jio A glaiall iy sllall

Notes payable bl @) gl
v" Written promissory note. QS (A3 S
v' Requires the borrower to pay interest. B ady i il (el
v’ Issued for varying periods. 4 lite il il @ jua

Ex: First National Bank agrees to'lend $100,000 on September 1, 2014, if Cole Williams Co. signs a
$100,000, 12%, four-month note maturing on January 1.

Cole Williams Co 4S i <l 1302014 s 1 4 )Y 52 100000 =! A& e First National Bank (il 1 Jbs
i 1 et el dag i sl € 712 ¢ 5 52 100000 ey Sl e

Required <igiaall
a) Prepare the entry on September 1°., A
i (e ) 8 JAaY) dlaels a8
b) Prepare the adjusting entry on Dec. 31, assuming monthly adjusting entries have not
been made.

c) Prepare the entry at maturity (Jan. 1, 2015).
(2015 bt 1) Glaainy) sie 2l jucass

a) Prepare the entry on Sept. 1st. i Ga JgY) B JAAY) sy B8
1.sep Cash (w23) 100,000
Notes Payable (all diaiva) 0l (3),4Y1) 100,000
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b) Prepare the adjusting entry on Dec. 31, s 31 (A Bl JA) el A8
* 31.Dec Interest Expense (3l sall <ld 5 yax) 4,000
Interest Payable (adall ddaiiall 23 68ll) 4,000

** $100,000 x 12% x 4/12 = $4,000

c) Prepare the entry at maturity. (dBaiu) aic A8l juiaas
1.jan Notes Payable (all daxivall 458300 3))5¥)) 100,000
Interest Payable (adall d3aiiall 2 all) 4,000
Cash () 104,000

EX2: First National Bank agrees to lend $100,000 on October 1, 2014, if Cole Williams Co. signs a
$100,000, 12%, four-month note maturing on February 1.
Cole Williams Co 3S & cuad 5 13) « 2014 S 1 8 ¥ 52 100000 o=l 8 e First National Bank G s ;b
s 1 8 i el dayjf saal ¢ 712 ¢ J¥ 53 100000 Ay Clain e
Required < gihal)

a) Prepare the entry on October1®t. 58 ge J V) 8 Jaayl dlacl o8
b) Prepare the adjusting entry on Dec. 31°, assuming monthly adjusting entries have not been
made.

A el Jaaedll YR el pa) ade il 38U ¢ ey 31 (A il JA0) dlacly o8
c) Prepare the entry at maturity (February. 1, 2015).
(2015 i 1) Glaaiuy) sie 2l juaas

a) Prepare the entry on October. 1st. R8T e J¥ B JANY) sy 0B
1.0ct Cash 100,000
Notes Payable 100,000
b) Prepare the adjusting entryon Dec. 31%.  Jrawud 31 A Juaadll JB3) dlaely b
*31.Dec Interest Expense 3,000
Interest Payable 3,000

$100,000 x 12% x 3/12 = $3,000

c) Prepare the entry at maturity. A1 A i) die A8l judaas
1.Feb Notes Payable 100,000
Interest Expense 1,000
Interest Payable 3,000
Cash 104,000

Sales Taxes Payable 4ilaall dadl) 4y yuia
€ Sales taxes are expressed as a stated percentage of the sales price.
Slanall s (e 3330 4 g Al Cilaall il ua e el o3 @
@ Either rung up separately or included in total receipts.
VL) Mea) dda jae sl Juadie (S da ke L) @
€ Retailer collects tax from the customer.
Jsenl (o il puall Jpmnhy 25al) oy a5y @
€ Retailer remits the collections to the state’s department of revenue.
151 I e samall Jysaty £ 50l il o sie @
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Ex: The March 25 cash register reading for Cooley Grocery shows sales of $10,000 and sales taxes of
S600 (sales tax rate of 6%), the journal entry is:
Y52 600 sy Clagaa <) g HY 50 10000 ety Clasaa 5elsS Cooley Al (s jw 25 4 il Janall 361 8 1 Jlia
5 e sl it Jaol ¢ (76 Clagsall Ay s Jina)

Cash () 10,600
Sales Revenue (el &lal ) 10,000
Sales Taxes Payable (g8l daaiuall Glayall il jua) 600

Unearned Revenue " 48 suua dil oo ™ duia yad) i) Y)

Revenues received before the company 4,8l el Az gl ilal )
@ delivers goods or sl plad) alus
€ provides services. Slaadl) apads
Account Title Glwad) o) gis
Type of Business Unearned Revenue Revenue
Jued) g i dpuasal) e iy b )
Airline o) k48,5 | Unearned Ticket Revenue Ao pe SN &l ) | Ticket Revenue SN &l )
Magazine publisher | Unearned Subscription Revenue Subscription Revenue
dall s e e lS) uay) Gl ) S| EY) el )
Hotel &2l | Unearned Rent Revenue AwiSa e eyl @l | Rent Revenue Dby Gl )

EX: Superior University sells 10,000 season football tickets at $50 each for its five-game home schedule.
The university makes the following entry for the sale of season tickets:
o Lol e ueddl Ll e J snd Lo JSI15Y 53 50 s dans 50 238 5 S 5,83 10000 48 siial) el i © i
e sall SIN gl D) QLAY Jery daalall
Aug. 6 Cash 500,000
Unearned Ticket Revenue "4usiiSall je SIAl ol " 500,000
As the school completes each of the five home games, it would record the revenue earned.
AGEaall ) Y Javadion ¢ uadd) A Sial) et e A JS A jaal) JaSi Ladis
Sept. 7 Unearned Ticket Revenue 100,000
Ticket Revenue 100,000

Current Maturities of Long-Term Debt  Ja¥) dligh ¢ sal) ¢pa "Jal) juall) & jadi™ AUl glaadial
€ Portion of long-term debt that comes due in the current year.

Al aladl b daaiiall Jal) Al gha ¢y sall (e e 3

€ No adjusting entry required. Juani Jia) a5h Y

Liquidity refers to the ability to pay maturing obligations and meet unexpected needs for cash.
L6l Aad gl e colalsia) Al g Adaiual) culal 3V dlaw e 3 aal) ) el A gad)

Current ratio permits us to compare the liquidity of different-sized companies and of a single
company at different times.

PH N gﬁji‘;zh\}as)a}w- \91;;31\Q\hd&ﬂ\uwm)&gm@m@m\m, 1)
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Real CATERPILLAR INC.
Balance Sheet
December 31, 2011
(in millions)

Assets Jyall
Current assets "sall 3 ual & glaadl | gua¥l £38,128
Property, plant and equipment (net) <laally oyl y clshaal 14,395
Other long-term assets Ja¥l dlgh g Al gl 28,023
Total assets Jpa¥! Alaa) £81,446

Cpatloall 3g8a g ol iyl Liabilities and Stockholders’” Equity
Current liabilities wtall 5 uual o gl

Short-term borrowings (notes payable) Ja¥ jua? (21291 § 3 988
Accounts payable duls sl 8,161
Accrued expenses sl cdilas § g ) o pall cliaiueg gty o1y, 3,386
Accrued wages, salaries, and employee benefits 2,410
Customer advances A ‘-‘-‘:“_ 2,691
Dividends payable . tL‘*_‘ﬂ ';L"-"f"" 298
Other current liabilities GAT gl s uad 05 1,967
Long-term debt due within one year 5,660
- -! = i e T T
Total current liabilities baals e i (saall ,ﬁﬁ:ﬁ;: 28,561
Noncurrent liabilities Algloa g2 clapmll 39,483
Total liabilities "ol alal 5N ALl 68,044
Stockholders’ equity Gl dgds 13 402
Total liabilities and stockholders' equity 81,446

el J3gin g Ll Y e
Working Capital = Current Assets — Current Liabilities

gdall Bl ¢y gaall — sdall B_yuad J gl = Jalad) Jlall iy

Current Ratio = Current Assets / Current Liabilities

el B yuad ¢ gadl) [ gdall B uad Jgual) = dllad) Al

* e send) 433 jaall a3ed AR Al 5 Jaladl JWdl Gl Caad Ly 13)

1. Working Capital " Jala) Jladl ul ;"

ma () slua

Current _ Current _ Working
Assets Liabilities Capital
£38,128 - $28,561 = 39,567

2.. Current Ratio " 4llad) 4wl

Current ) Current _ Current
Assets Liabilities Ratio
$38,128 =+ $28,561 = 1.33:1

Contingent Liabilities  4daiaall ¢ gsal)
Potential liability that may become an actual liability in the future.

Safiall A Aolad () 900 sl B Al Alaisall ¢ gaall
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Three levels of probability: Jwia¥) (p cily giua 4D
1.Probable. g s e / Jaina (Sl 50%) NOTE + 4lawdi o Jarda

2.Reasonably possible. (¥ sl ¢ #5l) (Sas) Jsiae IS Jaina (=50%) NOTE ké Jaww ¥
3.Remote. Jwiayl ye (Jii 50% ) (NOTE 235 ¥ + Ja ¥) llaa) o Jaria

Probability... .., Accounting ...

Footnote
duial)

Reasonably
Possible

Remote

Ay

Ignore
clead) Jalas

Recording a Contingent Liability 45 uall "cila) 351" ¢ gaall Jaas
Product Warranties giiall "cUs™ clilas
Promise made by a seller to a buyer to make good on a deficiency of quantity, quality, or performance in
a product.

el el s sl f Al Gl e iy gailly (5 jidiall W) 4e (53 ac )
Estimated cost of honoring product warranty contracts should be recognized as an expense in the
period in which the sale occurs.

o) L aany ) 5yl 3 iy e gmiial) glain 3 gie Jlaiesd [ la ¥ 5 iall 4ESHL il jie ) Cany

Ex: Denson Manufacturing Company sells 10,000 washers and dryers at an average price of $600 each.
The selling price includes a one-year warranty on parts. Denson expects that 500 units (5%) will be
defective and that warranty repair costs will average $80 per unit. In 2014, the company honors
warranty contracts on 300 units, at a total cost of $24,000.
Y52 600 aw s iy "SULEN" Cldsaall g DYl (10 10,000 Denson Manufacturing 4S8 e : Gl Jaw e
) s Lo sie o 5 dsma (75) a5 500 00585 o AS 8 a8 55 o) a1 e ale baal Ul ) e dody Legia U<
golal & " 5an 5 300 e Chacall i 3lal Sle RS8N ilee ¢ 2014 ple b san s 115 52 80 ey LS (el
.0¥52 24000 W38 dllea) A8l ¢ ("ALAN" Slidsa sl Allue 300

1. At December 31, compute the estimated warranty liability.
_‘)M\ ULAaAn ?\‘}ﬂ\ RN I o 31 ‘53

2. Make the required adjusting entry. sthal) Jawill L) Jasy o
3. Prepare the entry to record the repair costs incurred in 2014 to honor warranty contracts on
2014 sales

2014 Gl laall 3 gie #aY 2014 ale L 528l Siay) CallSs Junal JLasY) laely 8

4. Assume that the company replaces 20 defective units in January 2015, at an average cost of $80

in parts and labor. _
Allaall 5 HLal) adadl 15Y 52 80 A4S Jaw giay ¢« 2015 by 8 dusma 3355 20 lagiasd 4S80 of (2 )
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1. At December 31, compute the estimated warranty liability.
) el o i) Caeal ¢ jsans 31 b

delall sl gl 2= Number of units sold 10,000
damall clas Ut Samadl Juadl Estimated rate of defective units ® 5%
Boball dpaall cilas gl JAlaa) Total estimated defective units 500
Slacally £yl 481G b e Average warranty repair cost % $80
5oakall glacall "y g wlat 5ll Estimated warranty liability $40,000
2. Make the required adjusting entry. < sthaal) Jaaatll JAS) Jary o8
Dec. 31 Warranty Expense — (laall ciyjlas 40,000
Warranty Liability Slaall cilal gl 40,000
(To accrue estimated warranty costs)

(5diall gladall LS a8) )

3. Prepare the entry to record the repair costs incurred in 2014 to honor warranty contracts on

2014 sales
2014 Sl VWS Cvm}[ 2014 (’L‘; ‘_g Bl Cvua:}” CadlSs Jaaull d\sg‘g\ Alacly r‘aé
Jan. 1- Warranty Liability Sbaall [ AIBEH ibat 21 24,000
Dec. 31 Repair Parts ) pdad 24,000

(To record honoring of 300 warranty

contracts on 2014 sales)
2014 b claall Sllaia g AL [ A2 ™ e 300 £ikay Juaedll a3

4. Assume that the company replaces 20 defective units in January 2015, at an average cost of $80

in parts and labor.
Allaall g Ll adadl 15Y 92 80 48l Lo giay « 2015 by (A dwma 835 20 Sl 38,380 o (i )

Jan. 31 Warranty Liability Slasall [ Gladall ol 20 1,600
Repair Parts Sl b 1,600
(To record honoring of 20 warranty

contracts on 2014 sales)
2014 sle A clagall llada opa dakid 20 JIaiay Joaed 5

|Pageb

ploaded By anonymous


https://students-hub.com

CH11 - ACCT230 el
e (pdll slua
ddlal Al
Q1. Circle the correct answer
1. To be classified as a current liability, a debt must be expected to be paid:
A. out of existing current assets.
B. by creating other current liabilities.
C. within 2 years.
D. both (a) and (b).
2. Working capital is calculated as:
a. current assets minus current liabilities.
b. total assets minus total liabilities.
c. long-term liabilities minus current liabilities.
d. both (b) and (c).
3. A contingent liability should be recorded in the accounts when:
a) itis probable the contingency will happen, but the amount cannot be reasonably estimated.
b) itis reasonably possible the contingency will happen, and the amount can be reasonably
estimated.
c) itis probable the contingency will happen, and the amount can be reasonably estimated.
d) itis reasonably possible the contingency will happen, but the amount cannot be reasonably
estimated.
Q2: E11-1 C.S. Lewis Company had the following transactions involving notes payable.
Prepare all needed entries.
A slhaall CYAY) aaan 230l pB adal) Aaias B) ) Cpanali A AN c5lalaall Lewis 48y sl oS
A. July 1, 2017 Borrows $50,000 from First National Bank by signing a 9-month, 8% note.
8 Ay el 9 333 S0 e a il YA (4 First National Bank ¢ ,¥ 52 50000 = 5 2017 sds: 1
B. Nov. 1, 2017 Borrows $60,000 from Lyon County State Bank by signing a 3-month,6% note.
Adaadle 76¢ el 3 sl e a5y i () sl dadalie B peaa (e Y 52 i 60 L i 2017 (e ) (A G 1
C. Dec. 31, 2017 Prepares adjusting entries. LJaadll YA Huiast 2017 sassd 31

July 1, 2017
Cash 50,000
Notes Payable 50,000

November 1, 2017
Cash 60,000
Notes Payable 60,000

December 31, 2017
Interest Expense " il gill Cild g yaa"
($50,000 X 8% X 6/12) 2,000
Interest Payable 2,000

Interest Expense

($60,000 X 6% X 2/12) 600
Interest Payable 600
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D. Feb. 1, 2018 Pays principal and interest to Lyon County State Bank.
s Aadalie lid 5250l 5 JLall Gl 5 @dn 2018 Lyl il

E. Apr. 1, 2018 Pays principal and interest to First N_ational Bank.
JsY) il sl liall ailall 5 Jua) (ol a8 2018 damil

February 1, 2018

Notes Payable 60,000
Interest Payable 600
Interest Expense 300

Cash 60,900

April 1, 2018

Notes Payable 50,000
Interest Payable 2,000
Interest Expense 1,000

Cash 53,000

Q3: In performing accounting services for small businesses, you encounter the following.
b Lo dalsi ¢ 5 ppall S il dulaall claxs ool xie

Prepare the entry to record the sales transactions and related'taxes for each client. situations pertaining
to cash sales.
L0280 el Asleial) Cad) gall | Jrae JSIALAT C0ld Qi) pall § Cilenall EBlalae Jaaudtl a8l jicass

1. Poole Company enters sales and sales taxes separately on its cash register. On April 10,
the register totals are sales $30,000.and sales taxes $1,500.
Ml Jlaa) Jil 10 3 e gl ol Jaidl 8 Juadie JS8 Cilagadl) () jum s Clagsall QW30 Poole 48 i a i
0¥52 1500 Glaaall il juzas HY 50 30000 lapsall 2

2.  Waterman Company does not segregate sales and sales taxes. Its register total for April 15 is
$25,680, which includes a 7% sales tax.
s ¢ Uy a0 15Y 53 25680 sl 15 8 Ll Jlaa) gl ilaasall Gl jum s Cilassal) 0 Waterman 48 5 Juaii ¥
o T Ay Clagie Ay jua anald

POOLE COMPANY

Apr.10 Cash 31,500
Sales Revenue 30,000
Sales Taxes Payable 1,500

WATERMAN COMPANY

15 Cash 25,680
Sales Revenue ($25,680 + 1.07) 24,000
Sales Taxes Payable
(25,680 — $24,000) 1,680
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Q4: Betancourt Company sells automatic can openers under a 75-day warranty for defective
merchandise. Based on past experience, Betancourt estimates that 3% of the units sold will become
defective during the warranty period. Management estimates that the average cost of replacing or
repairing a defective unit is $15. The units sold and units defective that occurred during the last 2
months of 2017 are as follows.

AR Al e 2l Aaeal) pladl Ly 75 B3ad Glasd i gay 4380 93 gY) ulal) cilalid Betancourt 48 pd g
Ayl 32 ) = Dla) A8 dass gia (f 3l0Y1 a8 el 5 58 JDIA duee i deliall Cilas sl (40 73 of Betancourt e
2017 ale (e oY) G el JOA Ciaa ) Al cilas gl g deball Claa gl b Lad 15Y 52 15 8

BYRAY Units <las gl Units Defective
Month Sold 4slual) Prior to December 31
November 30,000 600
December 32,000 400

Instructions "' slaall" Cilaglail)

(a) Prepare the journal entries to record the estimated liability for warranties and the costs incurred in
honoring 1,000 warranty claims. (Assume actual costs of $15,000.)
ol i) Jlavall 4lthe 1000 kel 3 saSiall Caullill y Sllaall G 50l 4 5 jusal) Gl dpa gl 258 Dy o8
(LY52 15000 &l 4ulagl) Calissl)

(b) Determine the estimated warranty liability at December 31 for the units sold in November and
December.

covenmd g el i (8 debiall Glas gl ey 31 (& )kl Glasall cilal i1 paas
(c) Give the entry to record the honoring of 500 warranty contracts in January at an average cost of
- Y50 15 4SS b sy ol (& laa die 500 Jlaiid [ 23kaY daall Ja)
Answers

(a) Warranty Expense (Ll o las (62000X3% X $15) 27,900
Warranty Liability oleall o5 27,900

(b) Estimated warranty liability " 3 28l cillecall <l 31"= 27,900- 15,000 = $12,900.

Warranty Liability cladll <lal i) 15,000
Repair Parts i) akd 15,000

(c) Warranty Liability <ULzl &l 33l (500 X $15) 7,500
Repair Parts Je ok 7,500
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Q5: Gallardo Co. is involved in a lawsuit as a result of an accident that took place September 5,
2017. The lawsuit was filed on November 1, 2017, and claims damages of $1,000,000.
Aladlly « 2017 smd g 1 (A el @by a3 2017 s 5 oy Calad Aaiii ilial (5 23 8 4k ) e Gallardo 4S8
0¥ 1000000 0,8 (ymy 52y
Instructions < siad
(a) At December 31, 2017, Gallardo’s attorneys feel it is remote that Gallardo will lose the
lawsuit. How should the company account for the effects of the lawsuit?
e s Akl 5 el Gallardo s Of 2l e 43l Gallardo selae i ¢ 2017 (Lrewd) ds¥1 0518 31 S
seAl Ul Gl 48 A
(b) Assume instead that at December 31, 2017, Gallardo’s attorneys feel it is probable that
Gallardo will lose the lawsuit and be required to pay $1,000,000. How should the company
account for this lawsuit?
e Gallardo s ol Jaisall (0 43 Gallardo selae e ¢ 2017 (Ltass) Js¥) 058 310 4l Qb (g Yy (sl
fseall oda il A AN ey e 5¥ 50 1000000 ads 4ie allay
(c) Assume instead that at December 31, 2017, Gallardo’s attorneys feel it is reasonably possible
that Gallardo could lose the lawsuit and be required to pay $1,000,000. How should the
company account for this lawsuit?
ud Of J s JS Sadd) e 43l Gallardo selae e ¢ 2017 (Lsenss) ¥ (538 31 8 4l @y (e Yoy (i il
foseall oda il A8 0 e cnyeaS | Y ga (sala ads ade bl 5 (5 o2l Gallardo
Answers

(a) If a contingency is remote (unlikely to occur), it needinot be recorded or disclosed.
leie il o Lebmtal ey Dal (Saad ol Jaisall e (4a) Bams (5 ) shll Alla clS 1)

(b) Since the contingency is probable and reasonably estimable, the liability should be recorded
in the accounts. In addition, the details should be disclosed in the notes to the financial
statements. The journal entry is:

oo Zlady) Lasy ¢y 1) A8yl cllall b o) 3V dias cony ¢ J s JS uaill AL  Aldine 55l shall of Ly
s Al JAa) Akl i) e cilaa ) s Jaualill

Lawsuit Loss" ¢ s 8 Lwd" 1,000,000
Lawsuit Liability "4 $i&l <) iy 1,000,000

(c) If a contingency is reasonably possible, it need not be recorded, but must be disclosed in the

notes to the financial statements
AL il e sl b dle ~lad) caag oK1y ¢ almal ey S ¢ Jsine (S5 USas (5 ) shall Ganadall (S 13)

Q6: On January 1, 2017, the ledger of Accardo Company contains the following liability accounts.
A el i) cllua e Accardo A4Sl Al g giag < 2017 i 1 G

Accounts Payable " a3all clilua $52,000
Sales Taxes Payable" a8all d8aiaia Cilayall cuil pia" 7,700

Unearned Service Revenue" 4awiSall ;& dasidl) cilal )" 16,000
During January, the following selected transactions occurred. AUl Baasall o lalaall Ciaa ¢ by el JBA
Jan. 5 Sold merchandise for cash totaling $20,520, which includes 8% sales taxes.

o (78 G 5 ¢ WSl 159 53 206520 oo sana il 158 delual) iliadl - s 5
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Jan. 12 Performed services for customers who had made advance payments of $10,000. (Credit Service

Revenue.)

(LA Aaad ) jl) L Y 52 10000 a8 dadia e e | 5ot (Al ¢ Daall Ciladdll g o5 - iy 12
Jan. 14 Paid state revenue department for sales taxes collected in December 2016 ($7,700).

(U¥527700) 2016 sressd (& Aiasall Glayall (i) jual de haall dpe sSall ilal 1135000 - 1l 14
Jan. 20 Sold 900 units of a new product on credit at $50 per unit, plus 8% sales tax.

78 Clagaall Ay pum N ALY ¢ 5an i1 15Y 53 5O e IS 325 e (e 5355 900 Canas - il 20

This new product is subject to a 1-year warranty. .33 g 4iw baal AU Al paal) ziial) 138

Jan. 21 Borrowed $27,000 from Girard Bank on a 3-month, 8%, $27,000 note.
5327000 « 78 ¢ el 3 ad i e iy e )Y 0 27000 =) - il 21
Jan. 25 Sold merchandise for cash totaling $12,420, which includes 8% sales taxes.
e () 78 Jadi (T 5 ¢ USy pal 15Y 50 126420 Lo sana il 138 deluall wilzadl - 5y 25

Instructions < sl
(a) Journalize the January transactions.

(b) Journalize the adjusting entries at January 31 for - 4 ki 31 & dae sl s 8 Jawill SR Jaauily o8

1. the outstanding notes payable

2. estimated warranty liability, assuming warranty costs are expected to equal 7% of sales
of the new product. (Hint: Use one-third of a month for the Girard Bank note.)
aal) il Clagse (e 77 (s OF @ siall e Glaall CadlSs o Gl il ¢ 3 laall Bl I

(c) Prepare the current liabilities section of the balance sheet at January 31, 2017. Assuming change in

accounts payable

Al AL il 3 il il 5 2017 il 31 b se senll Al Saall (b A 1ial) el Y1 o Shac)

(a) Journalize the January transactions.

ma () slua

cm Aaatieal) Colaiuld)

(.Girard <l 3 83l jedl) uli aadiul ;zsall)

ol OOl (o g

Jan. 5 Cash 20,520
Sales Revenue (520,520 + 108%) 19,000
Sales Taxes Payable
(520,520 — $19,000) 1,520
12 Unearned Service Revenue 10,000
Service Revenue 10,000
14 Sales Taxes Payable 7,700
Cash 7,700
20 Accounts Receivable 48,600
Sales Revenue 45,000
Sales Taxes Payable
(900 X $50 X 8%) 3,600
21 Cash 27,000
Notes Payable 27,000
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ma () slua
25 Cash 12,420
Sales Revenue (512,420 + 108%) 11,500
Sales Taxes Payable
(512,420 - $11,500) 920

(b) Journalize the adjusting entries at January 31 for 4 i 31 A daesl) s & Jaawdl) SR Jaaly o8
1. the outstanding notes payable ) daatial) clasu)
2. estimated warranty liability, assuming warranty costs are expected to equal 7% of sales
of the new product. (Hint: Use one-third of a month for the Girard Bank note.)
aal) il Clagse e 27 s O & siall e Glasall CadlSs o Gl il ¢ R Glacall ol
(1) Jan. 31 Interest Expense 60
Interest Payable 60

(2) Jan.31 Warranty Expense 3,150

Warranty Liability 3,150
(c) Prepare the current liabilities section of the balance sheet at January 31, 2017. Assuming change in
accounts payable

cdall ALl bluall & juadll (al 8L 2017 sl 31 (2 Ao geadl Al Gl 3 A glaiall el JiTY) aned alac)
Current liabilities

Notes payable $27,000
Accounts payable 52,000
Unearned service revenue ($16,000 — $10,000) 6,000
Sales taxes payable ($1,520 + $3,600 + $920) 6,040

Warranty liability 3,150
Interest payable 60
Total current liabilities $94,250

END OF CHAPTER 11
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Accounting for Partnerships 4S) &l duulaall
Partnership, an association of two or more persons to carry on as co-owners of a business for profit.
2 dal e sl g 5l (S e GiSILS ) painB STl Gradid e 0 5Sh aladl (e 3 ke (A ¢ ASI AN
Gl Sy il pgale Gl

Type of Business: 48| il iadiy ) Jued) g1 il
€ Small retail, service, or manufacturing companies. gl 5l Claddll 55 paaall 45 jadll S )4
@ Accountants, lawyers, and doctors. bl 5 o salaa g O gralaa

Characteristics of Partnerships 4SI_ &) (ailad
1. Association of Individuals _3Y! 4maa

€@ Legal entity. sl LS
€ Accounting entity. abae (S
@ Net income not taxed as a separate entity. Jeadic QLSS Ay yall pals je il ila

2. Mutual Agency Aatgial) Al gl
@ Act of any partner is binding on all other partners, so long as the act appears to be
appropriate for the partnership.
AS) N Galie san Jadll gl Wl ¢ 0 AY) o1S580 qand U jla ey gl Jad iy

3. Limited Life 33g3aall 3Ll
€ Dissolution occurs whenever a partner withdraws or a new partner is admitted.
s el y8 8 o el aal ity Laaie Jall Chasy
€ Dissolution does not mean the business ends. el el iy Y Jal)

4. Unlimited Liability 8293 »& cilal 33
@ Each partner is personally and individually liable for all partnership liabilities.

ASl el ) gen (e (5385 oemdi S8 Uy mne Sl JS

5. Co-Ownership of Property <\Sticall 45 jidial) 4uSLal)

@ Each partner has a claim on total assets. Jsa¥) Maals dlthae &by 55 <
€ This claim does not attach to specific assets. 820n0 J guals AdUaall 028 Jasi 5 Y

€ All net income or net loss is shared equally by the partners, unless otherwise stated in
the partnership agreement.
ASI Al Al 8 elld Cdla e et ol L el G s bl 5 )Lt s 2ol ilia anlss a1y

Partnership Agreement 4| &l 4.8
Should specify relationships among the partners: $1S &l G GBMal) paad Gy

1. Names and capital contributions of partners. Allaud ) agilaalise 5 o8 L8l eland
2. Rights and duties of partners. el bl g5 (398
3. Basis for sharing net income or net loss. 5l il ) Jaall il andi Gl
4. Provision for withdrawals of assets. (¢S &l Gx coandl e GEY) ) Jpa¥) ad javade
5. Procedures for submitting disputes to arbitration. ksl ) dle i) A ¢l ja)
6. Procedures for the withdrawal or addition of a partner. el i) ddlz) ol ilas) o) a)
7. Rights and duties of surviving partners in the event of a partner’s death.
REFPRAR-E PRUENpI PAFN AT NUAFN PRI PN
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Partnership " bul JSdy audl ga gl oo JiL&l sl 8 alsis & ) ™ 4s)

1. Forming a Partnership AS) i Qupall [ (2985
2. Dividing Net Income or Net Loss B ldll Bla gl JaAll Ala daud
3. Admission of a Partner OR Withdrawal of a Partner A ) i) g ey pd AdLa)
4. Liquidation of a Partnership 4s) i) ddeat
1. Forming a Partnership AS) s Gl [ oSS

EX: A. Rolfe and T. Shea combine their proprietorships to start a partnership named U.S. Software. Rolfe
and Shea have the following assets prior to the formation of the partnership.
ASI AN JSEs J Aal) J pa) Wbyl ) elliay ULS. Software asb 48158 el LagiSle Gm laang Lidi g cilg 1 JUie

4, sl L3 Book Value 4lalall a3l Fair Value
A. Rolfe T. Shea A. Rolfe T. Shea

Cash £ 8,000 $ 9,000 $ 8,000 $ 9,000
Equipment <l aaall - 181 Al ainny 2,000 4,000
Accumulated deprecial‘i_tl_‘m—eqﬁi‘f)fnent (2,000)

Accounts receivable dyaall aadil 4,000 4,000
Allowance for doubtful accounts (700) (1,000)

oot podglidll ol de 77000 $12.300  $12,000  $12,000

Required:
1. Prepare the entry to record the investment of A. Rolfe.
il g vl Qo JWay) slacly o8 1 glhal)

Investment of A. Rolfe

Cash 8,000
Equipment 4,000
A. Rolfe, Capital 12,000

(To record investment of Rolfe)

2. Prepare the entry to record the investment of T. Shea.
Ll lafind Jaadl JIaaY) slacly o8

Investment of T. Shea

Cash 9,000

Accounts Receivable 4,000
Allowance for Doubtful Accounts 1,000
T. Shea, Capital 12,000

(To record investment of Shea)

f NS Banl g 5 e cily g L LAY JANY) Jae (e 1 Aliadla

® C(Cash 17000
® A/R 4000
® Equipment 4000

® Allowance for Doubtful Accounts 1000

® Rolfe capital 12000

® Shea capital 12000

|Page2
TUDENTS-HUB.com Uploaded By anonymous



https://students-hub.com

CH12 - ACCT230 (asili
e (pdll slua

2. Dividing Net Income or Net Loss Blwddl Ala gl Jaal e dacd
Partners equally share net income or net loss unless the partnership contract indicates otherwise.
A Ca e 3818l s (aby ol Lo s bl 5 jludl) s ol JAA il oSl s
Closing Entries: <Lluwall $S)
€ Close all Revenue and Expense accounts to Income Summary.
SMAA (adle” ) el g paal) g clal ) Clls aies | @
@ Close Income Summary to each partner’s Capital account for his or her share of net
income or loss.
Bodl) ol Jaall e (e diiasd @l 58 JS Jle il ) luad JAAN (adle 332) @
€ Close each partners Drawing account to his or her respective Capital account.
A alall JW Gy sl i JS "S5 it b gacadl o] s (3512) @

Income Ratios Ja ced

Partnership agreement should specify the basis for sharing net income or net loss. Typical income ratios:
Ao saill JA) a3 ledl) il o Jaall ila anlil (AWl AS) 8 A8l aass o s

Fixed ratio. Al Al
Ratio based on capital balances. Sl Gl y B )l (sl e 4l
Salaries to partners and remainder on a fixed ratio. Al iy AUl 5 IS il il

Interest on partners’ capital balances and the remainder on a fixed ratio.
Al I elSOAN Dl il saea f e il
Salaries to partners, interest on partners’ capital, and the remainder on a fixed ratio.
Al dauy (AL 1S a0 Jle Gl e i) gdll 5 o1S i cal 5

® G000

Example: Ahmad, Hani, and Rami form a partnership on 1/1/2020. The information given as follows:
Beginning Capitals on 1/1/2020 (contributions):

" 2020/1/1 &l (& Juall Gl " oA galdl) o Ba ) gl cilaglaall . 2020/1/1 (A AS) s (a9 (AR g 2] dhe 1]l
Ahmad: $60,000.
Hani: $40,000.
Rami: $ 20,000.
For the year of 2020, Total Revenue " <l ) Jlal = $ 120,000

Total Expenses" i juaall £ saaa:

Rent" 1" Expense= $15,000
Supplies" <y, sl expense= $ 3,000
Salaries" <l 5." to Employees= $ 25,000
Utilities" 3 !1" Expense= $ 12,000
Depreciation" d3¢Y!" Expense= $ 5,000
Drawings"<b sa" for the year: Ahmad: $ 4,000 Hani: Zero Rami: $ 1,000

Required: < sikaal)
* Divide the Net income between the partners (using the different ways given below).
(o5l Bl sl Adtiaall (5 jall aladiul) elS Al Cp JAd e ald e
*  Prepare the closing entries for the accounts on 31-12-2020.
2020-12-31 &b clluall Labiall libuall el o
*  For dividing and closing the Income Summary account, use only the last Method.
i 3 5,a1 A8 Hhall aodind ¢ Jaal) (adle Clus BME) 5 apudll o
Answer 4Ly
Net Income"Jaall La" for the year = 120,000 — 60,000= $ 60,000.
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This is to be divided as follows: A ol Jo JAal) Ala andi a4
Method 1: If the agreement does NOT give a specific method for division
asnatill Ba3ae 44y yla awd W AN il 1Y) ; d6Y) AGy Hhall
Each one will get 1/3 of the net income, that is $ 20,000 to each partner.
2l s UKV 53 20000 sl ¢ il Jaall G e aal 5 JS Jeasgu
Method 2: Income to be divided in a fixed Ratio of Ahmad (40%), Hani (40%), and Rami (20%).
(7 20)¢sa105 (740) (S8 5 (7.40) 2aaY A5 Lpuady JANI anady 1Al 43y Skl
Ahmad’s Share = 40%* 60,000= $ 24,000
Hani’s Share= 40% * 60,000 = $ 24,000
Rami’s Share= 20% * 60,000= $ 12,000

So, in this case

Method 3: If Salaries are given to partners as follows: Ahmad $ 12,000, Hani $ 18,000, and Rami_$
8,000.Then the remaining in a fixed ratio of : A (50%), H (25%) and R (25%)
528000 o5 ¢ Y52 18000 e ¢ LY 52 12000 2eal 1 Ml sail) e olS il qidh il 5yl il 1) 4N 45, Hlal)
(25%) =l ¢ (%25) & « (£50) aanf A8 Dy Sl a3 ¢
Division of Net Income table Jaa) 8la asudi Jgaa

Item Ahmad Hani Rami Total

Income to be divided 4w 3l jall Jaall 60,000

Salaries to partners 1S il <y, 12,000 18,000 8,000 (38,000)

Remaining after salaries <l 1) o Al 22,000

Divided in a fixed ratio: Al Ay e 111,000 5,500 5,500 (22,000)
22,000*50% | 22,000*25% | 22,000*25%

Share of each partner el Jdaas |23,000 23,500 13,500 0

Note that the total shares must be equal to the Net Income that was divided= 60,000.
.60.000 = Aapdi aiedl) JAAN Ao s gbews ¢ i g Jaa) o BaY

Method 4: If partners are given 10% interest on their beginning capitals. Then the remaining in a fixed
ratio of: A (40%), H (30%) and R (30%)
AR« (Yod0)tan] il dpcady (ALY &5 A W) agd) g4l gy (A0 710 Apady B2l £1S Ha) gria a3 1) rday) ) A8y phal)

(%30) ' 5(%30)
Division of Net Income table Jaa) &la asudi J g3
Item Ahmad Hani Rami Total
Income to be divided  4apsd ) jall JAA 60,000
Salaries to partners oS Al il 5 5] 6,000 4,000 2,000 (12,000)
10%*60,000 10%*40,000 | 10%*20,000
Remaining after salaries <l 1) 2 sl 48,000
Divided in a fixed ratio: 4Ll douiy danda| 19,200 14,400 14,400 (48,000)
48,000*40% 48,000*%30% | 48,000*30%
Share of each partner el b JSdaa | 25,200 18,400 16,400 0

Note that the total shares must be equal to the Net Income that was divided= 60,000.
160.000 = 4apadi o o2 JAA Ala 5 sl O g pgeaal) Alan) o BaY
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Method 5: If partners are given salaries as follows: (A) 20,000, (H) 15,000, (R) 12,000, then they are

ma () slua

given: 10% interest on their beginning capitals, then the remaining in a fixed ratio of : A (40%), H

(30%) and R (30%)
& < 12000 (41) ¢ 15000 (A8) « 20000 (3asi) 1A sail) o g £S5 geia a3 13)

Division of Net Income table J3d 8la audi J gaa

sdaldl) 48y )
(%30)4l ¢ (%30) A ¢ (%40) 2eai (A5G Ludy L) o5 ¢ A0 Y agd) gal Gug'sy o 328 7 10 1pgaia

Item Ahmad Hani Rami Total
Income to be divided 4w 3l jall JaA 60,000
Salaries to Partners <l Gl | 20,000 15,000 12,000 (47,000)
Remaining after Salaries <l sl 2 il 13,000
Interest on beginning capitals (10%) 6,000 4,000 2,000 (12,000)
(%10) Jsa¥ s Ay e 323 | 10%*60,000 10%*40,000,20%* 20,000
Remaining after interest 3l day a5l 1,000
Divided in a fixed ratio: 43U dsiy sl | 400 300 300 (1,000)
1,000*40% 1,000*30% 1,000*30%
Share of each partner clhyi i | 26,400 19,300 14,300 0

Closing Entries: Case 5 numbers " s i anli s ) cla dcatll™ @Y ady)
+ To close Revenue "l sa)" &l ) Gl Sl La (ol J o)

Sales revenue " Slagall Silaf )" $120,000
Income Summary account "Jad gadla Glua® 120,000
+ To close Expenses: “ibaall clilua jSuda 1 il
Income Summary account" Jadl gedls cluat 60,000
Rent"_a¥!" Expense 15,000
Supplies" <y, 51" expense 3,000
Salaries to Employees" (18 sall il 9" Expense 25,000
Utilities" &l _a)" Expense 12,000
Depreciation”d¢Y1" Expense 5,000
» To close Income Summary account: Jadl gaile Glua jSuda ; GG
Income Summary" Jaall geil" account 60,000
Ahmad’s capital 26,400
Hani’s capital 19,300
Rami’s capital 14,300
+ Toclose the Drawing accounts: <l Gllua PEY
Ahmad’s capital 4,000
Rami’s capital 1,000
Ahmad’s drawing" <l g 4,000
Rami’s Drawing 1,000

LS&*""‘C$J‘ L;..La) Lg}u\6.&.1\9&'4‘J‘ﬁjéuﬂl\40aJQSJm&M%ﬁkﬂ\u\uﬂﬂﬂ\u&h
(Aaldd) Al Jo cdlamil) amy
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Method 5: If partners are given salaries as follows: (A) 20,000, (H) 15,000, (R) 12,000, then they are
given: 10% interest on their beginning capitals, then the remaining in a fixed ratio of : A (40%), H
(30%) and R (30%)
A% « 12000 (') < 15000 () < 20000 (eaf) : AN gail) to il g oS )&l gia ol 13) dualdd) 48y jhal)
(%30)c41 « (%30) « (%40) 2aai 1A dpuudy Al o ¢ A0 Y aghl gal sy Ao B2 7 10 1pgadie

Item Ahmad Hani Rami Total

Income to be divided e 3l jall Jaa) (40,000)

Salaries to Partners <8l il ) 20,000 15,000 12,000 (47,000)

Remaining after Salaries <l 5l 2 Jaiiall (87,000)

Interest on beginning capitals (10%) 6,000 4,000 2,000 (12,000)
(%10) J oY) (53 Al e 33l 10%*60,000 10%*40,000 10%*20,000

Remaining after interest 3l 2y il (99,000)

Divided in a fixed ratio: 436 duuiy sl | (39,600) (29,700) (29,700) ((99,000))

(99,000) *40% | (99,000) *30% | (99,000) *30%
Share of each partner <l i JS4aa (13,600) (10,700) (15,700) 0

Note that the total shares must be equal to the Net Income that,was divided= -40,000.
40:000- = 4apiulll a3 5 M) Jaah Bla g gban O e agd) Alaa) Of ZaY

Closing Entries: Case 5 numbers (Loss case) (3wl Al 8) c¥a 5 J1 (laS (g8 (g geud L 1 3MEY) <A

*  To close Revenue ") g™ <) gY) cilea S Ua &1

Sales revenue $20,000
Income Summary account

20,000

¢ qllall db 5 $40,000 dashy Jas Us adhay cild g paall Leda il Lal 53 20,0005 Wieit Revenue s (b @ dkiadla
.o ¥ ki 20,0008 (£ Sk A sl s (sl o ) pead) Undira gils Sny

+ Toclose Expenses: «iijbaall clibua Sada 1 Lib
Income Summary account 60,000

Rent Expense 15,000
Supplies expense 3,000
Salaries to Employees Expense 25,000
Utilities Expense 12,000
Depreciation Expense 5,000

» To close Income Summary account: Jadl gaile Glua jSuda ; GG

Ahmad’s capital 13,600
Hani’s capital 10,700
Rami’s capital 15,700

Income Summary account

40,000
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* To close the Drawing accounts: ) Cililua PEY
Ahmad’s capital 4,000
Rami’s capital 1,000
Ahmad’s drawing 4,000
Rami’s Drawing 1,000
AHR Partnership
Statement of Partners’ Capital
For the year Ended Dec31, 2020

Ahmad | Hani Rami Total
Beginning capitals (1-1-2020) 422 4 J1s<¥) 295, | 60,000 | 40,000 | 20,000 | 120,000
Add: agale Ciuaia
Additional Investments ddlay) o) L) | 0 0 0 0
Share of Net income (case 5) a2l il e 4as)) | 26,400 | 19,300 | 14,300 | 60,000
Subtotal (&4 & saaall 86,400 | 59,300 | 34,300 | 180,000
Less: agle "alia" 7 jhia
Partners Drawings glS ) aligaw | (4,000) (O (,1000) | (5,000)
Ending Capital (31-12-2020) Al ) ) gy 82,400 | 59,300 33,300 | 175,000

3. Admission of a Partner OR Withdrawal of a Partner e ydl) Gladl g ey i Adl)
Admission of a Partner &b d ddla) o) J s

€ Results in the legal dissolution of the existing partnership and the beginning of a new one.
BSuaa AS) 5 ey g Al AS) Hal A giEl Jal) ) 52 @

Entry of New Partner into an existing Partnership (2 ways) 4S) Al Aaild b yaa oyl J A
1- By Purchase of Interest from an Existing Partner or Partners. This is considered a personal
transaction. We only replace the shares (capitals) between the partners. It is NOT important
how much will be paid, how it will be paid, or when it will be paid. The only entry needed is to
replace the shares sold and bought. The size of the total capital( size of company: total assets).
does NOT change
On ol WS (s (15031 53 et Jasinss Jadh (i3 At Alelas o3 iad Gl el 50 i Gl (e 506 ) 5
delial) agat) Jlasinl 2 quglhall dia ol JASYY 4nds piis e sl ¢ 4nd ali (Sl ¢ drdd g A Al laie agall
iy al () Mea) S50 aan) Mea¥) JWl (ol aaa 31 il
2- By Investing Assets (usually cash), into the existing Partnership (company). Here the total
capitals (size of company) will increase.
(S, ann) OV sal) sy dlan) 21 s lia (A8 ,0)) Al AS) LEl b ¢ (3ale Apaaill) Jsal) laiiul (5i 5k o

Ex: By Purchase of Interest from an Existing Partner or Partners Oadla oS i g Sl i (e BAild o) i

Capital Balances Ownership %

Ahmad 50,000 50%
Sameer 25,000 25%
Maher 25,000 25%
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A. Assume Kamel wants to enter this company by Purchase of Interest. He agrees to buy 1/2 of
Sameer's share for $ 15,000
Y 5215000 Jilie jraw duas Caai o) pi e 53 g 323 o) b Gk e 4S8N s3a Jsaa & JWlS o L )
For the partnership, the only entry needed is to replace capitals. The money will be paid to Sameer and
NOT to the company.
AS A Gl s ) dsal) s JLl Gl Dl 5a Collaall s Jadl ¢ AS10 Al

So,it does NOT matter how much, when or how. We only will deduct half of Sameer's capital and record

it for Kamel.
Sl alais pans Jlo Gl ) Clam Jah adafiins iS5 a9 oS ag ¥ ¢l
*Sameer's capital 12,500
Kamel's Capital 12,500
Situation after JalS Jsia 3y gl gll
Capital Ownership
Balances %
Ahmad 50,000 50%
Sameer 12,500 12.5%
Maher 25,000 25%
Kamel 12,500 12.50%
Total 100,000 100%

B. Assume Kamel wants to enter this company by Purchase of Interest. He agrees to buy 1/2 of
Sameer's share for $ 15,000, and 1/2 of Maher's share for S 15,000 For the partnership, the only
entry needed is to replace capitals.

Caaig e )Y 50 15000 i yrew das Caai ol pi e 385 BAAN ¢l Gaob oo AS,Al o2 J4da i Jals o (a5
5aY) sy i s sthaall wagll Jasal) ¢ 3818l 5Y 53 15000 dilie sale uas
The money will be paid to Sameer and Maher, and NOT to the company.
AS AN Gadd g salay pew () aliall ada
So,it does NOT matter how much, when or how. We only will deduct half of Sameer's capital and half of
Maher's capital, and record that for/Kamel.
RPN REI KIS v )QLAJW\JM}wjuwbq@laéé&‘aﬁ@_qﬁjfujéeﬁ‘x’ ¢ Sl
12,500
12,500

*Sameer's capital
Maher's capital

Kamel's Capital 25,000

Capital Balances Ownership %

Ahmad 50,000 50% Situation after JalS Jsda 2y pla gl
Sameer 12,500 12.5%
Maher 12,500 12.5%
Kamel 25,000 25.0%
Total 100,000 100%
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Ex2: By Investing Assets (usually cash), into the existing Partnership (company). Here the
total capitals (size of company) will increase. We have 3 cases here:
a3a) J1ga) (ugisy (Alan) 33 Jaw U (A8 ) daildl) AS) &l & ¢ (1080 Bale) Jgnal) Jlafiind (3aoh oo
(s CYla 3 Ll (4l
Capital Balances Ownership %

Ahmad 50,000 50%
Sameer 25,000 25%
Maher 25,000 25%

A. The New partner invests an amount exactly equal to the Capital (share) to be recoded for him in
the company.
A 8l Al sale ) il (Aanll) Jlall (ol )1 Ualad glose i Jlaiinly aaall ol 8l o 68 ; dlls J
e.g: if Kamel wants to enter this company, by investing $ 25,000 cash, and gets 20% ownership share

(capital).
TSl daa (40 720 e Jganll g 1385 Y g2 i 25 laiind (sl e AS5EN o3 Jgdn Jal& o)1) O Juw e

(I )
Total old capital= 100,000
Total New Capital=100,000 + 25,000 = 125,000
Share of Kamel= 25,000

Our Entry:

Cash 25,000
Kamel's Capital 25,000

Situation after JelS Jsda ey aagl) Capital Balances Ownership %
Ahmad 50,000 40%
Sameer 25,000 20.0%
Maher 25,000 20.0%
Kamel 25,000 20.0%
Total 125,000 100%

B- The New partner invests an amount MORE than the Capital (share) to be recoded for him in the
company.
AS5 (b 4 b Sake ) il (Ruall) Juall uly coa ST saieny apaal ey 500
Here the old partners take the advantage, and they get a bonus on their capitals (bonus to old partners).
(o2 1S il Bl8lSa) aglle (ol ) o slilSe e o shany 5 ¢ alall oS a1 s L
This bonus is added to old partners capitals, and is allocated between them according to their
Profit/Loss division Ratio.
B obed) /ol s Al 88 5 agin Lgnanadd alyg ¢ (calall) oS 580 JI el (a5 5 A LS 028 dilia) A
e.g: if Kamel wants to enter this company, by investing $ 25,000 cash, and gets only 10% ownership
share (capital).
AW das (e s 710 e J sl 5 1385 )Y 52 25000 Jlaiind 51yl oo ASE0 s3 Jsaa el a1 1)t Juan e

(I )
Assume profit/ loss division Ratio ( s_beall / = ) avudi) is Ahmad 40% : Samer 30% : Maher 30%
Total old capital=100,000
Total New Capital=100,000 + 25,000 = 125,000
Share of Kamel=10% * 125,000 = 12,500
Bonus to old partners= 25,000 — 12,500 = 12,500
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Ahmad Samer Maher
Allocated 40%*12,500 30%*12,500 30%*12,500

5000 3750 3750

Our Entry:

Cash 25,000

Kamel's Capital 12,500

Ahmad's capital 5,000

Sameer's capital 3,750

Maher's capital 3,750

Situation after JalS Jsia aay gl
Ownership %

Capital Balances
Ahmad 55,000
Sameer 28,750
Maher 28,750
Kamel 12,500
Total 125,000

C- The New partner invests an amount LESS than the Capital (share) to be recoded for him in the

company.

Profit/Loss division Ratio.

Bkl / e s Al 188 5 agins Lgnaniad 2y 5 el oS 58 Jle Gl ) (e 3LSA 020 auas 3

e.g.: if Kamel wants to enter this company, by investing $ 25,000 cash, and gets 40% ownership share

(capital).

(S ) Astal) duaa e 740 o Jgeandl g 1385 Y g0 Cill 25 jlaialy ASd) oda B Jgaall Jals 31 i 1) ;b
Assume profit/ loss division Ratio( 3l / 7 )l awssi) is Ahmad 40% : Samer 30% : Maher 30%

Total old capital=100,000

44.0%
23.0%
23.0%
10.0%
100%

ASal A Al Bale) Al (Aaadl) Jlall Gl (e JBT Adie apaad) &by ) et
Here the NEW partner takes the advantage, and he gets a bonus on his capitals (bonus to NEW partner).
(aad) el all i) dlle (Ll e slilSa e Jiany s ¢ aaadl ol il sty L
This bonus is deducted from old partners' capital and is s allocated between them according to their

Total New Capital=100,000 + 25,000 = 125,000
Share of Kamel=40% * 125,000 = 50,000

Bonus to New partners= 50,000 - 25,000 = 25,000

Ahmad Samer Maher
Allocated 40%%*25,000 30%*25,000 30%*25,000

10,000 7,500 7,500

Our Entry:

Cash 25,000

Ahmad's capital 10,000

Sameer's capital 7,500

Maher's capital 7,500

Kamel's Capital 50,000

ma () slua
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Situation after Jals Jsda a i gl)
Capital Balances Ownership %

Ahmad 40,000 32.0%
Sameer 17,500 14.0%
Maher 17,500 14.0%
Kamel 50,000 40.0%
Total 125,000 100%

Withdrawal of a Partner &b &l Gilad)
1- By Selling of Interest to an Existing Partner or Partners.  (sla #1855 ol b pal Laal) o

2- By Withdrawing Assets (usually cash), from the existing Partnership (company).
(As ) Aadlll) AS) i) ca (ke Apail)) Y pua) a3k 0

1- By Selling of Interest to an Existing Partner or Partners. Gl slS3& ol cly pil Lanl) &
This is considered a personal transaction. We only replace the shares (capitals) between the partners.
S i (58] o 555) ) S 1 (s Bgmit Aldlaa o0 i
It is NOT important how much will be paid, how it will be paid, or when it will be paid. The only entry
needed is to replace the shares sold and bought.
aens¥! Jlaciad g (osllaall da gl JLASY) 4xdy ali el ¢ 48 e CBS 1 ¢ 4ndd i 3 alaall laie agall (e
8 il g dc il
The size of the total capital (size of company: total assets). does NOT change
oAk el (Jsa¥) Alaa) (48,4 aaa) laa) Jlall (il a2

FOR EX:
Capital Balances Ownership %
Ahmad 50,000 50%
Sameer 25,000 25%
Maher 25,000 25%
Total capital 100,000 100%

A. Assume Maher wants to Exit this company by Selling of Interest. He agrees to sell his share to
Ahmad for $ 30,000
ali BO&mMYM@Jé&dﬂ‘ﬁ _Bﬁm\@g&kwﬁﬂ\ohd}‘\c}ﬂ\ J:\Jgﬁuoiu'a)ﬂé\
For the partnership, the only entry needed is to replace capitals. The money will be paid to Maher by
Ahmad personally, and NOT to the company.
AS A Gl Gimid ale Y aluall denl g | ) gadl) 535 Jlasind 58 Cosllaal) ym gl J2nll ¢ AS) 80 Rl
So,it does NOT matter how much, when or how. We only will cancel Maher's capital and record it for
Ahmad m'&dmjﬁéﬁujﬁwb@&u_qﬁshg”seﬁ‘y‘ﬂm

** Maher's capital 25,000
Ahmad's capital 25,000
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Situation after _Ala z s A i pagl)
Capital Balances Ownership %

Ahmad 75,000 75%
Sameer 25,000 25.0%
Total 100,000 100%

B. Assume Maher wants to Exit this company by Selling of Interest. He agrees to sell his share to his
friend Ali, for $ 40,000. The partners agree to accept Ali.

S Al 38 g, Y g0 all 40 Jilie e abaal diias an o @) g 33w 3580 038 (s AN & ale o (il

ole s e

=% For the partnership, the only entry needed is to replace capitals. The money will be paid to Maher
from Ali personally, and NOT from the company.
A e s Lamit e n ale 1) OLl g i g8l g3y i) 3o sllnaliaga ) (23811 ¢ 380 5 el
=% So,it does NOT matter how much, when or how. We only will cancel Maher's capital, and record that
for Al il elld Jai s ale Jla (al y et aliss (S e oS agy Y ¢ Glld

** Maher's capital 25,000
Ali's capital 25,000

Situation after JAls z A i puagl)

Capital Balances Ownership %
Ahmad 50,000 50%
Sameer 25,000 25.0%
Ali 25,000 25.0%
Total 100,000 100%

2- By Withdrawing Assets (usually cash), from the existing Partnership (company).
(As ) Aadlll) AS) &) (o (ke Aa8il)) I pua¥) G (B sk 0
Here the total capitals (size of company) will Decrease. (&S,&l) aaa) J)ga¥) (ugsy (Aan) Gadiiu Ua
We have 3 cases here: Ua <ila 3 Ll
A- Thelleavingpartner withdraws (is paid) an amount exactly equal to the his Capital (share) in
the company.
AS Al A (dpal) Adle il ) Ll G glesa il (b)) Jall) el pdd) Gy
B- The Leaving partner is paid (withdraws) an amount Less than his Capital (share) in the
company.
Al B (Apal) Al il oo JB e (@) Jal 1 dl il ady
C- The Leaving partner withdraws (is paid) an amount MORE than the his Capital (share) in the
company.
AS ) (B (damal) Adla il a0 SST (8 sBa) e o) 1) el i) Al )3)
A- The leaving partner withdraws (is paid) an amount exactly equal to the his Capital (share) in the
company.
AS ) (g (Al e Gl Labad T glosa idaa (2By) Jal ) el pd) qunnsy
e.g: if Maher wants to leave (exit) this company, by withdrawing $ 25,000 cash, which is equal to his
capital exactly.
Jasally Al Gl ) dolay e g5 ¢ 138 Y 53 25000 s ¢ 4S80 038 e (z 5 AN) dis i ale ol 1 13) 1t
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Total old capital= 100,000
Total New Capital= 100,000 — 25,000 = 75,000

Our Entry:
Mabher's capital 25,000
Cash 25,000
Situation after Al g g3 2 ga gl
Capital Balances Ownership %

Ahmad 50,000 66.67%
Sameer 25,000 33.33%
Total 75,000 100%

B- The Leaving partner is paid (withdraws) an amount Less than his Capital (share).inthe company.
A A B (dpal) dle alhoe Ji fia () o)) el pdll adyy
» Here the old partners take the advantage, and they get a bonus on their capitals (bonus to
remaining partners).
(Ciial oS il lElSa) agdlsal uss )y o 3liSa e g shaany 5 ¢ aladll oIS Al iy L
» This bonus is added to remaining partners capitals, and is allocated between them according to
their Profit/Loss division Ratio (without the leaving partner).
Sy 0 ¢y 534) 5t/ g s ] Ui 5 gy Lgnmiiinid iy 5 ¢ Agiial) oS00 1 sl (30555 () SIS o3 AbLn) o5
_(Jauud\
e.g.: if Maher wants to Leave this company, by withdrawing (accepting to be paid) only $
20,000 cash for his share
daa Jilia 1385 Y 93 20000 da8d (ada) J58) ia Bk e ¢ AS AN 038 & 5 jala 3113 1 OGRl Jas Ao
Assume profit/ loss division Ratio(s el / z )l s 4asi) is A 40% : S 40% : M 20%
Total old capital= 100,000
Total New Capital= 100,000 — 20,000 = 80,000

A S
Bonus to remaining partners= 25000 -20,000=5,000 Allocated  (4/8)*5,000 (4/8)*5,000
2,500 2,500
Our Entry:
Maher's capital 25,000
Cash 20,000
Ahmad's capital 2,500
Sameer's capital 2,500

Situation after Al g g ud i aa gl
Capital Balances  Ownership %

Ahmad 52,500 65.63%
Sameer 27,500 34.37%
Total 80,000 100%

C- he Leaving partner withdraws (is paid) an amount MORE than the his Capital (share) in the

company.
A B (Aapeal) Alla Gl on ST (8580 i ALY ) o6 13
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Here the Leaving partner takes the advantage, and he gets a bonus on his capital (bonus to Leaving
partner).
&l JE) dass (e (ol el il slilsa) alle (ol e slilse e doany s ¢ Jal el il ading U
This bonus is deducted from old partners capital and is s allocated between them according to their
Profit/Loss division Ratio (without the leaving partner).
(036l el AN (5 5a) 3Ll [ e ) anai Al 188 5 agin Lpanads iy g aladll o1 53l Jle (il ) (e BLISA 038 aad oy

e.g.: if Maher wants to Leave (Exit) this company, by withdrawing (being paid) $ 35,000 cash,
for his share (capital).
Jilia ¢ 138 Y 93 35000 (28) G ik (8 < ASAl a3 e (FsAd) 5 sake A1) 1A Juu e
(Jw u.uiJ) Alaa
Assume profit/ loss division Ratio(s_budll [zl s 40i) is A 40% : S 40% : M 20%

Total old capital= 100,000
Total New Capital= 100,000 — 35,000 = 65,000 A S
Allocated (4/8)*10,000 (4/8)*10,000
Bonus to leaving partners= 35,000 -25,000=10,000 5 000 5 000
Our Entry:
Maher's capital 25,000
Ahmad's capital 5,000
Sameer's capital 5,000
Cash 35,000
Situation after Al g g3 3 a2l
Capital Balances Ownership %

Ahmad 45,000 69.23%

Sameer 20,000 30.77%

Total 65,000 100%

4. Liquidation of a-Partnership AS) pdd) dpdal

Liquidation of a Partnership 4SI_ &l Ldas
Ends both the legal and economic life of the entity. LOLST Al ¢ Ay il shad) e
To liquidate, it is necessary to: syl (e ¢« AS) il Lbuail
1. Sell noncash assets for cash and recognize a gain or loss on realization.
Giadl die leal) ol Sl Gl yie Y siil) Jilie 08 e J e a
2. Allocate gain/loss on realization to the partners based on their income ratios.
i o Gl e 1S Al Liias die 5 jludll [/ )l Ganads
Pay partnership liabilities in cash. Jags AS) 8 el il ada
4. Distribute remaining cash to partners on the basis of their capital balances.
Al sa) Gugly Bl pulad e oSO8 e i) sl a5

w
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T O 5 (oS g S ) Anduart e Afia) Ml
1) No Capital Deficiency Jual (uly (B el 2a g Y (6
2) Capital Deficiency Juall gl y (B ali agag i B

Ex: Ace Company is liquidated when its ledger shows the following assets, liabilities, and
owners’ equity accounts.
Gsda clibua g cilal 5N g J g Ly paldd) cdlalaal) jia ,els) Laric Ace 48 b dpiaal oty 1Jla) Juw o
LAl Astal)
Capital Deficiency =252 JAl £ 8 33 519 / No Capital Deficiency osbal £ JUall 3 2l alaw 1 Aadla

Assets Liabilities

Cash 5,000 Notes Payable 15,000

Accounts receivable 15,000 Accounts Payable 16,000

Inventory 18000

Equipment 35,000 Partners' Capitals:

Accumulated Depreciation (Equipment) -8,000 Aren't Capital 15,000
Carey Capital 17,800
Eaton Capital 1,200

Total Assets 65,000 Total Liabilities and Partners' Capitals 65,000

Required < sihall

The partners of Ace Company agree to liquidate the partnership on the following terms:
Al T, 381,80 s e Ace 4855 £S5 Gl
- The partnership will sell its noncash assets to Jackson Enterprises for $75,000 cash.
J3ES Y93 75000 J:ia Jackson () kil e L el AS) A aia
- Profit and loss Sharing Ratio( 1S &) ¢ 8 luddl i gl sl &ai) 1 A (3) : C(2) 1 E (1)
3/6 :2/6 :1/6

G98 (A @l ghdl) Cua NI99(AY slgs gl Jad Uty (S Ary g 1 AS) ) dpdias

1. Sell noncash assets for cash and recognize a gain or loss on realization.
Ganl) die Jiladl) i CealSally Gl oY) g 81 Qe LY e J gua) A

Ace sells the noncash assets (accounts receivable, inventory, and equipment) for $75,000. The book
value of these assets is $60,000 ($15,000 + $18,000 + $35,000 - $8,000).
60000 & Jsa¥loded 4y jisall dagdll | )Y 53 75000 Sikie (Slanall 5 o5 33l 5 Aaall aadll) dp081) je J sl Ace gai
L 15,0008 sy cha ay) | ((2S) R DY) ,Y 52 8000 - LY 52 35000 + LY 52 18000 + LY 52 15000) LY 50
(15,000 =5 = e aaliny ) deiill 75,000 — 60,000 5lall Caes J gaa¥) Ga Gulasl e anling

Prepare the entry to record the sale of the noncash assets. .41 & Jga¥) an Jaaud! JUAY) dasly 28

Cash 75,000
Accumulated Depreciation 8,000
Accounts Receivable 15,000
Inventory 18,000
Equipment 35,000
Gain on Realization 15,000
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2. Allocate gain/loss on realization to the partners based on their income ratios.
(G ) Jh sl Cilidara ) aglin s alil e oIS 5l Lias die 5 il / i) panads

Gain on realization 15,000

R. Arnet, Capital (515,000 x 3/6) 7,500

P. Carey, Capital ($15,000 x 2/6) 5,000

W. Eaton, Capital ($15,000 x 1/6) 2,500
3. Pay partnership liabilities in cash. A8 AS) i) ) Jl) ada
Notes Payable 15,000
Accounts Payable 16,000

Cash 31,000

4. Distribute remaining cash to partners on the basis of their capital balances.
_?éJ\jA‘ 9y da ) (ulal e o853 e @.C\.d\ i) &S

R. Arnet, Capital 22,500
P. Carey, Capital 22,800
W. Eaton, Capital 3,700
Cash 49,000

&1 S (5 gmaia Ly U (il (9 phLiy g ) Blalaal) 38 ol Jgan (sigmai Lin (iny) cBlabaal) (ol Lia () 3
Jgi> ss~is cash payments schedule Jad 4dalas JS (5 guda ) ( Debit & Credit) (e 9 (HI9 aglipuiag silad
Oy Hhal) Cilauda ga Aldall dadially ¢ 4081 cile gdaal)

Cash AR Equipment Inventory Accum. Depreciation | Notes Payable
Dr_| CR por | CR Dr_| CR Dr_| CR Dr | CR br | CR
5000 15,000 35,000 18,000 8,000 e
73000 ' 8,000 '
31,000 15,000 35,000 18,000 '0 5 15,000
BAL 49,000 0 0 0 0 0 0 0 0
49,000
0 0
Accounts Payable[Gain on Sale on Non cash assets| Arnet Capital Eaton Capital Carey Capital
Dr | CR Dr | CR Dr CR Dr | CR Dr_| CR
HERLL 15,000 15,000 1,200 17,800
16,000 1520, 7,500 2,500 5,000
0 0 0 22.500 BAL 3,700 Bal 22800 22,800 Bal
22,500 3,700 . 5
0 0 0 0

A (g5 Al e ghaall Jgan (g paula )
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ACE COMPANY
Schedule of Cash Payments
Noncash R. Arnet, P. Carey, W. Eaton,
Item Cash + Assets = Liabilites + Capital + Capital + Capital
Balances before liquidation 5,000 + 60,000 = 31,000 + 15,000 + 17,800 + 1,200
Sale of noncash assets
and allocation of gain (1)&(2) 75,000 + (60,000) = 7,500 + 5,000 + 2,500
New balances 80,000 + == = 31,000 + 22,500 + 22,800 + 3,700
Pay liabilities (3) (31,000) = (31,000)
New balances 49,000 + -0- = —0— + 22,500 + 22,800 + 3,700
Cash distribution to
partners (4)  (49,000) = (22,500) + (22,800) + (3,700)
Final balances == == == == == ==

Capital Deficiency Jull gl (8 gali s B Goa (Slg (G6d N JUal i
Ex2 : Ace Company is on the brink of bankruptcy. They sell merchandise at substantial discounts, and
sell the equipment at auction. Cash proceeds from these sales and coellections,from customers totals
$42,000.
Glaaall s38 (e dpasal) Calailall f Jall & Cilamall G smam g ¢ B S Gle iy filbiadlgenan G08Y) iy e Ace 4S )4
¥ 5242000 Wlbes] iy 5L 5 (e Sasll
Note: Profit and loss Sharing Ratio ( $S&) (i 8 bedd) gl gyl acd® ) 1 A (3): C (2) 1 E (1)

3/6 :2/6 :1/6
Assets Liabilities
Cash 5,000 Notes Payable 15,000
Accounts receivable 15,000 Accounts Payable 16,000
Inventory 18000
Equipment 35,000 Partners' Capitals:
Accumulated Depreciation (Equipment) -8,000 Arnet Capital 15,000
Carey Capital 17,800
Eaton Capital 1,200
Total Assets 65,000 Total Liabilities and Partners' Capitals 65,000

¢ el i) e Jad) Gl g JUal) (s
1. Sell noncash assets for cash and recognize a gain or loss on realization.
Geanl) Mo Jiludl) o CualSally Gl oY) g i) Qe LY e J pa) A

Ace sells the noncash assets (accounts receivable, inventory, and equipment) for $75,000. The book
value of these assets is $60,000 ($15,000 + $18,000 + $35,000 - $8,000).
60000 & Jsal) s3¢d 4y yiball Lasill | )Y 53 42000 Silia (Dlanall s o5 33l 5 Al aedll) i)y Jsal) Ace aud
Ll 18,0008 Umd cha Jay) (oSl Bleinyl) ,¥ 52 8000 - LY 52 35000 + LY 52 18000 + LY 52 15000) LY 50
(18,000 5l = Lgsd aaliny ) daill 42,000 — 60,000 5 Caves J sl A ulasl e adling

Prepare the entry for the realization of noncash assets. Apaadl) e Jga) (@lanl JANY) e
Cash 42,000
Accumulated Depreciation 8,000
Loss on Realization(s_lss) 18,000

Accounts Receivable 15,000

Inventory 18,000

Equipment 35,000
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2. Allocate gain/loss on realization to the partners based on their income ratios.
(G ) Jh sl ilidara cun) aglin i el e oIS 0 Lias vie 5 jludd) / ol (anads

R. Arnet, Capital (518,000 x 3/6) 9,000
P. Carey, Capital (518,000 x 2/6) 6,000
W. Eaton, Capital ($18,000 x 1/6) 3,000
Loss on realization 18,000

3. Pay partnership liabilities in cash. RS AS) ) calal 3 éém
Notes Payable 15,000
Accounts Payable 16,000
Cash 31,000

4. Distribute remaining cash to partners on the basis of their capital balances.
o sal a9y Bl ol e oS8 e el sl a5 53
Now, we have a capital deficiency situation in Eaton's capital (debit balance)
Eaton's Jw u.ub Q’A JL u.ub e s Luﬂ ¢ Q(ﬁ\

If he pays back the company 4s_&ll ada 13

Cash 1,800
W. Eaton, Capital 1,800

R. Arnet, Capital 6,000
P. Carey, Capital 11,800
Cash 17,800

If he does not pay back the company ( Jas 4l s el il ¢pa o) axe dlla)
Al A e el desd G A G 8l deaty "JB) Jis e gme (8" 283 50 e Eaton s I pa Y el Al ey
Daall paud (8 AS) all dAgly 8 Lgle st IS )

R. Arnet, Capital 1,080
P. Carey, Capital 720
W. Eaton, Capital 1,800
R. Arnet, Capital 4,920
P. Carey, Capital 11,080
Cash 16,000
|Pagel8
T ITS-HUB.com Uploaded By anonymous



https://students-hub.com

CH12 - ACCT230 ol
ma () slua
AIR Cash Inventory Equipment Notes Payable | Accum. Depreciation
Dr CR Dr CR Dr CR Dr CR Dr CR Dr CR
15,000 5,000 18,000 35,000 15,000 8,000
15,000 42,000 18,000 35,000 15,000 8,000 |
0 0 31,000 o | o 0 0 0 0 o 10
Bal 16,000
1,800
Bal 17,800
17.800
Accounts Payable | Loss on Sale of Assetq Arnet Capital Carey Capital Eaton Capital
Dr CR Dr CR —Dbr | CR_ _Dr | CR Dr CR
15,000 17,800 1,200
16,000 18,000 9,000 6,000 3,000
16,000 18,000 6,000 BAL 11,800 BaffAL 1.800
0 0 _6.000001 11,800 1,800
0 0 . . 5 0 0 0
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Q1. Circle the correct answer
1. All of the following are characteristics of partnerships except:
a. co-ownership of property.
b. mutual agency.
c. limited life.
d. limited liability.
2. When a partner invests noncash assets in a partnership, the assets should be recorded at their:
a. bookvalue.
b. carrying value.

c. fair market value or agreed upon value
d. original cost.

3. Legal entity, accounting entity, and Net income not taxed as a separate entity is the:
a) Association of Individuals
b) Mutual Agency
c) Limited Life
d) Unlimited Liability

4. As long as the act appears to be appropriate for the partnership, the law of any partner is
binding on all other partners. This statement applies to:
a) Association of Individuals
b) Mutual Agency
c) Limited Life
d) Unlimited Liability
5. Should specify relationships among the partners:
a) Association of Individuals
b) Mutual Agency
c) Partnership Agreement
d) Unlimited Liability

6. Which of the following statements is correct?
a) Salaries to partners and interest on partners' capital are expenses of the partnership.
b) Salaries to partners are an expense of the partnership but not interest on partners'
capital.
c) Interest on partners' capital are expenses of the partnership but not salaries to partners.
d) Neither salaries to partners nor interest on partners' capital are expenses of the
partnership.

7. The first step in the liquidation of a partnership is to:
a) allocate gain/loss on realization to the partners.
b) distribute remaining cash to partners.
c) pay partnership liabilities.
d) sell noncash assets and recognize a gain or loss on realization.
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8. If a partner with a capital deficiency is unable to pay the amount owed to the partnership, the
deficiency is allocated to the partners with credit balances:
a) equally.
b) on the basis of their income ratios.
c) on the basis of their capital balances.
d) on the basis of their original investments.
9. Dividing Net Income or Net Loss meaning:
a) Partners equally share net income unless the partnership contract indicates otherwise.
b) Partners non-equally share net income or net loss less the partnership contract indicates
otherwise.
c) Partners equally share net income or net loss unless the partnership contract indicates
otherwise.
d) Partners equally share net loss unless the partnership contract indicates otherwise.
10. Steps Closing Entries arranging:
a) Close each partners Drawing, close all Revenue and Expense, Close Income Summary.
b) Close all Revenue and Expense, Close Income Summary, Close each partners Drawing.
c) Close Income Summary, close all Revenue and Expense, Close each partners Drawing.
d) Close each partners Drawing, Close Income Summary, close all Revenue and Expense.
11. Typical income ratios:
a) Fixed ratio.
b) Ratio based on capital balances.
c) Salaries to partners and remainder on a fixed ratio.
d) All answers are correct
12. For The Leaving partner is paid (withdraws) an amount Less than his Capital (share) in the
company.
a) Here the New partners take the advantage, and they get a bonus on their capitals (bonus to
remaining partners).
b) Here the New partners & old partners not take the advantage.
c) Here the old partners take the advantage, and they get a bonus on their capitals (bonus to
remaining partners).
d) All answers are correct
13. To liquidate, it is necessary to:
a) Non-Sell noncash assets for cash and recognize a gain or loss on realization.
b) Allocate loss on realization to the partners based on their fixed ratios.
c) Pay partnership gain in cash.
d) Distribute remaining cash to partners on the basis of their gain or loss.
e) All answers are incorrect
14. Assume Ali wants to Exit this company by Selling of Interest. He agrees to sell his share to Amir
for $ 5,000
a) We only will cancel Amir's capital and record it for Ali
b) We only will cancel Amir's capital and record it for company
c) We only will cancel Ali's capital and record it for Amir
d) We only will cancel Ali's capital and record it for company
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Q 2: Diyaa and Mohammed combine their ownership to start a partnership in the name of
accountants. Diyaa and Mohammed owned the following assets before forming the

partnership.
ASI A s g ) J ga) daaa g sl dliag | ¢ galaall andy 481 5 s LagiSla ( (laady daaa g sluda 1) gm

Cash 10000 11000 10000 11000

Equipment 3200 2000

Accumulated depreciation _equipment (1000)

Accounts receivable 3000 3000

Allowance of doubtful accounts (500) (800)
Required:

1. Prepare the entry to record the investment of Diyaa.

slaa Hlafin) Jaandl JRaY) dlacly A8
2. Prepare the entry to record the investment of Mohammed.

daaa Ll Jadl JAay) slacls 8

Answer:

1. Prepare the entry to record the investment of Diyaa.

slaa Hladiul Jaandl JAaY) dlacly o8

Investment of Diyaa

Cash 10,000
Equipment 2,000
Diyaa, capital 12,000

(To record investment of Diyaa)

2. Prepare the entry to record the investment of Mohammed.
daaa il Jaaaal JAay) dlaely 8
Investment of Mohammed

Cash 11,000

Accounts receivable 3000
Allowance of doubtful accounts 800
Mohammed, capital 13,200

(To record investment of Mohammed)

JA) (b (B iy sthaall o JLAY gan oy
® Cash 21,000
® A/R 3,000
® Equipment 2,000
® Allowance for Doubtful Accounts 800

® Diyaa capital 12,000
® Mohammed capital 13,200
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Q 3: Anas, Ahmad and Ali combine their ownership to start a partnership in the name of
free. Anas, Ahmad and Ali owned the following assets before forming the partnership.

8 ) J pal) Ao g daal g il elliag | ) aY) anly 4S) 53 o) LegiSle (pm laany (Ao g 2aal g gl 11 5
:\S\Jaﬂ\ JSd

Cash 50000 55000 | 30000 50000 55000 30000
Equipment 12000 9000
Accumulated depreciation _equipment | (6000)
Supplies "ajlsll" 2500 3000
Accounts receivable 14000 14000
Allowance of doubtful accounts (6000) (8000)

Required:

Prepare the entry to record the investment of Anas, Ahmad and Ali Separately or together.

Separately Jwaiia JS

Investment of Anas

Cash 50,000
Equipment 9,000
Anas, capital 59,000

(To record investment of Anas)

Investment of Ahmad
dana il Jaaaal JAaY) dlaely 8

Cash 55,000

Accounts receivable 14,000
Allowance of doubtful accounts 8,000
Ahmad, capital 61,000

(To record investment of Ahmad)

Investment of Ali
Cash 30,000
Supplies 3,000
Ali, capital 33,000
(To record investment of Ali)

Together e ageiany pa

® Cash 135,000
® A/R 14,000
® Equipment 9,000
® Supplies 3,000
® Allowance for Doubtful Accounts 8,000
® Anas capital 59,000
® Ahmad capital 61,000
® Ali capital 33,000
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QA4: For National Co., beginning capital balances on January 1, 2017, are Nancy Payne 20,000$ and Ann
Dody $18,000. During the year, drawings were Payne $8,000 and Dody $5,000. Net income was $40,000,
and the partners share income equally.
Ann Dody 5 )Y s> Nancy Payne 20.000 - « 2017 i 1 &) &l & Jlal Gl ) s )i cailSe ik ) 4 ,.80)
<all 40 Jad) Lila &l ¥ 535000 Ann Dody s LY 52 8000 Nancy Payne <l saw S ¢ alall J3A Y 5018.000
Ll JAal) elS Al anliiyg ¢ Y oo
Required: < siball

(a) Prepare the partners’ capital statement for the year. Al p1S ) Jla gl Gl dae)
National co Partnership
Statement of Partners’ Capital
For the year Ended Dec31, 2017
Nancy | Ann Total

Beginning capitals (1-1-2017) 20,000 | 18,000 38,000
Add:
Additional Investments 0 0 0
Share of Net income 20,000 | 20,000 40,000
Subtotal 40,000 | 38,000 78,000
Less:
Partners Drawings 8,000 5,000 13,000
Ending Capital (31-12-2017) 32,000 | 33,000 65,000

Q5 : K. Decker, S. Rosen, and E. Toso are forming a partnership. Decker is transferring $50,000 of
personal cash to the partnership. Rosen owns land worth $15,000 and a small building worth $80,000,
which she transfers to the partnership. Tosoitransfers to the partnership cash of $9,000, accounts
receivable of $32,000, and equipment worth $39,000. The partnership expects to collect $29,000 of the
accounts receivable.
dlic 4818l J) dpasill JIse¥) g Y 52 50000 Jissis S a5 ASId (S E. Toso 5 S. Rosen s K. Decker a &
9000 alie Ui 523 TOSO p s ASI N ) Led st Al g ¢ Y 90 all 80 daly e Sises 5 52 15000 A U i (555
55 S0 sel Y 52 39000 Aashy ilana s ¢ Si el HY 53 32000 dlaes Lipaall wedll 5 ¢ Lpaill 48530 1) S pel Y 50
Al aedl e )Y 52 29000 pea ASIA

CF 3L A 3,0008 A Lixd ()5 ai 29,0008 pgia paxi L) ddgie $32,000 (8 5ks Al aalll Us (sa 1 daadl)
(Wloans A & g (Q29) 9 Adsda aad
Required: < slhaall
(a) Prepare the journalentries to record each of the partners’ investments.
SUAN (e IS @l el Jaad! Ara gl yida cVAY) dasly A8

(b) What amount would be reported as total owners’ equity immediately after the investments
ity day B pdilea cpaSilal) 48ta (g gia Alaa) o liely Abiand b o dl) dluall

(A) Prepare the journal entries to record each of the partners’ investments.
S OAN G IS e ot e gl siBa cYAY) dlacly a8
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Separately Jwaiia Jsiy
Investment of Decke's
Cash 50,000
Decke's Capital 50,000
Investment of Rosen's
Land 15,000
Building 80,000
Rosen's Capital 95,000
Investment of Toso's
Cash 9,000
Accounts Receivable 32,000
Equipment 39,000
Allowance for doubtful accounts 3,000
Toso's capital 77,000
Together yaxd) agzans a
Cash 59000
Land 15000
Building 80000
A/R 32000
Equipment 39000
A.F.D.A 3000
Deckers capital 50000
Rosen capital 95000
Toso capital 77000
Balance Sheet
Assets:
Cash 59,000
Accounts Receivable 32,000
Less: Allowance for D. A -3,000
Land 15,000 Owners's Equity (partners' capitals):
Building 80,000 Decker's Capital 50,000
Equipment 39,000 Rosen's capital 95,000
Toso's capital 77,000
Total Assets 222,000 Total Owners' Equity 222,000
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Answer:
(1)$50,000
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a. $50,000 and (2) $36,000

Division of Net Income table Jadl Ala awdi Jgaa

Journalize the allocation of net income in each of the situations above.
"ollall SIS Jasi Ui Jimy " oDlef 5 sS0al) c¥all e Alla S 3 Jaal) dla janads (50

ma () slua

Q6: McGill and Smyth have capital balances on January 1 of $50,000 and $40,000, respectively. The
partnership income-sharing agreement provides for (1) annual salaries of $22,000 for McGill and
$13,000 for Smyth, (2) interest at 10% on beginning capital balances, and (3) remaining income or loss
to be shared 60% by McGill and 40% by Smyth.

A e gl e 5¥5240.000 5 Y52 50.000 i il (e J Y1 & Allad  30a 5l Smyth s McGill s
Smyth J Sl ¥ 52 13000 5 McGill J (Saal 5 52 22000 W a8 4 s il 55 (1) e Jaall 84S jLaall 4S) 4l
Ao 53 760 Aty Lol Cpmy S5 jled) ol Adiall J2al) (3) 5 ¢ sV Ol Gl ) Baa )i e 710 Ay 32316 (2)
Lues (3 240 5 McGill

1. Prepare a schedule showing the distribution of net income, assuming netincome is
s Jaall il o Gl g ¢ Jadll s g5 e san dlaely

McGill Smyth, Total
Income to be distributed 425 31 _sall JAA) 50,000
salaries to partners sl dll Gblgy 22,000 13,000 -35,000
remaining after salaries ) gl axy Aial) 15,000
Interest to partners slS &l a8 5000 4000 -9,000
Remaining after Interest Sl day Asial) 6,000
Divided in a fixed ratio 4%\ 4wl o 4auda 3,600 2,400 -6,000
Share of each partner &y yd JS s 30,600 19,400 O
Income summary account 50,000
Mcgail Capital 30,600
Symth Capital 19,400
(2) $36,000
Division of Net Income table Jadl 8la sl Jgaa
McGill Smyth  Total
Income to be distributed 425 3 _all JAA) 36,000
salaries to partners £l Al il g 22,000 13,000 -35,000
remaining after salaries il g ) amy Aial) 1,000
Interest to partners LS il saild 5000 4000 -9,000
Remaining after Interest Saildl) amy Aial) -8,000
Divided in a fixed ratio A4t 4 o dacda -4,800 3,200  ((8000))
Share of each partner &l JS daa 22,200 13,800 O
Income summary account 36,000
Mcgail Capital 22,200
Symth Capital 13,800
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Q7: At the end of its first year of operations on December 31, 2017, NBS Company’s accounts show the

following.
sl Lo NBS 4S5 cililua el ¢ 2017 Lsessd 31 (& lhilaall (e 1 40l Al 4

Partner Drawings Capital
Art Niensted $23,000 $48,000
Greg Bolen 14,000 30,000
Krista Sayler 10,000 25,000

The capital balance represents each partner’s initial (beginning) capital investment. Therefore, net
income or net loss for 2017 has not been closed to the partners’ capital accounts.
2 2017 plad 3 jdll ila o Jaall Jila (33le) by ol ¢ ) el 5 S (Y1) (V) L) Jlal (ul 5 apa ;) Jiag
Al dalal) JW) Gl clibes

Required: < siaall

(a) Journalize the entry to record the division of net income for the year 2017 under each of

the following independent assumptions.
Ao Aieal) bl j3Y) ¢ JS €ali 2017 abad JAa Ala dacd Jaad! JUASY) o giiy o8

(1) Net income is $30,000. Income is shared 6:3:1.
1236 daall aulsi 4y Y 0 all 30 s Jad il

(2) Netincome is $40,000. Niensted and Bolen ‘are given salary allowances of $15,000 and
$10,000, respectively. The remainder is shared equally.
Sl e 5¥ 5310000 5 Y52 15000 W8 sl shddBolen s Niensted zia: . oY 52 40.000 s Jaall ila
(sl BL audss S

(3) Netincome is $19,000. Each partneris allowed interest of 10% on beginning capital balances.
Niensted is given a $15,000 salary allowance. The remainder is shared equally.
15000 5% il Ju Niensted, ziad . Js¥! Jlall (ol ) 32 )i Ao 710 3238 @by i JS) mansy . ¥ 52 19000 Jal ila
sl (AL A& a3y Y 6o

Answer : (A)
1-
Shares are as follows: Art: (60%* 30,000) = 18,000
Greg: (30%*30,000) = 9,000
Krista: (10%* 30,000) = 3,000
Our Entry:
Income Summary account 30,000
Art capital 18,000
Greg capital 9,000
Krista capital 3,000
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Division of Net Income table Jaall Ala sl Jgia
N B S Total
Income to be distributed 4255 3 jal) JaA 40,000
salaries to partners sl il dlgy 15,000 10,000 O -25,000
remaining after salaries <l gl s Adal) 15,000
Divided Equally ¢ Sl danida 5,000 5,000 5,000 -15,000
Share of each partner & JSdas 20,000 15,000 5,000 0
Income Summary account 40,000
Art capital 20,000
Greg capital 15,000
Krista capital 5,000
3_
Division of Net Income table Jaall Ala i Jgaa
N B S Total
Income to be distributed Ay g A pal) JAN) 19,000
Interest on beginning capitals (10%) saldll 4,800 3,000 2500 -10300
remaining after Interest Sl day Adial) 8,700
salaries to partners sl Qilgy, 15,000 0 0 -15,000
remaining after salaries Gl gl dmy Adial) -6,300
Divided equally between partners sl 2100 -2100 -2100 ((6,300))
Share of each partner & d JSdaa 17,700 900 400 0

Income Summary account 19,000

Q8 : Suzy Vopat has owned and operated a proprietorship for several years. On January 1, she decides
to terminate this business and'become a partner in the firm of Vopat and Sigma. Vopat’s investment in
the partnership consists of $12,000 in cash, and the following assets of the proprietorship: accounts
receivable $14,000 less allowance for doubtful accounts of $2,000, and equipment $30,000 less
accumulated depreciation of $4,000. It is agreed that the allowance for doubtful accounts should be

Art capital 17,700
Greg capital 900
Krista capital 400

$3,000 for the partnership. The fair value of the equipment is $23,500.

A0 A8 st ol Jaal) 1B el ) 8 ¢ (L) (U 5SS 1 g Baal W a5 25k Suzy Vopat ellia
Y50 14000 Al aedl) :ASlalt 400l (gl g ¢ 1355 5V 50 12000 e 4S) 33 & Vopat Jleiind ¢ sS4 Sigma&Vopat
AL AS1 jial) DY) g L g sha Y 5o Call 30 clanalls ¢ Y 53 2000 Lelsani b o sl cililall Ju Lgda 1 g sha
Lalal) dagdl) A il Y 53 3000 s o o Lelian 8 o Sl bl Gavada of aile Giiall 0e Y 52 4000

Required: <sikall

Journalize Vopat’s admission to the firm of Vopat and Sigma

Vopat and Sigma 454 4 Vopat's Js# ¢

DY

23500 lasall
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debit credit
Cash 12000
Accounts receivable 14000
Equipment 23500
Allowance for doubtful accounts 3000
Vopat capital 46500

Q9 : At April 30, partners’ capital balances in PDL Company are G. Donley $52,000, C. Lamar $48,000,
and J. Pinkston $18,000. The income sharing ratios are 5:4:1, respectively. On May 1, the PDLT Company
is formed by admitting J. Terrell to the firm as a partner.
G. Donley $52,000, C. Lamar $48,000,s4 PDL A4S & 3 ¢\S 5l Juo Gl ) 3avajf calS ¢ 5l 30 4
Js8 ik oe PDLT 4S5 JiS a3 ¢ sila 0o J Y 8 . A sill e 1 :4 15 oo Jaa) aul& s ), Pinkston $18,000
Sl S A8, i), Terrell
Required: < skl
(A) Journalize the admission of Terrell under each of the following independent assumptions.
Al AlEial) clia) S8 e JS Cal Terrell Jo Jaw
(1) Terrell purchases 50% of Pinkston’s ownership interest by paying Pinkston $16,000
Pinkstoncs) sSi =l LY 52 16000 aé Pinkston 48k das (e Terrell 507 48 & < jidl
(2) Terrell purchases 33.3% of Lamar’s ownership interest by paying Lamar $15,000
LamarisS il ¥ 52 15000 i ada Lamar 48k 4as o Terrell 33,37 & il
(3) Terrell invests $62,000 for a 30% ownership interest, and bonuses are given to the old partners.
oLl 18 Al lalSa e Qi g ¢ AL s (a7 30 Jilia 15Y 50 62000 il Terrell i
(4) Terrell invests $42,000 for a 30% ownership interest, which includes a bonus to the new partner.
aall el 3l et Al g ¢ AL das e 7 30 Jilie U jal 1Y 53 42000 ale Terrell sains

Answer:

(1) Terrell purchases 50% of Pinkston’s ownership interest by paying Pinkston $16,000
Pinkstoncs)) sSi <l LY 53 16000 ad Pinkston 48k das (1 Terrell 507 4S & < jidl
Pinkston Capital 9,000
Terrel capital 9,000

(2) Terrell purchases 33.3% of Lamar’s ownership interest by paying Lamar $15,000
Lamaris il )Y 50 15000 g ady Lamar 48k as (e Terrell 33.3 7 il
Lamar capital 16,000
Terrell capital 16,000

(3) Terrell invests $62,000 for a 30% ownership interest, and bonuses are given to the old partners.
el oIS AL ClESa e ol g ¢ ASLall das (10 7 30 e 1Y 52 62000 i Terrell o

New capital= old cappital + 62,000= 118,000+ 62,000= 180,000

Share given to Terrell=30% X 180,000 = 54,00

Bonus to old partners= 62,000 - 54,000 = 8,000

Our entry:
Cash 62,000
Terrell capital 54,000
Donely capital 4,000
Lamar capital 3,200
Pinkston capital 800
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(4) Terrell invests $42,000 for a 30% ownership interest, which includes a bonus to the new partner.
Aaal) el Hall sllSa et Sl g ¢ ASLall das (3 7 30 Jdilia By 4l 13V 50 42000 d Terrell el

New capital= old capital + 42,000= 118,000+ 42,000= 160,000
Share given to Terrell= 30% X 160,000 = 48,000
Allocated as : Donley (6,000 X (5/10))= 3,000 , Lamar (6,000 X (4/10))= 2,400, Pinkston (6,000 X(1/10))= 600

Our entry:
Cash 42,000
Donely capital 3,000
Lamar capital 2,400
Pinkston capital 600
Terrell capital 48,000

Q10: sedgwick Company at December 31 has cash $20,000, noncash assets $100,000, liabilities
$55,000, and the following capital balances: Floyd $45,000 and DeWitt $20,000. The firm is liquidated,
and $105,000 in cash is received for the noncash assets. Floyd and DeWitt income ratios are 60% and
40%, respectively.
Sapel 5 53100000 G e ¥ geal s U el 15Y 53 20000 by Gati ilie yraws 31 4 Sedgwick 38 d @i
oSl DY 5220000 s (Sal 5Y 50 45000 il AN Juall Gl 33l 5 (S sel Y 53 55000 &l el il
(sl e 740 5760 Cusmas ush Jin s sl e J eI Y50 105000 il K5 ¢ AS ) Al el

Required: < sihall
Prepare the entries to record: Jsaill cYAY) juaad
a) The sale of noncash assets. Laall ye Jsa¥) o

b) The allocation of the gain or loss on realization to the partners.
S Al giatll vie 3 jludl) ol uulall Ganads

c) Payment of creditors. Crlall alass
d) Distribution of cash to the partners. Sl e amill 4558
Answer:
a) The sale of noncash assets. LAl e Jga) an
Our entry:
Cash 105,000
Non cash assets 100,000
Gain on selling assets 5,000

b) The allocation of the gain or loss on realization to the partners.
IS pall 8atl) e 3 jludd) o) lal) Gauads
Gain on selling assets 5,000
Floyd capital 3,000
Dewitt capital 2,000

c) Pay all liabilities: il Alaw

liabilities 55,000
cash 55,000
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d) Distribution of cash to the partners. slS ) Jo a8il) a6
Our entry:
Floyd capital 48,000
Dewitt capital 22,000
cash 70,000

Q11: At April 30, partners’ capital balances in PDL Company are G. Donley $52,000, C. Lamar $48,000,
and J. Pinkston $18,000. The income sharing ratios are 5:4:1, respectively. On May 1, Pinkston decides to
leave (exit) the company.
auli i ). Pinkston $18,000 , C. Lamar $48,000 , Donley $52,00 PDLAS i b ¢\S il saa i ¢ Jy ol 30 4
AS,al ca (zooA) 3u3a ), Pinkston L8 ¢ sle 1 8. N5 e 11405 o Jaal

Required: < skl

Journalize the withdrawal of Pinkston under each of the following independent assumptions.
Aol Aieal) il Y cra S JB A8 ¢ sy clad) S

(1) Pinkston sells his share to Lamar for 20,000 cash
385 20000 J:8s Lamar ) 4ias Pinkston g

(2) Pinkston withdraws (is paid) cash of 15,300 as payment for his share.
Adeaa ke d2bS 15300 o8 1385 (28) "ol J#8a" Pinkston caas

(3) Pinkston withdraws (is paid) cash of 21,600 as payment for his share.
Alaa Jilha 4285 21600 o8 138 (ads) "o JiBa" Pinkston i

Answer:

(1) Pinkston sells his share to Lamar for 20,000 cash
.38 20000 J:8s Lamar ) 4iaa Pinkston g
Our entry:
Pinkston Capital 18,000
Lamar capital 18,000

(2) Pinkston withdraws (is paid) cash of 15,300 as payment for his share.
Alas Jilia dadas 15300 o8 1285 (ad4) "oyl Ji8a" Pinkston
New capital= old capital - 15,300= 118,000- 15,300= 102,700
Bonus to remaining partners= 18,000 - 15,300 = 2,700
Allocated as: Donley (2,700 X (5/9)) = 1,500, Lamar (2,700 X (4/9))= 1,200

Our entry:
Pinkston capital 18,000
Cash 15,300
Donley capital 1,500
Lamar capital 1,200
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(3) Pinkston withdraws (is paid) cash of 21,600 as payment for his share.
Alkaa e dada< 21600 o8 1385 (gdy) "o Ji8a" Pinkston caww
New capital= old capital - 21,600= 118,000- 21,600= 96,400
Bonus to Leaving partner= 21,600 - 18,000 = 3,600
Allocated as : Donley (3,600 X (5/9))= 2,000, Lamar (3,600 X (4/9))= 1,600

Pinkston capital 18,000
Donley capital 2,000
Lamar capital 1,600
Cash 21,600

Q12 .Match the items below by entering the appropriate code letter in the space provided.

A. Mutual agency "Alaliial) AS G G. Purchase of an interest daliadll ¢ i
B. Unlimited liability = "sasasall e bl a5y H. Partnership liquidation A8 ,al dpuas
C. Partnership agreement MAS) Al Aal) |. Capital deficiency — Jaall/ Judl Ll ) (it
D. Income ratio " JAal) At J. Distribution of cash to partnersin @5l
E. Partners' capital statement liquidation of a partnership. F. Admission by investment

A, Jle il L DLyl e el il J ol

1. Each partner is personally and individually liable for partnership debts.

2. Made on basis of partners' capital balances.

3. Explains changes in individual partner's capital accounts during a period.

4. Each partner can bind the partnership so long as the action appears to be appropriate for the
partnership.

5. Business terminates

6. Results in an increase in total net assets and total capital of the partnership.

7. Capital account with a debit balance.

8. The basis for sharing income and losses

9. Total net assets and total capital of the partnership do not change.

10. Written contract establishing duties and responsibilities of partners.

Answers to Matching

1.B 6. F
2.) 7.1

3.E 8.D
4.A 9.G
5.H 10.C

End OF CHAPTER 12
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Corporations: Organization and Capital Stock Transactions
Seal) (ul ) clalaa g andaiil) sl Hal)

The Corporate Form of Organization s gall A4S 2 S8
An entity separates and distinct from its owners.  4laal (e ey Juadia (LS

Classified by Purpose Classified by Ownership
sl Cuus dliias Aglal) Cron AdLna
¢ Not-for-Profit mub i ¢ Publicly held .
alad) £Uaall A< glaal)
¢ For Profit el Al ¢ Privately held

A1) £ Ukal 48 glaall
FOR EX l | FOR EX | Fu(;R E&X

» Salvation Armygasan gia »  McDonald’s s »  Cargill Inc.
» American Cancer » Nike s da s dsyd

Society > PepsiCo _uis
) gt ol s |
» Google Jass

p o (pudlisl) e Alins A g0 A g duss Ao laa 2 GaYAY i Salvation Army : Biall Cuad da gleall dad
L5188l Basbal 44 pa Jlesly

Alternative Terminology: Privately held corporations are also referred to as closely held corporations.
LGy IS A plaal) S ) andy Wiyl (alid) £ UL AS glaal) cils i) ) iy 14y clathias

Characteristics of an Organization 4aiall ailad

Characteristics that distinguish corporations from proprietorships and partnerships.
Sl 5 ACL e SN a3 ailadl)
Advantages: Ll
v Separate Legal Existence: Corporation acts under its own name rather than in the name of its
stockholders. Laabisa anls ad g GalA) Lganls 4S 581 Jasd 1 Juadiall a1 3 g gl)
v Limited Liability of Stockholders: Limited to their investment.
el i) o i aahlucall 33 gasuall 431 gigenal)
v Transferable Ownership Rights: Shareholders may sell their stock.
el g Opanliaall 5 san 1y gaill ALIAN dSlal) (3 ga
v Ability to Acquire Capital: Corporation can obtain capital through the issuance of stock.
e laa) A e JUdl Gl ) e J sl d gall (S sdlal) il qiluds) e 8 adl)
v' Continuous Life: Continuance as a going concern is not affected by the withdrawal, death, or
incapacity of a stockholder, employee, or officer.
Jssmal) o Cals sall ol aaalisall aad 3508 axe s sl ol Calaily 5 _jaine sLiieS 4y ) etV Y 13 paiucall 3L
v'  Corporate Management: Separation of ownership and management prevents owners from having

an active role in managing the company.
AS M) (8 Jlad ) g2 ALl (e Bl aia 3 1Y 5 ASLall (e Jaadll 1S pld) 300
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Disadvantages <lulul)
v'  Corporate Management: Separation of ownership and management prevents owners from having
an active role in managing the company.
bl (e 5a¥1 SIS yoiad AS a0 5 o) (8 Jlad ) s Al (e D) wiag 313Y1 5 ASLall (Sl 1S ) B 10)
v'  Government Regulations: A corporation is subject to numerous state and federal regulations.
Al il g S il gl (e syl AS 0 s 1a g8l el sl
v/ Additional Taxes: Corporations pay income taxes as a separate legal entity and in addition,
stockholders pay taxes on cash dividends.
ol e (il pm  saalisall aday ¢ @lld ) ALY ¢ Juadia 5 5i8 (LSS Jaall (i) i S il b A8LLY) il ul)
Agaiill agu)

Ethics Note: Managers who are not owners are often compensated based on the performance of the fi

rm. They thus may be tempted to exaggerate fi rm performance by inflating income fi gures.
oo el eV 3 Al ) dadi 8 ¢ a5 ey el el e 2l GuSIal e o el Gl s Le Wle (4ENAT AB3adla
Jaal) )l ga (;.\LAAS é.\).la

Corporation organization chart 4S,&ll aasill J<ugl)

Stockholders ags¥) claal
|

Chairman and Board of Directors
1Y) Galdaa g B (udaa iy
i

President and Chief Executive Officer
s LATY alad) juaal) g (s )

Vice President Finance/Chief Financial Officer
Aball paall [ AN ¢ g5l i ) il

eneral Counsel/ Vice President Marketing Vice President Finance Vice President Vice President
Secretary . G gutll L ) s /Chief Financial Officer Operations Human Resources
el SLindl 5 S Sl ) 4y )
[
l |
Treasurer (3sia (il Controller 43
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Forming a corporation 4S&ll ¢y e
Initial Steps: 4xls¥) il ghill

@ File application with the Secretary of State. dan el sl ) o) e aas
€ State grants charter. Aaalucal) 48y Juaudi Balgd
€ Corporation develops by-laws. Al i) ol A gal) puad

Alternative Terminology: The charter is often referred to as the articles of incorporation.
el 3 gl " S i 32 Bl )y e Gl : ALy clalluaa

Stockholders Rights (eblaall (§g8s
1. Vote in election of board of directors and on actions that require stockholder approval.
u.m.&:w\ a.ﬁﬁ\‘yz &_ﬂm ‘fﬂ\ ‘—“9\‘)3\}7\ ‘;1:‘5 E‘)\J}” UAS;A &_llali\ ‘55 Cu'“,mﬁ\

2. Share the corporate earnings through receipt of dividends.
Ae sall 2L Al I8 e S8 Ll 8 L

3. Keep the same percentage ownership when new shares of stock are issued (preemptive
right).
(peY) 00 A5 o Aes A o ALl 3a) Bauas gl laa) sie AL A giall Ll ity LiliiaY)
Before After

* A number of companies have eliminated the preemptive right.
) 0 Al g Aima A o Asblaal) (5a) cilS ) (e 230 Al

4, Share in assets upon liquidation in proportion to their holdings. This is called a residual
claim.

A8 L)) s 138 Lgiliite ae canlily Loy Bppuail) die J saa) 8 duaal)

Lenders

Stockholders

Stock Issue Considerations agw¥) Jlia) (Lld)c) e

Authorized Stock W ¢ saall agud)
€ Charter indicates the amount of stock that a corporation is authorized to sell.
(i Ly Al 0 ) ag) dae iny) dns AS 81 ey oA agual) laie ) AS i) Qs Balgds iy
s (Lo il 5) Lesdb Camans 351 55115 ¢ agas 1,000,000 Loy Ledl AS ) B xie 550 ) 1 (pe ulla 4S80 JUal) Jusau o
(31550 e A gt Jae ang 83l Jla (8) 33000 ¢ gien e Y Lal g 1,000,000 smaw 53
€ Number of authorized shares is often reported in the stockholders’ equity section.
Cnadlusall (35 and 8 U Lo 7 jeaddl agul) aae o0 30V &
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Stockholder’s name

Signature of corporate official

ACCT230_CH13 el
Ga Al elua z « . .
wa Gl Prenumbered Wuws i Shares 4:lta agwl

Name of corporation
48 ) auad
Joann R. Rodriguez infhewwaeeof

188 So. Water Street
Galena, lllinois

?hw\ eu‘ i 4 CONEZ ENUNEBRRIED -
o Xt LLPAID AND NON-ASSESSABLE SHARES OF THE PAR VALUE OF $2 EACH OF THE CAFITAL STOCK O
= e THE FRANKUN LIFE |N$UﬁANCE COMPANV - e

/m;.ym/ W Compuany infoe dfpon e crven-
dor of Wi lostiforshs firfrorty omdonsecd. Tis lonts l///nv/f Ay .,/ o wnbl ﬂlmlmv:/m//y Va
Tmensperlligend of said Gi Somfany.
Iu Wanew Wheref, 4 it cxaccsend iy lontifecnnte o b auhentietent by /lr//lr.mm/
(/w pakirs of 0. '/'M,./m\,,/ /’nvﬁmy and it /Iwm/ /w/ e Yol to /r«y/m/
it { 1

A yal) Jgipmna a5

(s”ﬂumg.@)aﬁumi@wswssw\mgé;Zua;v.a

Issuance of Stock ag¥! Jlua)
€ Corporation can issue common stock Lale pend laca) e sall (S
v" directly to investors Croatisall ) 3 pdilaa
v indirectly through an investment banking firm. & laii) 48 jeae 48,58 JYA (e il 8 Sy
i 2 e Sl aga) laa) L Ga ¢ " AS Ll Jle el " g 1,000,000 Lesl A8 2015 ale b1 JUal i o
ae~ 1,000,000 sl sla® Lo 38,8 sl yly 2022 4w 5 2018 4w 5 2016 L S5 2015/5 el
LFM‘U-“‘"J“MJ@-‘“UMWLGJ e Y« ua\A.uJJé\M;bJ\M\euLA]*J\ A.L;).AULQS

@ Factors in setting price for a new issue of stock: 3l e@a-u‘l! Jaay adl Laad el g

1. Company’s anticipated future earnings. A4Sl dad giall Adiioall LY
Tpas) Aiad (3 b ol gt iy A8, oline 138 Ale Afiasal) LS ol ] S 1) iy
2. Expected dividend rate per share. 23 o) agead! dad gial) de jgall LY dpesd

Lisin %30 sl %20 5o o bl Cilad i 1 i) 8 S Jiianal) g 58 m ) G LY A il e g culS 1Y Say
?Q_mh )a.ufml:lj ‘513 ‘hgdi,g o ‘5531\ [ (N_.A\ P ‘_Ac

3. Current financial position. Al Al 38 yall
sl ) e e il 13 ¢ Cumn e gy 3 ASE0 Ja Sl s 8 ASLEN W) g sl b iy
4. Current state of the economy. LB ) aua gl

ASI a0 Waling) dila (e SLaBY) gy ol ¢ SLaBY) 3 gai an gy b ¢ Jaidi SLaiYl ¢ (5 e Lna il ) Syl s
(\Ye\w‘)ﬂ d)ﬂ?g_mx\_)w}\c.u.u
5. Current state of the securities market. 4llall (@) 6Y) dﬂ PAEN{F -1
(Y ol pend (gt i) i) Y o Jmais el (3 pual) Ja
Market Price of Stock "(3swdl agul) g s agudll (3 gudd) pnw
€ Stock of publicly held companies is traded on organized exchanges.
Aabiie Clia ) g 8 dale 481 AS glaall IS i) gl J gl oy
€ |Interaction between buyers and sellers determines the prices per share.
) el Cpailll Cp il o Jelil aasy
@ Prices tend to follow the trend of a company’s earnings and dividends.
LY ey 555 A8 5l 2l olai) gLl I e o
€ Factors beyond a company’s control, may cause day-to-day fluctuations in market prices.
Gl Sl (8 Lpa gy LIS ) AS 80 5 sl e da Al Jal gall (255 38
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Par and No-Par Value Stock 4se) & 5 drac) dal) i)l agudd)
€ Years ago, par value determined the legal capital per share that a company must retain in the
business for the protection of corporate creditors.
0 Alaad A Hlail) Jlac V) 84S il 4y Ladiad o sy o) agaall 3 381 JLad) (ol ) dpansY) Al Cinas ¢ ) g U8
R
1 1 il and Sl Gl §1 (e OB ) a6 35800 shan ¢ §1 550 pgdl Fan¥) il : JEN Gt 1o
$1.12 ¢ o) ot Jay 3 et ¢ $0.89 @ pgeadl i (o o Jixy ¢ AN (5l (e gl

€ Today many states do not require a par value. doan) dad QLT Y Jgall (0 22all) o )
€ No-par value stock is quite common today. psll 13 Aails dpansY) e Al il aguaY)
@ In many states the board of directors assigns a stated value to no-par shares.
Coama i Cphaald B Us 15500 B) madagill Baend) e aguDU Baana Al 5 0Y) Gulae anads ¢ LY ) (e paal) B
4ad (1991000 O pds 100 ol ) g pall) (A Dia AN (g 1S 0l (B ey ¢ o) A o) (B8 pgeud) i i
(e
Corporate Capital A4Sl Jua ouly

Common Stock

Account
Lalal) agu) Gl

Paid-in Capital in Excess of Par

Paid-in Capital
andl L Account i
c 2 Preferred Stock Gilaall ge 21130 £ gdaall Jlall Gl
) .Accoupt oY)
T Wiadal) agud) o

Two Primary Sources of Equity ) ]
ALl (3 g8al vt ) (p jdeas Retained Earnings

Account

5 jadaall CL}J‘X‘ <lea

Paid-in capital is the total amount of cash and other assets paid in to the corporation by stockholders in

exchange for capital stock.
Gl e Qe 3550 saplicall Lmiy ) (5 AY1 a5 28 Jlaa ¥ gladl 5o ¢ ghaed) Jal

Retained earnings is net income that a corporation retains for future use.

) 2RO S )y L 3 ) s s (Aaasall [ Blagiall) Jadad) £l Y
Comparison of the owners’ equity (stockholders’ equity) accounts reported on a balance sheet for
a proprietorship, a partnership, and a corporation.

A sall 5 AS) ) 5 ALl Ly gard) Al Jall 8 Leie § 301 25 ) (Copabbonall (3 588) Alal) (g gha il (4l

Proprietorship Partnership Corporation
Owner's Capital Able, Capital Common Stock
Normal bal. Normal bal. Normal bal.
Baker, Capital Retained Earnings
Normal bal. Normal bal.
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Accounting for Common Stock Issues  4lall agul) jlua) dsulaa
Primary objectives: Al cilaal)
v’ Identify the specific sources of paid-in capital. & sl JUall (el 5l Boaadll jabiadl) paas
v" Maintain the distinction between paid-in capital and retained earnings.
5 adaal ~L Y s g gdad) JUl Gl ) on el e Béla

Other than consideration received, the issuance of common stock affects only paid-in capital accounts.
Ae ol Jlall Gl ) cllia o T Galall a1 lacal S ¢ alivall Jiliall Cadlay
Issuing Par Value Common Stock for Cash
Example: Assume that Hydro-Slide, Inc. issues 1,000 shares of $S1 par value common stock. Prepare
Hydro-Slide’s journal entry if (a) 1,000 share are issued for S1 per share, and (b) 1,000 shares are issued
for S5 per share.
Gl s JAa) el ab Dolall aen) e Y 50 T daits sew 1000 L2si « Hydro-SlidedS s o (a yiél e
e U 5Y 90 5 Jilie agas 1000 Lol &5 () 5 ¢ agas IS) Y 53 1 Jilie ags 1000 laal & (1) 131 Hydro-Slide

a. Cash 1,000
Common Stock (1,000 x $1) 1,000
b. Cash 5,000
Common Stock (1,000 x $1) 1,000
Paid-in Capital in Excess of Par Value 4,000

Foe ex: (JUaS | 538 (s aga (shia) duda jida e gand) 4300 Jaall (B Lgauda g g agu) Jlana) oo Jlia

HYDRO-SLIDE, INC.
Balance Sheet (partial)

Stockholders’ equity
Paid-in capital
Common stock $ 2,000
Paid-in capital in excess of par—
common stock 4,000
Total paid-in capital 6,000
Retained earnings 27,000
Total stockholders’ equity $33,000

Alternative Terminology: Paid-in Capital in Excess of Par is also called Premium on Stock.
oY) e o Ul a1 Janall e 20030 g sl QL) Gl ) e (1) ALl clatiaaal)

Issuing Common Stock for Services or Noncash Assets 43485 (fia Jgual gl ladd Jilhe Lsle agud Jlaial
Corporations also may issue stock for: J Ll agul 48 &) jaas &
€ Services (attorneys or consultants). (Osobiiua 5l & galaa) oo
€ Noncash assets (land, buildings, and equipment). (Slanall 5 el 5 ozl Y1) i) e J sea)

Important Rule: Cost is either the fair market value of the consideration given up, or the fair

market value of the consideration received, whichever is more clearly determinable.

alicual) JilBall Alstal) 48 gudd) daidl) gf ¢ dde LN a3 AN Jiliall Aslal) 48 guud) daill) La) & AAISIY) 1daga BaclB
eyl J8y syaat (e Lagdl ¢
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Ex: Attorneys have helped Jordan Company incorporate. They have billed the company $5,000 for their
services. They agree to accept 4,000 shares of $1 par value common stock in payment of their bill. At
the time of the exchange, there is no established market price for the stock. Prepare the journal entry
for this transaction.
g 4000 Jsd Ao ) a8l PYNPREN Jlie )Y 2 5000 48,3l ) gadn a8l AS Hal) L) ‘jﬁ QA)‘\J\ A8 )d O salad)l el Jiia
ad 33 1Y) ageall 3n0 G g dn g W ¢ oLl g et a5V g ] e Al 3 Al ) e
Aol o3¢l gl 48 pnad (Agu

Organizational Expense" "4abail Cay jLad" 5,000
Common Stock "ixewy! 4l (4,000 x $1) 4,000
Paid-in Capital in Excess of par" ey Jadl ge 25 ) & el JWll ul " 1,000

Ex: Athletic Research Inc. is an existing publicly held corporation. Its $5 par value stock is actively
traded at $8 per share (this is the market price). The company issues 10,000 shares of stock to acquire
land recently advertised for sale at $90,000. Prepare the journal entry for this transaction.
8 Mhbﬁg <) Nga 5 ML}S\ a,.tAuY\ aﬂ:\ﬁ\ <l LHJA‘ ‘l"ﬁ Al Al dale 4.5):1: R Athletic Research A.S)u . dl:m
el 15350 Lie (3ol & ()l e dseanll aeul) (0 pgs 10000 4S50 saal ((Egadl o 98 134) aadd i N 5
ahall sdgl e il 28 und ¥ 50 all 90 yaas

Land (10,000 x $8) 80,000
Common Stock (10,000 x S5) 50,000
Paid-in Capital in Excess of Par 30,000

Accounting for Treasury Stock 4 Al agul dsulaa

Common Stock
Account

Aalaly N Glea
Al Paid-in Capital in Excess of Par

Paid-in Capital
P Account

& saadl Juadl Ll

Preferred Stock Gluall o 2331 g gdaall Juall (il
Account )
Alaiall agd) Gl

Two Primary Sources of Equity

BSL) (3 gial Gyt o Retained Earnings

Account
8 jadaall 7l DY) Gl

Less: Treasury Stock

Account
a4y Al ?g.u\ il 1 Uadls

Treasury stock - corporation’s own stock that it has reacquired from shareholders, but not retired.
(40350 dude LlS 5 La) il osle ¢ la jaal Lo ey Jimy ¢ 3 saall (e (55305 50 agus) 6l 1l ale)
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Corporations purchase their outstanding stock: (lral) Lgd g Jaa (o il S )

1. To reissue the shares to officers and employees under bonus and stock compensation plans.
o) iy gat g ESA Lol o ey il sl 5 Gl g el aguadl) lana) sl
s G AL Gle iy ¢ aglS agi jaal Y agul lone Loy 5 jban Lgae Loy agsl Leinns (il gall o Loy 48,48 131 gy
23580 I ey
2. To enhance the stock’s market value. el 48 guall dall 3 jas
g@g;wiaﬂ}agﬂ"as:ﬁ@ gﬁ@\@m&f“gﬁu&wwy\ Gom il LS 4S80 1) ny
i 8 (K" AENAT e Sl (ol Laska « Mgagad 5f Lgh pns a3 any AL iny ¢ (5l gk 335

3. To have additional shares available for use in the acquisition of other companies.
A S s e 3 st ol dalie ddlia) agud e J seanl)
I (e gl (55t agd Ly ¢ agasl Lgra Lo g agd 2835 Ly ¢ IS Lgma Lo s Dl 5 jlae s Jaal (g 5 Laay <S5l <l s
A5l e 3 il agl (5 il Ll A4S i Hhaiid agul Lera Las ¢ agud Jals Jexi laay ¢ 5,30 48,8 (5 il by Sl ¢ (3 gl
s AY
4. To increase earnings per share. el A 5 330 )
ol 5 iy (pp peliiasall £33 g ¢ gl Dy 230 ¢ A AN B agiidas 5 gl Cy 381 U1

Note: Treasury shares do not have dividend rights or voting rights.
daalie 48 35 s [N Corporation d Jbidl INC : 2 4daadk
Ex:

MEAD, INC.
Balance Sheet (partial)

Stockholders’ equity
Paid-in capital
Common stock, $5 par value, 400,000 shares

authorized, 100,000 shares issued and outstanding $500,000
Retained earnings 200,000
Total stockholders’ equity £700,000

Lis ¢ jaal ¢ agw 400000 s g sl leas ¢ § 5 dtle agad Ladie (IS da gae 4l e (ge ¢ e MAAd Lees) 385
700000 gpetlsall (3 sis & sane @l 200000 slisiss i 5 3inn Ui laic 5« 100000 peie

Required: On February 1, 2014, Mead acquires 4,000 shares of its stock at $8 per share.
JAa) (g gaud L ags JSI 5N 50 8 oy Lgageasl (40 a6 4000 le Mead <3 sain) « 2014 ) 58 1 3 aslhae

**Treasury Stock (4,000 x S8) 32,000
Cash 32,000

54 gia ) dpaganl) A Jpal) o Jand dglada LU g ) JANY) Ll 21y
MEAD, INC.

Balance Sheet (partial)

Stockholders’ equity
Paid-in capital
Common stock, $5 par value, 400,000 shares authorized,

100,000 shares issued, and 96,000 shares outstanding $500,000
Retained earnings 200,000
Total paid-in capital and retained earnings 700,000
Less: Treasury stock (4,000 shares) 32,000
Total stockholders’ equity $668,000
|Page8
TN Al r-re 1 11D 11 1 ] L
TUDEN T S-AUB.COM ploaded By anonymous



https://students-hub.com

ACCT230_CH13 ueili
a (el slua

Both the number of shares issued (100,000), outstanding (96,000), and the number of shares held as

treasury (4,000) are disclosed.
(4,000) &5y )38 A8 slaall peul 220 5 (96:000) (U () ilall 5 (100<000) 3 2mall pusd) 20 o Loyl

Disposal of Treasury Stock 4k jall agul (e ((re galidll) i pal)
Sale of Treasury Stock
4+ Above Cost  4dlil) 3¢
4 Below Cost 4dlsill ¢ya JBi
Both increase total assets and stockholders’ equity Onadlosall (3 gin 5 J V) lea) (0 23 Laa DS

Note Treasury stock transactions are classified as capital stock transactions. As in the case when stock is
issued, the income statement is not involved.
O Cnanal ay Y ¢ agasd) laal Ala LS Adland Hl1 agud) labea Ll e 4 58l agad @S ja Casiad 23 Aiadle
Jaal
4+ Above Cost  4dlill 5
Ex: A. OnJuly 1, Mead sells for $10 per share 1,000 shares of its treasury stock, previously acquired at
$8 per share.
& Al g Lgr GalAl) A 3AN (1933 (14 agew 1000 2315 agadl 48 ol I ¥ 93 10 Jitha Mead <ol ¢ sl 1 b
a0 sl ageall ) Y 93 8 sy Bansa Lgle el
Our entry of July 1:
Cash 10,000
Treasury Stock 8,000
Paid-in Capital Treasury Stock 2,000

4+ Below Cost 4dlsill ¢a JBi
B. On Oct. 1, Mead sells an additional 800 shares of treasury stock at $7 per share.
) o) aguall Y 93 7 sy A3y A agaad (4 (Al) agas Mead 800 <ol ¢ ST (e J5¥) (B
Our entry of Oct. 1:
Cash 5,600
Paid-in Capital Treasury Stock 800
Treasury Stock 6,400
pms S Ut in § 8 5 M oan) ) im0 B 2580 IS ) o Ly Ll Ui (58 JASY1 ¢ i 5
a3 e Lie allay aaling M agas 800 (& Limd I $1 5« $5600 = $7*800 a5 palidal I (K)o ¢ $1
$800 & N LS

C. On Dec. 1, assume that Mead, Inc. sells its remaining 2,200 shares at $7 per share.
gl ) ¥ 93 7 rws 2200 Wase AL Abdial) Leagud @i Mead 4Sd 0 o231 ¢ (samwd) Jo¥) 98 (e JoY) A

KPP
Our entry of Dec. 1: e
Cash 15,400 tla:rlla:::i?n hand
Paid-in Capital Treasury Stock 1,200 <= PO
Retained Earnings 1,000 il Jgliie 3
Treasury Stock 17,600 ) -

A corporation does not realize a gain or suffer a loss from stock transactions with its own stockholders.
Lgaaalise ae agul) CBlalas (o B lusd (e lad ol LS 48 580 @y Y
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Preferred Stock 4ladall /3 jlieal) agusy)
Features often associated with preferred stock. Jiaiall agulls <l jaall Lasi 5 L Glle

1. Preference as to dividends. pee) LUl o dLady)

e Ll (3 el el saie ) (e AliadV1 B Jlies agasd saie ) (0 5Ss o 58
2. Preference as to assets in liquidation. Liuail) die J gua) Ao dLadY)

3 liaal) agal) Slal Jpa¥) e peanl) 4S8l ddiad o5 130 ALadY) 58 iny
3. Nonvoting. S puall) aae

Magasl! (e g sl 138 i gan) el Cy peatl) 8 3all 5 jlaal) s lley cpal gud

Accounting for preferred stock at issuance is similar to that for common stock.

L) agatl Aalild) il Aliles jlaal) dic Aldadal) agad) dulaa
Ex: Stine Corporation issues 10,000 shares of $10 par value preferred stock for $12 cash per share.
Journalize the issuance of the preferred stock.
1Y 52 12 Qi 4.5 yal ) Y 53 10 Ly 5 3biaal) agasl) (30 210000 Stine Corporation 3S,é juai :Jbadl Juw e

Cash 120,000
Preferred Stock (10,000 x $10) 100,000
Paid-in Capital in Excess of —Preferred Stock Par 20,000

Preferred stock may have a par value or no-par value. dan) i dad i dpand) dafd Jadal) agedl (8 B

Dividend Preferences LY g @iluadl
€ Right to receive dividends before common stockholders.
Omlad) Cpaaliall J8 #5138 3ad)
@ Per share dividend amount is stated as a percentage of the preferred stock’s par value or as a
specified amount.
Aane iS5l Juntall agad] Zanl) Zagil) (pe 4 sie 4aiS agul) Ll adae paas 21y
€ Cumulative dividend — holders of preferred stock must be paid their annual dividend plus any
dividends in arrears before common stockholders receive dividends.
o U8 5 3l 2l (sl U ALY 5l a2 sl 2l ) a5 5 g0 s o o = opaS1 ) ) g5
o) 2Ll e 0 galal) ) sealisal) Joan,y

Cumulative Dividend (S/_all aital)
Ex: Scientific Leasing has 5,000 shares of 7%, $100 par value, cumulative preferred stock outstanding.
Each $100 share pays a $7 dividend (.07 x $100). The annual dividend is $35,000 (5,000 x $7 per share).
If dividends are two years in arrears, preferred stockholders are entitled to receive the following
dividends in the current year.
100 dpan! dasi s ¢ (ageead) Ao (5 gial) gl dpsd) 77 Loy ag Scientific Leasing 5000 4S i ellici :Jliall Jawau o
V53100 x .07) Y50 7 a8 =l i cilay 55 S sl Y 50 100 dasy pgas IS gy o308 oS i lian pgass ¢ Y 5
G ¢ Ople Badd 5 jalie 2l Y1 Clay 55 CulS 1) (g IS Y5 7 % 5000) Y52 35000 4 5 siead) ilad) (Sl
() ) 5 SaS) il il ing) lad) aladl 8 20 L) 3 5 ledl) agud) dleal

Dividends in arrears ($35,000 X 2) $ 70,000
Current-year dividends 35,000
Total preferred dividends $105,000
|Pagel0
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Liquidation Preferences 4siuaill c:Mluais
€@ Most preferred stocks have a preference on corporate assets if the corporation fails.
ALl b 1) A8 5al Jpal e Juadi Ll 5 jleal) agad) alies
€ Provides security for the preferred stockholder. Jumial) agut) Jalal el i

€ Preference to assets may be for the par value of the shares or for a specified liquidating value.
Ba3ne Al Al gl aguSU drans) Al ol (e Jgaa¥) e dliaily) () S5 8

Statement Presentation dealuall IS )5 e 3840 Ulaia o ) glad) e

CONNALLY INC.
Balance Sheet (partial)

Stockholders’ equity
Paid-in capital
Capital stock
9% preferred stock, $100 par value cumulative,
10,000 shares authorized, 6,000
shares issued and outstanding £ 600,000
Common stock, no par, $5 stated value, 500,000
shares authorized, 400,000 shares issued, and
390,000 shares outstanding 2,000,000
Total capital stock 2,600,000
Additional paid-in capital
In excess of par—preferred stock £ 30,000
In excess of stated value—common stock 860,000
From treasury stock 140,000
Total additional paid-in capital 1,030,000
Total paid-in capital 3,630,000
Retained earnings 1,058,000
Total paid-in capital and retained earnings 4,688,000
Less: Treasury stock (10,000 common shares) (at cost) 80,000
Total stockholders’ equity £4,608,000
|Pagell
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dbls) Al

Q1: Match the items below by entering the appropriate code letter in the space provided.

A. Limited liability — "s2sasall il 35YN" F. Preemptive right PEP TN
B. Capital stock "agadl Jue Gl " G. Parvalue Ay Al
C. Board of directors "3}l (alaa" H. Legal capital Sl Jul Gl
D. Paid-in capital " sixall Jua) Ll )" . Treasury stock A 330 agud
E. Retained earnings "s yaisall #L )Y J. Cumulative feature 4S5l 3 jpall

1. Netincome retained in the corporation.

2. The amount that must be retained in the business for the protection of creditors.

3. Preferred stockholders have a right to receive current and unpaid prior-year dividends
before common stockholders receive any dividends.

4. Creditors only have corporate assets to satisfy their claims.

5. Responsible to stockholders for corporate activity.

6. The amount assigned to each share of stock in the corporate charter.

7. Unit of ownership in a corporation.

8. Enables stockholders to maintain their same percentage ownership when new shares
are issued.

9. Corporation's own stock that has been reacquired by the corporation but not retired.

_____10. Total amount paid-in on capital stock.

Answers to Matching

1.E 6.G
2.H 7.B
3.J) 8.F
4. A 9.1

5.C 10.D

Q2: Identify (by letter) each of the following characteristics as being an advantage, a
disadvantage, or not applicable to the corporate form of business organization.
A = Advantage
D = Disadvantage
N = Not Applicable
Characteristics:
1. Separate legal entity
2. Taxable entity resulting in additional taxes
3. Continuous life
4. Unlimited liability of owners
5. Government regulation
6. Separation of ownership and management
7. Ability to acquire capital
8. Ease of transfer of ownership
Answers to Matching

1.A 5.D
2.D 6.D
3.A 7.A
4.N 8.A
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Q3. Circle the correct answer
1. Which of these statements is false?
a. Ownership of common stock gives the owner a voting right.
b. The stockholders’ equity section begins with paid-in capital.
c. The authorization of capital stock does not result in a formal accounting entry.
d. Legal capital is intended to protect stockholders.

2. OnlJanuary 2, 2011, Valente Corporation issued 60,000 shares of 6% cumulative preferred stock
at $100 par value. On December 31, 2014, Valente Corporation declared and paid its first
dividend. What dividends are the preferred stockholders entitled to receive in the current year
before any distribution is made to common stockholders?

a. SO
b. $360,000
c. $1,080,000

d. $1,440,000
3. Additional paid-in capital includes all of the following except
a. paid-in capital from treasury stock.
b. paid-in capital in excess of par.
c. paid-in capital in excess of stated value.
d. paid-in capital in excess of book value.

4. Rubio Corporation began business by issuing 300,000 shares of $5 par value common stock for
$25 per share. During its first year, the corporation sustained a net loss of $50,000. The year-
end balance sheet would show

a. Common stock of $1,500,000.
b. Common stock of $7,500,000.
c. Total paid-in capital of $7,450,000.
d. Total paid-in capital of $1,550,000.

5. Ten thousand shares of treasury stock of E. Marcos, Inc., previously acquired at $14 per share,
are sold at $20 per share. The entry to record this transaction will include a

credit to Treasury Stock for $200,000.

debit to Paid-In Capital from Treasury Stock for $60,000.

debit to Treasury Stock for $140,000.

credit to Paid-In Capital from Treasury Stock for $60,000.

oo oo

6. Treasury stock should be reported in the financial statements of a corporation as a(n)
a. investment.
b. liability.
c. deduction from total paid-in capital.
d. deduction from total paid-in capital and retained earnings.
7. Which of the following represents the largest number of common shares?
a. Treasury shares
b. Issued shares
c. Outstanding shares
d. Authorized shares
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Q4: Indicate whether each of the following statements is true or false.

False 1. Similar to partners in a partnership, stockholders of a corporation have unlimited liability.

True 2. ltis relatively easy for a corporation to obtain capital through the issuance of stock.

False 3. The separation of ownership and management is an advantage of the corporate form of
business.

False 4. The journal entry to record the authorization of capital stock includes a credit to the
appropriate capital stock account.

False 5. All states require a par value per share for capital stock.

True 6. Preferred stock has contractual preference over common stock in certain areas.
False 7. Dividends in arrears on cumulative preferred stock are considered a liability.
True 8. Treasury stock should not be classified as a current asset.

True 9. Dividends are declared out of retained earnings.

False 10. As soon as a corporation is authorized to issue stock, an accounting journal entry should
be made recording the total value of the shares authorized.

Q5: accountants Corporation issued 2,000 shares of stock.
aa) 8 o 2000 O simbaall Ll ) Aadlual) A4S Hd & yuial
Required: Prepare the entry for the issuance under the following assumptions.
AN bzl S8 385 lacadl JAsY) st 1 sllaall
(a) The stock had a par value of $5 per share and was issued for a total of $52,000.
Sl 5Y 5352000 o8 Maa) ilias o jlaca) o5 a5l gl 2 ol Y 53 5 W 538 Dol dad agndl S
(b) The stock had a stated value of $5 per share and was issued for a total of $52,000.
(sS2al Y 53 52000 o8 (Mlea) dias s laial & 5 aguall 4S5 jal Gl )Y 50 5 s ja8 Al e agull OIS
(c) The stock had no par or stated value and was issued for a total of $52,000.
Y52 52000 538 Mea] flaas o jlaal o1y 8230 5l drand La agudl S o
(d) The stock had a par value of $5 per share and was issued to attorneys for services during
incorporation valued at $52,000.
Y 53 52000 dasis upnilil] U ciladdl) Qi cpsalaall o jlaa) &5 agasll il Y 53 5 W 508 dpans) Fad pgndl (S
(e) The stock had a par value of S5 per share and was issued for land worth $52,000.
Y52 52000 ety a3 L ylaal &y agull Y 50 5 agell Lans¥) dagdl) cilS

Answer:
"oty 1388 Ades (Sa Jsias usllaall Jas g gl il a3
Account Title Debit Credit
a- Cash 52,000
Common stock 10,000
Paid in capital in excess of Par 42,000
b- Cash 52,000
Common stock 10,000
Paid in capital in excess of stated value 42,000
c- Cash 52,000
Common stock 52,000
d- Organization costs 52,000
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Common stock 10,000

Paid in capital in excess of Par 42,000
e- Land 52,000

Common stock 10,000

Paid in capital in excess of Par 42,000

Q6: On January 1, 2017, the stockholders’ equity section of free Corporation shows common
stock ($5 par value) $1,500,000; paid-in capital in excess of par $1,000,000; and retained earnings
$1,200,000. During the year, the following treasury stock transactions
Lpan) Aagll) Balall agul) Aaalusall )W) A8 50 3 Graalusal) (3 sia and jelad ¢ 2017 (ld) AU 6881 4 :Q4
$ 5 adaall 2l Y15 ¢ el 5Y 53 160004000 G 232 s g shaall Jall el 5 ¢ 5Y 52 15004000 (<Y 52 5
A0l A5 A0 g L) O llaall ¢ Hlall JMA 10200000
Mar. 1 Purchased 50,000 shares for cash at $15 per share.
_.\;\}S\M\JY)J 15)&»4\354*»50&000 ¢\)ﬁ:(ﬁ‘ o 1
July 1 Sold 10,000 treasury shares for cash at $17 per share.
Aal gl agull 15V 53 17 jrs 1383 43 53 age 10000 &2 sl 52 1
Sept. 1 Sold 8,000 treasury shares for cash at $14 per share.
a5l gl 15Y 50 14 e 1385 45 )3 ags 8000 g aians 1
Required: < sibal)
1. Journalize the treasury stock transactions. Sl 8 A5 A agl blalas (5
2. Restate the entry for September 1, assuming the treasury shares were sold at $12 per share
el 15Y 53 12y 43 3300 agd a Gl L ¢ jadivs 1 a5l JA0Y) e

o O G A sy € B Y g 0 m petlnall ASL G gin i ol e Jaf (s U Lo

Wi ) Ala ) 099 (e et losall ALal) 358 L1 Il
Stockholders Equity:

Paid in capital:
Capital stock:
Common stock, S 5 par value 1,500,000
Additional paid in Capital:
paid in capital in excess of par 1,000,000
Total paid in capital 2,500,000
Retained Earnings 1,200,000
Total stockholders'Equity 3,700,000
A.
Account Debit Credit
Mar. 1 Treasury stock 750,000
Cash 750,000
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July 1 Cash 170,000
Treasury stock 150,000
paid in capital: Treasury stock 20,000
Sep 1 Cash 112,000
paid in capital: Treasury stock 8,000
Treasury stock 120,000

Ao CVENY) g ASLf 5 gha
Stockholders' Equity:
Paid in capital:
Capital stock:
Common stock, $ 5 par value 1,500,000
Additional paid in Capital:
paid in capital in excess of par 1,000,000
paid in capital: Treasury stock 12,000

Total paid in capital 2,512,000
Retained Earnings 1,200,000
Less: Treasury stock -480,000
Total stockholders 'Equity 3,232,000
B-
Sep 1. 2017 Cash 96,000
paid in capital: Treasury stock 20,000
Retained Earnings 4,000
Treasury stock 120,000

I AN e Uy g ) il 2y AL G5
Stockholders Equity:
Paid in capital:
Capital stock:
Common stock, S 5 par value 1,500,000
Additional paid in Capital:
paid in capital in excess of par 1,000,000

Total paid in capital 2,500,000

Retained Earnings 1,196,000
Less: Treasury stock -480,000
Total stockholders 'Equity 3,216,000

Q7: DelLong Corporation was organized on January 1, 2017. It is authorized to issue 10,000
shares of 8%, $100 par value preferred stock, and 500,000 shares of no-par common stock
with a stated value of $2 per share. The following stock transactions were completed during
the first year.
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Aoty Jiala agug ¢ 78 dauits pg 10000 Llral As3a 25,2017 1l 1 2 Delong Corporation 4S b alat o3
o LBV o an) gl pgall (S5 el 5Y 53 2 Ay ApansY) e dpalall agesl) s s 500000 5 ¢ Sa el Y 53 100 Ao
b ) J3A A ) 5Ll
Jan. 10 Issued 80,000 shares of common stock for cash at $4 per share.
a5l gl A sal Y 5 4 e Balad) weuY) (10 pens 80000 S & jaal s 10
Mar. 1 Issued 5,000 shares of preferred stock for cash at $105 per share.
) gl 4K b @l HY 50 105 Jilie 5 liaall agu) (e agas 5000 @ nal (s jlel
Apr. 1 Issued 24,000 shares of common stock for land. The asking price of the land was $90,000. The fair
value of the land was $85,000.
oS Aalal) daiil) <ilS Y 53 90.000 =0 sthaall jadl IS 00 Dpalall wen) e pes 24000 sl il
.0¥285000
May 1 Issued 80,000 shares of common stock for cash at $4.50 per share.
a5l gl USy el 15Y 53 4,50 s 1383 Zpalall agd) (0 peas 80000 sibe 1 2
Aug. 1 Issued 10,000 shares of common stock to attorneys in payment of their bill of $30,000 for
services performed in helping the company organize.
A8 il Bae Lsd Aadiall cledall Y g0 all 30 Ardlll agi ) 53l adal (pnalaall Lpalall agesll (10 agas 10000 sl uhane 11

il e
Sept. 1 Issued 10,000 shares of common stock for cash at S5 per share.
2a) gl gl A el @l HY 53 5 Jilie Zalall agusd) (e ages 10000 sl juaian]
Nov. 1 Issued 1,000 shares of preferred stock for cash at $109 per share.
a5l agll U 5l 15953 109 Jrass 1385 5 Jlieall pgusl) a pgs 16000 Laeal s 5i1
Required: < sihaall
(a) Journalize the transactions. Gl YA Jac
(b) Post to the stockholders’ equity accounts. Crapbuall (358 Sllis ) das 3l
(c) Prepare the stockholders’ equity at December 31, 2017, if Retained earnings = 150,000
150000 = 3 il 2L V) il 13 ¢ 2017 ransd 31 8 Cnaalusall 3 sin dacly o

(A)
Account title Debit Credit
Jan. 10 Cash 320,000
Common stock 160,000
Paid in capital in excess of stated value: 160,000
Mar.1 Cash 525,000
Preferred stock 500,000
Paid in capital in
excess of par value:
preferred 25,000
Apr. 1 land 85,000
Common stock 48,000
Paid in capital in excess of stated value: 37,000
May 1l Cash 360,000
|Pagel?
TUDENTS-HUB.com Uptoaded By anonymous



https://students-hub.com

ACCT230_CH13 uaili
ma Ol slua

Common stock 160,000
Paid in capital in excess of stated value: 200,000

Aug.1  Organization (legal) costs 30,000

Common stock 20,000

Paid in capital in excess of stated value: 10,000
Sept.1  Cash 50,000

Common stock 20,000

Paid in capital in excess of stated value: 30,000
Nov.1 Cash 109,000

Preferred stock 100,000

Paid in capital in
excess of par value:

preferred 9,000
(b)+(C)
Stockholders Equity:
600,000
408,000
Total capital stock 1,008,000
34,000
437,000
Total additional paid in capital 471,000
Total paid in capital 1,479,000
150,000
Total stockholders 'Equity 1,629,000
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Jall dals (e LAl 5,5 JS padly ) su
Q8: Assume Suboh Corporation was organized early in 2022
2022 ole (b Sa g B Lgailil o rua Wgean) A4S )l 8 51 (2 8
The Corporation was authorized to issue 1,000,000 common stocks at 1$ par value
N2 1 8 L) Aoy o8 g Gl Jhacaly A all g puail) o
During the first 2 months of the year, the company issued 400,000 shares at follows:
1A 52l e aga 400,000 ASdl @l ¢ alald) (a Cpgd J gl JMA
A. On15/1/2022, 200,000 shares were issued for cash @par value
Ay Al a8 Jlas agw 200.000 Llas) &5 2022/1/15 &
B. On15/2/2022, 200,000 shares were issued for cash @1.55/par value
L) dagdll / )Y 53 1.5 Ay 1385 ags Al 200 ) a3 2022/2/15 <2
After 4 months, the market price of the share went up of 4.00$
4.00% (C—."‘i)J‘M peall (G gnad) s @) ¢ gl 4 22y
C. 0On15/6/2022, the company purchased (required) 20,000 shares to its common from
market at 4.00S/share (cost)
(AQsill) agas / Y 934,00 Ly 39l (30 ags 20000 (Ao Jsanll) o) s 4,50 Cld ¢ 2022/6/5 S
D. On 15/8/2022, the company sold (Al agul 53 i aia dalsl) sla i gdi L) 6,000 share of its
Treasury stock for cash @6.00$/share
e [ 0¥ 536,00 Jila Wi A (e ag 6000 28,50 el 2022/8/15 &
E. On1/12/2022, the share price in the market become 2.00S and management decided to
sell all its remining Treasury stock
Al A ) aend e 5IY) ) s 5Y 53 2,00 Gl (b pendl e maal 2022/12/1

Assume the Retained earnings 16,000 16000 (A 4aanal) [ 3 ja%aall zL Y o) o 58
Required: Journalize the transactions. B Lalaall LAY Jas 1e gllaal)
Our entry | Date Debit ‘ credit
A. 15/1/2022 | Cash 200,000
Common stock 200,000
B. 15/2/2022 | Cash 300,000
Common stock 200,000
paid in capital in excess of par 100,000
C. 15/6/2022 | Treasury stock 80,000
Cash 80,000
D. 15/8/2022 | Cash 36,000
Treasury stock 24,000
paid in capital: Treasury stock 12,000
E. 1/12/2022 | Cash 28,000
paid in capital: Treasury stock 12,000
Retained earnings 16,000
Treasury stock 56,000

End Of CHAPTER 13
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Corporations: Dividends, Retained Earnings, and Income Reporting
JAA S g 8 3adaall ZLUYI S ZLUY) Glay )i 1 S )
@) Aonal jlial) sl gidty e Le 13 il Cuwa L 13 ¢ 13 il o JalS slaie) adiny i) s ; Aaadle

Dividends LY
Distribution of cash or stock to stockholders on a pro rata (proportional) basis.

() ol Gl e paalisal) e agul) ol S8 a5 55
Types of Dividends: gL¥ Clayjgi g1 il

1. Cash dividends. A~
2. Property dividends. CStiae #l
3. Stock dividends. agnlS L
4. Scrip (promissory note). lidties OYLS

Dividends expressed: (1) as a percentage of the par or stated value, or (2) as a dollar amount per share.
s U0 Y 5l alaaS (2) sl ¢ Alaall Al ol dpans¥) Aasll (g A s S (1) tleie undd) 2LV Gilay 58

. O g gall J 9 an Uina cugllaa SLEAN Mgy Uald agulS L Y19 40l LY A addici ) i) Lk

Cash Dividends 438 7Ly i
For a corporation to pay a cash dividend, it must have: Wt 08 O o ¢ a AL f Al XY 7
1. Retained earnings - Payment of cash dividends from retained earnings is legal in all states.
Y ) e 3 58 8 aiaall 2L N (e Bl 2L YT il 5 55 ada ey - (AaS)_sall)3 Sadiaad) LY
2. Adequate cash. (ALl adit)
3. A declaration of dividends by the Board of Directors.  5,1aY1 ulaa J (e 7L Y1 ey 3 53 o)

Three dates: 4aga g ) g3 &S0

December January
chWdeles S M TuW Th E S S M TuWTh F S
Declaration | B2 e e
date ———— I 2 3
Board 7 8 9 10 Il 12 13 4 5 ¢ 7 8 9 10
thori
ac;:vic?g:wiless 14 15 16 17 18 19 20 107 pn 2 2 03 16 17
SaNerd <Y . o9
B! 25 26|27 28 29 30 3I
Record date Jawdl B
) Aaa Jualis L) (3 gl (e 4S80 il Registered shareholders Payment date @&l &6

WaY agule LY 2 asadl 18 A are eligible for dividend The company s W s el 45
issues dividend checks ( & as) Lk g

Ex: On Dec. 1, the directors of Media General declare a 50¢ per share cash dividend on 100,000 shares

of $10 par value common stock. The dividend is payable on Jan. 20 to shareholders of record on Dec. 22.
L 50 La 38 408 Uyl 358 e Media General 4S5 5 pae glef ¢ (Lsasn) I5Y) 0518 e IV 8 Gl daws e
sl Cpaalisall 5l 20 & LY )58 Gatan A sl Y 53 10 W8 Liass) Ay g 100000 le 2n) 5l pgl

e 22 4
December 1 (Declaration Date (Se¥! asl)
Cash Dividends 50,000
Dividends Payable 50,000
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December 22 (Date of Record Ja!) a5) Ua JWal aa 50 ¥ No entry
January 20 (Payment Date 2831l 2 53)

Dividends Payable 50,000

Cash 50,000

Allocating Cash Dividends Between Preferred and Common Stock ‘
alad) aguul) g 8 liaal) agull) (e Aali Ll anads

Holders of cumulative preferred stock must be paid any unpaid prior-year dividends and their current
year’s dividend before common stockholders receive dividends.
Osadbasal) 2l Gf 8 Allall ) 2L )i 5 @ilad) plall (e e gine pe Ul (ol 2aaS) il 5 Sliaall agull) alad wid of Gany
JALH (saalal)

Ex: On December 31, 2014, IBR Inc. has 1,000 shares of 8%, $100 par value cumulative preferred stock.
It also has 50,000 shares of $10 par value common stock outstanding.
Y53 100 Aaensd Aty (oS i Juinba ags s ¢ 728 Aoy ages IBR 1000 48 s lliai « 2014 Jsasd 31 A 1Jbal) Jams o
1Y 53 10 Ay Alaall palall agu¥) o agas 50000 Leadl of LS
A. At December 31, 2014, the directors declare a $6,000 cash dividend. Prepare the entry to
record the declaration of the dividend.
Joaedil JANY) yudant | N9 6000 Ay 43385 Flf g 68 08 I (udaa plize (el ¢ 2014 Jrasd 31 B
LY ke

Cash Dividends -preferred 6,000
Dividends Payable 6,000

Preferred Dividends: 1,000 shares x $100 par x 8% = $8,000
(s Adaiall agul) Glaual o b Lgay 555 ald ¥ 53 6000 NS a5 Lades Y53 8000 dass agd Tl o ol ¢ g Alaal) agl)
N 532000 Laslll Aol J) gai agd
B. At December 31, 2015, IBR declares a $50,000 cash dividend. Show the allocation of dividends
to each class of stock.
) 2Ll @08 e LY 9 50000 dasiy ki L i aaiss o8 el Aol did) i < 2015 ssad 31
gl clid o did S e

2014 2015
Dividends declared $ 6,000 $ 50,000
Dividends in arrears 2,000 **
Allocation to preferred 6,000 8,000 *
Remainder to common $ - $ 40,000

* 1,000 shares x $100 par x 8% = $8,000 2015 4iad ¥ 53 8000 4xaS! ill 5 jliaall agu) cilaal (adiow 8
** 2014 Pfd. dividends $8,000 — declared $6,000 = $2,000
pgada oy N 532000 = 6000 — 8000 (A 4xas) ) 5 jliaall agud) Glaial 2014 A (e (AL

Dec,2015
Cash Dividends "4 U )i ey 3 5" 50,000
Dividends Payable "aiall diaiue #l )l ey 3 5" 50,000
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Stock Dividends aget) Ll cilay 558

Pro rata distribution of the corporation’s own stock. AS i) agas (il a5 5l)
Before stock dividend After stock dividend
or split or split
ABC Co. ABC Co.
10 10 10jl10}j10f10
shares | shares 10j10]10]10
10 10 ofiofio]io
Lhz res | shares ojlofjlofio

Number of shares owned increases, but
percentage of company owned remains the same.

Results in decrease in retained earnings and increase in paid-in capital.
&8l Jlall Gl ) 33l 558 Jadiaall #L VI 8 (alias) s e iy

Reasons why corporations issue stock dividends:  agsd) zLY Gl AN jlaa) il
1) Satisfy stockholders’ dividend expectations without spending cash.
258 ) 50 Cpeabisall Zlf a8 il 53 el )
2) Increase marketability of the corporation’s stock. Al gl (3 gt 4008 300 5
3) Emphasize a portion of stockholders’ equity has been permanently reinvested in the business.
Ay el Jlae Y1 (8 aila JSiy Cpaalisad) (3 sia (e 6 3a il 3ale) Sle asll

Type Stock Dividends: ag) gzl cila 355 €165
v" Small stock dividend (less than 20-25% of the corporation’s issued stock, recorded at fair
market value)
(Alalal) 48 gud) Aally Aaisal) 5 4S 30 3 jaiaall agu) (0 725-20 o JB) 3 shuall aguadtt LI
v’ Large stock dividend (greater than 20-25% of issued stock, recorded at par value)
(Bans) daiilly dlssa ¢ 5 j0aal) agul) (10 725-20 (o 5iST) 3l st 2l

Accounting based on the assumption that a small stock dividend will have little effect on the market
price of the outstanding shares. _
Al agudlt (3 gud) jr Ao Jaida Ll L () oS B iuall agd) Lo cila 368 o ol i) (bl e dsadaal)

Ex: Midland Corporation declares a 10% stock dividend on its 50,000 shares of $10 par value common
stock. The current fair market value of its stock is $15 per share. Record the entry on the declaration
date:
L 38 Zand dats g 50000 Waze L Leagd e 710 4suis Ul w553 o Midland Corporation 4S )& (s ;Jta
roDe Y gu s A JEaY) Ja g JSTI5Y 53 15 Leagns Alall Alalall 48 sudl Al 415 il ¥ 50 10

Stock Dividends (50,000 x 10% x $15) 75,000
Common Stock Dividends Distributable 50,000
Paid-in Capital in Excess of Par 25,000
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Paid-in capital
Common stock £500,000
Common stock dividends distributable 50,000
Paid-in capital in excess of par—common stock 25,000
Total paid-in capital £575,000

Record the journal entry when Midland issues the dividend shares.
Ae jgall agul) AV sl Ladic dua gl ji8a JA) Ja
Common Stock Dividends Distributable 50,000
Common Stock 50,000

Effects of Stock Dividends  ag¥) Ll cilay j g3 U

Before After

Dividend Dividend

Stockholders’ equity

Paid-in capital

Common stock, $10 par £ 500,000 £ 550,000
Paid-in capital in excess of par—common stock — 25,000
Total paid-in capital 500,000 575,000
Retained earnings 300,000 225,000
Total stockholders’ equity $800,000 $800,000
Outstanding shares 50,000 55,000
Par value per share $10.00 $10.00

£ 5803al) Jlall (il y B ghadia 3 jadaall [ Aeanall zL Y (0 sasiia ) ; daga Aiadla

Dy 3y 5 Outstanding 52 sa sall aga) 53l ()5 & lia Bas 5 e Co i Lie aglS 21 ¥ Lie J5 Ll (58 1 guasda gl
&1'50000 _lsie; 550000 it 500000 <slS I yolall agudl) 3 5 & snall Jall Gul 5 (58 Wi ¢ ags 5000
LY e el QL) el ) sanae 8 aa i I 25000 s dpenY) daill e 3 g shaad) Jul Gl 5 ¢ aalic
o= (300000 Jé <ls) 225000 < juad aalic 35 A 75000 o s» Cuais Retained earning 3 sisall 5l dxasall
Jlall (il (o2 phliskaa 9 5 jaiaall Zla¥) (e pgual) ool Lad ay) i L & LaS (A agd) cilaual (G5 £ gana
(gsosall

Stock Splits ag¥) daud
«% Issuance of additional shares to stockholders according to their percentage ownership.
aeile s G Gpaabisall L) sl o)

« Reduces the market value of shares. gl A8 gl dadl) (e Jly
« No entry recorded for a stock split. ped) aandll JA3) Joai 22 0 Y
% Decrease par value and increase number of shares. pe¥) 2ac 334 ) 5 ArenY) Aadl) jaldl)

Note: A stock split changes the par value per share but does not affect any balances in stockholders’
equity.
Cpadlal) (398 A Baa i ol o S Y LSty aa) ol agad] Lnan) Aail) yuid 1) ag) anadifd oS 5375
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Before stock split After stock split
ABC Co. ABC Co.
10 10 | 10]10]10]10
shares | shares ji 10f10]10]10
10 10 [10j10}10]10
hares | shares .0 10]10]10

Number of shares owned increases, but
percentage of company owned remains the same.

Cpadlsal) Go8a A baa ) o o i Y sty agad) die A 5a0 ) agad) anadl day Lag S Le JSA)) i g
Effects for Midland Corporation, assuming that it splits its 50,000 shares of common stock on a 2-for-1
basis.

A G 2 Guladd e Balal agu) e ages 50000 anis Lesl Gial il Sl e ol i)

Before After
Stock Split Stock Split
Stockholders’” equity
Paid-in capital
Common stock £ 500,000 $ 500,000
Paid-in capital in excess of par—common stock —0- -0-
Total paid-in capital 500,000 500,000
Retained earnings 300,000 300,000
Total stockholders’ equity $800,000 $800,000
Outstanding shares 50,000 100,000
Par value per share $10.00 $5.00

LY B Y 5 ae) A 8 s Lo Al gl 3 Gl ¢ Gnagaad agaadl andil Ly g aa) 5 () 2 By (58 agad) i Ll
e 50000 J Coraall ppaiy (8 saall 333 g gall aguVl (o8 lie ey A 3V ¢ LIS (5 sia £ gana s B jaiaall
$5.00 A $10.00 s yasll U juuad 08 ansdih dienl) dadll <8 gl (dly 5 / 2ge 100000

Retained Earnings 3l / 5 jaliaal) gL )
% Net income increases Retained Earnings and a net loss decreases Retained Earnings.
(ASLAN L) Jatiaall ZL N1 (e b jludldl e Jliy 5 (AS,80 #T)s sadaad) 2LV e daal) ila &y
o Part of the stockholders’ claim on the total assets of the corporation.
Al Jgeal aaly Granbosall Llthas (e 5 52
% Debit balance in Retained Earnings is identified as a deficit.
. ( Debit aall (585 a3 13) Ja 4l e 3 jaiaal) #L Y 3 Debit a2

Balance Sheet (partial)

Stockholders’ equity
Paid-in capital

Common stock $800,000
Retained earnings (deficit) (50,000)
Total stockholders’ equity $750,000

Caiail 481 (3 sias $50000 dashy ae Lesd Ue s jaiadl #L Y1 (815 dle agudS $800000 e Uil ; ISl ] mpa i
50000 dasiy (A8l Alud) 5 lud oS) 5 Lasie L) A8 500 Le cpm 8
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Retained Earnings Restrictions Sj,ﬂuﬁ zL Y g8
Restrictions can result from: (e 258l anii o)) (Say

1. Legal restrictions. 4 gildl) 3 5,81
@) g 8 28 G oa [ AS AN G ol g ey e 32 5y Ul iy

2. Contractual restrictions. dga8latl) 3 g8
O 433 L1 w35 aiay Jo i @il (e (2 8 3A) AS Al Dl AS Al g s ) 3 sial) G 5 08

3. Voluntary restrictions. de ghal) 458

. el) 600000 leie 5il Ll e 28 Cilas oy (ke 3 g 555 oy Dlie iny Lgule 48 L Lgil ¢ 5Lty 4 51

Prior Period Adjustments A&Lu) 3 jidl) bl
Correction of an error in previously issued financial statements. il 5 jaball Akl cliball 8 Uad rosa
() 2 o) il Ly sy I eUaal) Jasia
<> Result from: ¢ 4o

«% mathematical mistakes. Jamlyy eladl
« mistakes in application of accounting principles. Anulaall ggolia (udai & eladl
=6 oversight or misuse of facts. Glaal) aladial sela) 5l 44 )

<> Adjustment made to the beginning balance of retained earnings.
Badaall LY Ay sy e ) & 3 Jaail)

Woods, Inc.
Statement of Retained Earnings
For the Year Ended December 31, 2014

Balance, January 1 $ 1,050,000
Net income 360,000
Dividends (300,000)
Balance, December 31 $ 1,110,000

Before issuing the report for the year ended December 31, 2014, you discover a $50,000 error (net of

tax) that caused the 2013 inventory to be overstated (overstated inventory caused COGS to be lower
and thus net income to be higher in 2013. Would this discovery have any impact on the reporting of the

Statement of Retained Earnings for 2014?

8 Al 8 o (il ual) ila) Y 50 50000 Ay Uad a5 ¢ 2014 ansd 31 8 Dpgiiall Laall il Hlaa) U
Ja 2013 ple & Jaall o gl ) Ul de il piliadl 2815 jaladil 8 48 adlall (o5 j3all cand) 2013 (558
S A el [ A Aliaat g Und Uie (g9 Lk $2014 plad 3 sl 2L Y1 gl e £30Y1 e il o 43 Galaasy) 1
2014 A ol g ) Uadl) dad 50000 e paio dicall sla 3 5 jaiaal) ZLY) paniy 2014 cliwa

Woods, Inc.
Statement of Retained Earnings
For the Year Ended December 31, 2014
Balance, January 1, as previously reported $ 1,050,000
Prior period adjustment - error correction (50,000)
Balance, January 1, as restated 1,000,000
Net income 360,000
Dividends (300,000)
Balance, December 31 $ 1,060,000
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Debits and Credits to Retained Earnings

A e 8 el LY Ji P (e Bl [ Ananal) [ 3 5adaal) ZLY) &5

1. Net loss sl dla 1. Net income Jaall la
2. Prior period adjustments for overstatement of 2.Prior period adjustments for understatement of
net income net income
Jaa ila 8 (53l U)Radluall 46U 5 il Cidaa JAa la (Al L5)5 jluad Aalull 3 jidl) 0l

3. Cash dividends and stock dividends
pen) Ll s il iy il
4. Some disposals of treasury stock
By A0 (5 jan (b Ll pel) (mny

Statement Presentation Okl o2
b ) cilaglaal) | i g W puant S i pai i) dlia gt [ agu) cilaual (3 g8al Algdl) S
GRABER INC.
Balance Sheet (partial)

Stockholders’ equity
Paid-in capital
Capital stock
9% Preferred stock, $100 par value, cumulative,
callable at $120, 10,000 shares authorized,
6,000 shares issued and outstanding § 600,000
Common stock, no par, $5 stated value,
500,000 shares authorized, 400,000 shares

issued and 390,000 shares outstanding $£2,000,000
Common stock dividends distributable 50,000 2,050,000
Total capital stock 2,650,000

Additional paid-in capital

In excess of par—preferred stock 30,000

In excess of stated value—common stock 1,050,000
Total additional paid-in capital 1,080,000
Total paid-in capital 3,730,000
Retained earnings (see Note R) 1,160,000
Total paid-in capital and retained earnings 4,890,000
Less: Treasury stock (10,000 common shares) 80,000
Total stockholders’ equity $4,810,000

Note R: Retained earnings is restricted for the cost of treasury stock, $80,000.
Paid in capital & Retained earnings : Osesd () avii agu) Clanal (358 JS8l) mpn g v/
capital stock & Additional paid in capital : (sesd ) sy paid in capital ¢ 3» Jsl v/
: capital stock s J paid in captal ¢ J¥l e sall o) 3 A8S o5
Common Stock & Preferred Stock : (pesd I anily Capital stock & v
9% Preferred stock, $100 par value, cumulative, 10,000 shares authorized, 6,000 shares issued and
outstanding $ 600,000 Common stock, no par, $5 stated value, 500,000 shares authorized, 400,000
shares issued and 390,000 shares outstanding Common stock dividends distributable
20 6,000 S dal ag 10,000 s il & paan ¢ (oS5 Lge 55 $100 Aol iy Aadall peuall) s %9 Uie (58
g US dadl §5 Arand dad Uis (58 L Lal ¢« $600,000 daiill e allash agus S 4ad )Y 53 100 * ags 6,000 Lie ixy)
lie il (58 giiuia i 390,000 Gl (& sadls Jslaiall 5 400,000 peie i ydal aga 500,000 s A i) & jean
$2,000,000 & aen) das Lic () 5 ages JSI $5* ags 400,000 Lind ags 10,000 dasis Treasury Stock 453 agd
+ 2,050,000 g senalld | 5 jaum Ll (g3 5l ALllN) age 58 ) pgie Lle) () agual) #U )] A agie 3y e Lie (58
2,650,0005 s» aesY) Jle ul )l ¢ sanall yuai 600,000
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:Additional paid in capital s ' Paid in capital (» QG £ jall 0] B A4S o6

Additional paid-in capital in excess of par—preferred stock 30,000 In excess of stated value—common
stock 1,050,000 Total additional paid-in capital 1,080,000 Total paid-in capital 3,730,000
Ot Agalall agu) - daleal) Aaill e 3y 3 Lo s 30,000 3 kaal) agusl) e 3130 £ giadl i) Jlall Gl ) e o 8
g sana s £ saaal)l Juall ) lesl (J8) )A151,080,000 58 ¢ séaall AL JLa) Gl e le 568 < 1,050,000
$ 3,730,000 = 1,080,000 + 2,650,000 = Jwll (sl e lay Jull + Judl il

: Retained earning (patluall 48k (gsia O (AN & 0l 351 2 o
Retained earnings 1,160,000 Total paid-in capital and retained earnings 4,890,000 Less: Treasury stock
(10,000 common shares) 80,000
s 8l 2LV + g giaall JWl ) & sena lic Lugh 1,160,000 (4 Blisivall / 3 jainall Aranall 7L Y1 Ue o
Aads (5ad b S0 DAl dad e e aen e ae 10,000 Aed agie =8 $ 4,890,000 = 1,160,000 + 3,730,000
80,000 (& 4u Al s dad Ue allaly (J8 Jle A & S8 (3§ guill i) $8 agd)

$ 4,810,000 = 44330 gl — Aranal) ZL Y + £ shaal) Jlall (il £ sana 1 Ailgdl) (panlovall 48 (G58a Aad

Note: Retained earnings is restricted for the cost of treasury stock, $80,000.
.80¢000 $ « 4l Al (958 AL Baika 3 jadaal) LY Aiadle

Return on Common Stockholders’ Equity = Net Income Available to Common Stockholders
Omdlad) (paalusall (G98a Jo ailall Average Common Stockholders’ Equity
Goalall aalisall (38n o gia f Cpaball Gpaalisall #liall Jadl) dla
Ratio shows how many dollars of net income the company earned for each dollar invested by the
stockholders.

O sadlsall o yafing Y 53 JS Jilia 4S il adiia @A) Jaall Ll (e <l )Y sall aae Al el

Income Statement Presentation Jad Glu (o e
LEADS INC.

Income Statement
For the Year Ended December 31, 2014

Sales revenue $ 800,000
Cost of goods sold 600,000
Gross profit 200,000
Operating expenses 50,000
Income from operations 150,000
Other revenues and gains 10,000
Other expenses and losses (4,000)
Income before income taxes 156,000
Income tax expense 46,800
Net income $109,200

4y ya gaic Lid Corporation ) Badia o8
Earnings Per Share = Net Income minus Preferred Dividends
pgdl 2le Weighted-Average Common Shares Outstanding
Aalal) A8 jiial) agudl s ye dan sia [ Aladall #L Y1 Clay 58 4ie a5 shae Ja0 ila
Ratio indicates the net income earned by each share of outstanding common stock.
Al Aalall agu) (e duan JS 4lias 3 Jaa) dla ) Al i
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dbla) Al

Q1. Circle the correct answer

1.

Which of the following statements about small stock dividends is true?

a. A debit to Stock Dividends for the par value of the shares issued should be made.

b. A small stock dividend decreases total stockholders’ equity.

¢. Market value per share should be assigned to the dividend shares.

d. A small stock dividend ordinarily will have no effect on book value per share of stock.

In the stockholders’ equity section, Common Stock Dividends Distributable is reported as a(n):
a. deduction from total paid-in capital and retained earnings.

b. current liability.

¢. deduction from retained earnings.

d. addition to capital stock.

All but one of the following is reported in a retained earnings statement. The exception is:

a. cash and stock dividends.

b. netincome and net loss.

c. some disposals of treasury stock below cost.

d. sales of treasury stock above cost.

The income statement for Nadeen, Inc. shows income before income taxes $700,000, income tax
expense $210,000, and net income $490,000. If Nadeen has 100,000 shares of common stock
outstanding throughout the year, earnings per share is:

a. $7.00.
b. $4.90. ($490,000 / 100,000 = $4.90)
c. S2.10.

d. No correct answer is given.

Which one of the following is not necessary in order for a corporation to pay a cash dividend?

a. Adequate cash

b. Approval of stockholders

c. Declaration of dividends by the board of directors

d. Retained earnings

Solaris, Inc. has 2,000 shares of 5%, $10 par value, cumulative preferred stock and 50,000 shares
of $1 par value common stock outstanding at December 31, 2014. What is the annual dividend on
the preferred stock?

a. S$5 pershare

b. $1,000 in total

c. $10,000 in total

d. d.S$.05 pershare

7. Eggers Inc. has retained earnings of $1,600,000 and total stockholders' equity of $4,000,000 .It has
400,000 shares of $5 par value common stock outstanding, which is currently selling for $30 per share.
If Eggers declares a 10% stock dividend on its common stock:

a. netincome will decrease by $200,000.

b. retained earnings will decrease by $200,000 and total stockholders' equity will increase by
$200,000.

c. retained earnings will decrease by $1,200,000 and total stockholders' equity will increase by
$1,200,000.

d. retained earnings will decrease by $1,200,000 and total paid-in capital will increase by
$1,200,000.
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Q2: Indicate whether each of the following statements is true or false.
False 1. Cash dividends are not a liability of the corporation until they are declared by the board of

directors.

False 2. A 10% stock dividend will increase the number of shares outstanding but the par value per
share will stay the same.

False 3. A debit balance in the Retained Earnings account is identified as a deficit.

False 4. Retained earnings that are restricted are unavailable for dividends.

False 5. Earnings per share indicates the net income earned by each share of outstanding common

stock.

True 6. Retained earnings represents the amount of cash available for dividends.

True 7. Prior period adjustments to income are reported in the current year's income statement.

True 8. A detailed stockholders' equity section in the balance sheet will list the names of individuals
who are eligible to receive dividends on the date of record.

True 9. Return on common stockholders’ equity is computed by dividing net income by ending
stockholders’ equity.

True 10. Earnings per share is calculated by dividing net income by the weighted-average number

of shares of preferred stock and common stock outstanding.

Q3: Match the items below by entering the appropriate code letter in the space provided.

A. Deficit " ja=lI" F. Return on common stockholders’ equity

B. Prior period adjustment " "4&Lull 3 il Ju=" G, Cash dividend "L LY a5

C. Liquidating dividend "zL_¥! Ldai" H. Declaration date "OAeY) an"

D. Retained earnings restrictions "zl ¥ 358" I. Stock dividend "agnlS F Ll a5

E. Earnings per share "aen¥ Ay " ). Stock split Mg dand"

__ 1. Adividend declared out of paid-in capital.

__ 2. Retained earnings currently unavailable for dividends.

_____3.The correction of an error in previously issued financial statements.

4. Apro rata distribution of cash to stockholders.

5. Adebit balance in retained earnings.

_____ 6. Aproratadistribution of the corporation's own stock to stockholders.

_____7.Shows how many dollars of net income were earned for each dollar invested by the owners.

_____ 8.The date the board of directors formally declares the dividend and announces it to stockholders.
9. The issuance of additional shares of stock to stockholders accompanied by a reduction in the par

or stated value per share.
10. Widely used by stockholders and potential investors in evaluating the profitability of a company.

Answers to Matching

1.C 6.1
2.D 7.F
3.B 8.H
4 .G 9.)
5.A 10. E
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Q4: During 2017, Roblez Corporation had the following transactions and events.
Al a9 cdlaleal) Roblez 4Sd cijal ¢ 2017 ale DA
1. Declared a cash dividend. L3 Fl) ms e
Issued par value common stock for cash at par value.dxesY! dailly S8l dpaul) dagll Cld Lolall agul) laal
3. Completed a 2-for-1 stock split in which $10 par value stock was changed to S5 par value stock.
O Al dpan) Ay )Y 53 B ) Y 50 10 Apens¥) Al (g5 58 pad i Cun ) il 2 agasd) aadli JWaS] o
4. Declared a small stock dividend when the market price was higher than par value.
A dail) o e Bl yaa (IS Ladie 3 pina agnd ZLT @5 08 (Y
5. Made a prior period adjustment for overstatement of net income.
Rl il 8 (30l ARGl daladl 5 i) Jaaed s al
6. Issued the shares of common stock required by the stock dividend declaration in item no. 4 above.
oOkel 4 o8 ) ) 8 el ZU i 55 o3ke) Leallaty A Apalal) agul) laa)
7. Paid the cash dividend in item no. 1 above. oSl 1 8 xill 8 dpail) ey ) il ad
8. Issued par value common stock for cash above par value.
eVl Aall (358 8 dpans¥) Aagdll 3 Agalall agusYl o)

N

Required: Indicate the effect(s) of each of the foregoing items on the subdivisions of
stockholders’ equity.
Cpadlual) (3 giad Lo i) Cilapudll o AGLud) palinl) (o puaie JS (<) i) il aaa 1 gllaal)

Capital stock () Additional paid in capital Retained Earning

e Jal Ll ) Judl Gl ol 5 jadaall ~L LY
1. NE NE Decrease
2. | Increase NE NE
3. NE NE NE
4. | Increase Increase Decrease
5. NE NE Decrease
6. NE NE NE
7. NE NE NE
8. | NE NE NE

Ll st Ala 4 LS A8 e ) (lali VgL Y Ar NE

Q5: OnJanuary 1, 2017, Eddy Corporation had retained earnings of $650,000. During the year, Eddy
had the following selected transactions.
A 5 jUidal) cidlalaall s a) sual ¢ alall A N ga Cill 650 WS plub ) ASud cliiia) 2017 491 b
1. Declared cash dividends $120,000. Sl ¥ 53 120.000 i dilaa 435 #L |
2. Corrected overstatement of 2016 net income because of inventory error $40,000.
¥ 5240.000 555l 8 Uad s 2016 el Jaall Lilia a6 8 Axlle pranaad
3. Earned net income $350,000. L¥52350.000 Gesall Alall Jaall
4. Declared stock dividends $90,000. LY 52 90.000 Aleal) agusl) Zl )l ey 358

Required: Prepare a retained earnings statement for the year.
Al 3 Jadiaal) ZLUY Gl daely aB e gllaal)
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Eddy Corporation
Statement of Retained Earnings 3Jaisall zL_Y¥) ¢l

For the year ended Dec31, 2017 /31 A dugiiall 2017 4iud

Beginning Balance (as reported) 3,5 LS el 403 | 650,000

Prior period adjustment (error correction) (Uad) mesai) dalull 5 5idll Jiaad | -40,000
Beginning Balance (adjusted) (Jazall) 2ua )l 42 | 610,000
Add: Net Income Jaall s 4gle Cauzie | 350,000
Deduct: Cash dividends il ~L LY ) Jsm e aily | -120,000

Stock dividends el e #L Y -90,000

Ending Balance (DEC 31, 2017) 2017/12/ 31 4 A aad) | 750,000

Q7: On January 1, 2017, Geffrey Corporation had the following stockholders’ equity accounts.
A Cpablinall (5o8a clba g ol AS,d A OS¢ 2017 S0 1 (A

Common Stock ($20 par value, 60,000 shares issued and outstanding) 1,200,000
(Bl (A Dl g agus Al B0 Llaal ¢ BS) el 15Y 50 20 dpansl) dagill) dualall agusl)
Paid-in Capital in Excess of Par—Common Stock 200,000
Agalall agul) - LpaV1 e 5230 30 & shaall Juall Ll
Retained Earnings 8 yaiaall #L )Y 600,000
Total & saxal) 2,000,000

During the year, the following transactions occurred.
Feb. 1 Declared a $1 cash dividend per share to stockholders of record on February 15, payable March1
Gl 1l dals ¢ i 15 (8 Calaasall Gpaalosall aeas JSI Y 50 1 W a8 200 #Ll w58 ool 1 e
Mar.1 Paid the dividend declared in February. DA (A Al ~L )Y Slay ) 68 ady s e 1
Apr.1 Announced a 2-for-1 stock split. Prior to the split, the market price per share was $36.
J5Y 53 36 2l sl agndl (3 guadl a OIS ¢ ALY JE 1 Qe 2 age Bl 0o il 1 e
July 1 Declared a 10% stock dividend to stockholders of record on July 15, distributable July 31. On
July 1, the market price of the stock was $13 per share.
¢l 1 sl 31 B sl AL ¢ gl 15 & Gulasal) Cpaalall o a0 710 st oo sls 1 el
_.\;\)X\ﬁ_uﬂ\jyj_\. 13*,.“3@)*,4\)“015
July 31 Issued the shares for the stock dividend. o) Ll a5l pgnd) il 31 Jaual
Dec.1 Declared a $0.50 per share dividend to stockholders of record on December 15, payable
January 5, 2018 A
Gaise ¢ (Gped) AV SIS 15 b Cplasdl el e pgms ISV )Y 53 0.50 58 0e (samsd) I 0518 1 (e
2018 1w 5 & a8l
Dec.31 Determined that net income for the year was $350,000.
Y52 3506000 oS Al Jaall e o jaws 31
Required:
(a) Journalize the transactions and the closing entries for net income and dividends.
e Z Ll s daall el il a5 clebeall o 5ty a8
(b) Enter the beginning balances, and post the entries to the stockholders’ equity accounts.
et lusall (3 i cililua ) YY) dia y a5 ¢ Aglal B i Jaal
(Note: Open additional stockholders’ equity accounts as needed.)
(Aalall G Cpaaliadll Ll agnl) Sl il ddaadla)

(c) Prepare a stockholders’ equity section at December 31. e 31 (A (pealusall (358s and dlacly o8
12| Page
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Answer:
A.
Date Account Debit | Credit
Feb. 1 Cash dividends " & #L )" 60,000
Dividends payable "a8all daati" 60,000
Mar. 1 | Dividends payable "géll daaiig" 60,000
Cash "laa" 60,000
Apr. 1 No Entry: Number of common shares issued and outstanding becomes 120000 share, and
par value becomes $10.
$10 Laans¥) Aaill 5 ages 120000 gesnaar (3 sdl (o3 53 52 sall) A 5 5 jaimall Lpalall 2l aae ;lia Jlao) Y
July 1 Stock dividends ag¥) ZLl 156,000
Common stock dividends distributable 120,000
"5l ALED e F L
Paid in capital in excess of par 36,000
") el e 2 e JWall il )"
July 31 Common stock dividends distributable 120,000
"5l AL Dalell agas) Lt
Common stock "deluall dalall agutyI 120,000
Dec.1 | Cash dividends & #L )l 66,000
dividends payable "aiall daiue #L )" 66,000
Dec.31 | Income summary account "Jaall jaile Clua 350,000
Retained earnings" s ysisall #L ,YI" 350,000

B. (rablusall (sia aud (b Lghaal Uiy () ald V) gy o sk Uity (198

o A 286,000 agie Uaiia s 350,0008 s A Jaall Gadle agale 3 3 600,0008 oo b ke 5 aiaall 7l Y Le b

8 oainall #LOY) i (971 palie ) s) daalall aeusd) 2Ll GleSs (12/1 S5 2/1 (G palie 55 1) 126,000 4l LY
¢ NS agd) BMASY) (5 suia s 286,000 Lic alkaiy

Retained Earnings
Cash dividends
stock dividends

282,000
126,000
156,000

600,000
350,000
126,000
156,000
668,000

C

Stockholders' Equity: (sebluall (3 g8a |

Common Stock ($10 par value, 132,000 shares issued and outstanding) 1,320,000
(Ald s W laa) &5 ags 132000 ¢ LY 53 10 Lpansl) Aall) dualall gy
Paid-in Capital in Excess of Par—Common Stock 236,000
Aalall agsl) - Lpansl) e 330 30 ¢ shaall Jua)
Retained Earnings 5 jxisall / dxaaall #U Y 668,000
Total stockholders' equity (adluall (358a £ gaa 2,224,000
13| Page
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Q: Knudsen Corporation was organized on January 1, 2016. During its first year, the corporation issued
2,000 shares of $50 par value preferred stock and 100,000 shares of $10 par value common stock. At
December 31, the company declared the following cash dividends:
g 15Y 53 50 Lpansl Ay ages 2000 48 il &yl ¢ J5¥) Lgale A 2016 il 1 8 Knudsen 48 i aplais &
ail) ZL Y Gl 58 oo A8 el ¢ aenns 31 Ll aend) (e Y 53 10 daand s ags 100000 s 3 kiedl)
-4 dul
2016, $5,000; 2017, $12,000; and 2018, $28,000.
Required: < sihal)
(a) Show the allocation of dividends to each class of stock, assuming the preferred stock dividend is
6% and noncumulative.
S 976 s Jumiall ) dile G il 8l ¢ agu) il (e 458 IS g 2L s leda)
(b) Show the allocation of dividends to each class of stock, assuming the preferred stock dividend is
7% and cumulative.
(S S5 1T s Jemial) peusl) e o Gal 8L ¢ agasd) i (g0 28 ISV agu) 2L s ledal
(c) Journalize the declaration of the cash dividend at December 31, 2018, under part (b).
() sal @i ¢ 2018 senss 31 & Ll ~LOY) w5 Ble) (a5

Answer: 4aY)

Preferred dividends Common Dividends  Total dividends

3 laall agutl) L1 223 dalal) age®) U 22 s 530 M) L
Year 2016 5,000 0 5,000
Year 2017 6,000 6,000 12,000
Year 2018 6,000 22,000 28,000

* %6 * 2,000 (in: %6 e i 2016 A 3 3lian pgusd ZLi Lie 55 lial il 1 JEIS A Al 8~ LY il 56 058
Tlol g oste Lo L ¢ (o8 by Le AS 80 (i) (oaS) 5 e pend) (38 815 1,000 Gl @i Uiy Llad Lialé ¢ $6000 = 50
Lo 2L Y1 Ao L) 5 3ladl) pel) e 2017 (2 Ladis //// 535l el sal 5 261 5,000 Y dpalall agul) Claal e
Claal e age 55 6,000 o2 I palic 5 12,000 G Bl 5 6,000 | sinios 5 lieal) aguy) Gllilh (Aid diw e iy
al agusdl age 510 22,000 & 15 28,000 e sl 5 6,000 5 el agusl) il 2018 (2 // Llad) ag)

Preferred dividends Common Dividends  Total dividends
8 liaall agudl) Ll @uist Al agud) zlul s (s s D) ZLY) £ sana
:. | Year2016 5,000 0 5,000
Year 2017 2,000+7,000 3,000 12,000
Year 2018 7,000 21,000 28,000

* %7 * 2,000 i %7 e iy 2016 4 5 lias agul Zll lie 35 Lal gl 0 JUIS B A & LY ey 558 ()8
¢ (Whs L;,J\ 4l <t 2,000J! i lay YLl ) (S N_mx\ 0525 2,000 SS pdxi Ly Llad Liald ¢ $7000 = 50
8 3laall agu) e 2017 (A Lads ///] 3 30aall agud sa) ) 2glS 5,000 55Y dpalall peast) sl e 2Ll g ) sia L Lain
=S pendl Y Apalall Al (e 2,000 5 7,000 st 8 lieall agu) Al (Aind L (e s La L, Y) dpssd Laika)
7,000 5 tiaall pgusd) clS 2018 A // Ldlall agu) ilaal e age 50 3,000 a4 ) palic 55 ) 12,000 oo S5
Lalall agud age 551 21,000 & )5 28,000 o Al 5

c.our Entry: o Al Gulud e 2018 il kid JUaY) s guia (98

Cash dividends 28,000
Dividends payable: Preferred 7,000
Dividends payable: Common 21,000

END OF CHAPTER 14
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Long-Term Liabilities Ja¥ Al gl culal Jallfels gtlaa
Bond Basics ¥ [aiwd) clubd |
Bonds are a form of interest-bearing notes payable. bl Aiaiise 3Ly colaind) QST (e S5 o8 il / 230Y)

Three advantages over common stock: Lalal) agusl) e Lyl e 43D
1. Stockholder control is not affected. Onedlisall 48) ya G Y
2. Tax savings result. (Lelliy) il yuzall <l ) 68 g A

3. Return on common stockholders’ equity may be higher. el Gaalall Guaaluall (§gia e xilall ()5S, 8
Note: Besides corporations, governmental agencies and universities also issue bonds to raise capital.

Opbadi 3 agie pe O e W) Gl a3 clai Woagl cilaalad) 5 dge sSall cilingd) jaad ¢ S il caila ) ridaadle

Effects on earnings per share—stocks vs. bonds. i) Jilia agd) - agead) Liagy o ) il
pd) day e BV A Lag alad [ cldia jlaa) 430N g agud sl Laataa) cpibad &l s ¢y 98

Plan A Plan B

Issue Stock Issue Bonds
Income before interest and taxes $1,500,000 $1,500,000
Interest (8% X $5,000,000) — 400,000
Income before income taxes 1,500,000 1,100,000
Income tax expense (30%) 450,000 330,000
Net income $1,050,000 $ 770,000
Outstanding shares 300,000 100,000
Earnings per share $3.50 $7.70

E— — D JSA) il g

a0 (0 WS o il Lain Lplaaa Y wdally 308 Lgale 2 53 ) gl Jaai Lal e (g8 1 A Alad) 74
&0 ) siall agu¥1 5 $1,050,000 Le Jask $450,000 (& N ) puall dadh agia (aiie $1,500,000 dasis (snlial (ne
$3.50 52 2l sl aguall dad Ue (5% il 300,000 (& G5l

Gn Ui %08 (sp (A s ¢ I puall (B Lewal il iy 83308 aale ()5S) Claias / dind jaai Wl o8 1 B ALAY £ )4

e Jbs (1$400,000 < sadl Lie adlay Jl sl (e Ll 531 8/100 * $5,000,000 k) 400,000 < 1,500,000
100,000 J $770,000 <! 52Vl alla: $330,000 S22 %30 ety J)5ud) (10 A jidall il juall agia (aiia 1,100,000
D) 8 Gl Graalusall §gia o dilall lie (50 Lladd (5 ull 3 Lidad 25 e 2

Types of Bonds 2iu¥ g1 il
€ Secured and Unsecured (debenture) bonds. Lagall jue 5 Ahaall Cfaild)
el & cpe 0 Sl on ) dadad DA e Ala e latad) g3l (g i cany M S ASHA1 Calia ey 1dia el Cilasadl
) ape o3l L La Ciltinn a Aiage il Clainad) Leiy ¢ Aumiiia Risk 3 bliall dad (ysa 5 e (5% au @Il
debenture Lgesics ((4ddle Risk 3 hlaall dad 6 Lg jids g da Loy abdia b jau

€ Term and Serial bonds. Alduidl 5 Y coland)
Al i) Laig ¢ () s 5 22y clind) aa )i =5 30 4S80 Saty DMa) saal) Ay sh ey AaY) Claind) o 8
(bl o) @l yiall IS agy juae 2y 5 4S5l aa jaahy N ) bl ey

€ Registered and Bearer (or coupon) bonds. (Bl ) Lelala 5 Alasall clrindll
(adalad) and Jania Lo ) sl Laiy ¢ chlaiad) ) asl ) sl ddals 5805 A8 30 (g0 ag 1 sl i)
€ Convertible and Callable bonds. ele 3y 5 (b enill ALLEN chland

Cpde Ju colasad) Uﬁ.&\&\H@H‘H.JQM\JPJJ&;);\L,)&L;;Q&Z\S):J\OJA;&M\a\ms
ele iU ALEN aaul) Lo ¢ Jasaill QM ania a5 disne A g o )6 5l ()5S0 o sall Lanka ¢ Ll aal juiay 48,30
Auc SIS ) ey (Odlie aa) Aile i) (Sa aale s (Sl (pin B sy (g jbaall | saa s ilaind) & jacal ASLE) ey
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Issuing Procedures <laiwdl jlaa) Cis) ja)
€ laws grant corporations the power to issue bonds. ol laa) dali IS Al il 8] miad
€ Board of directors and stockholders must approve bond issues.
il Gl laa) e gaaliall g 3500y Gudaa 38 g0 o o
€ Board of directors must stipulate number of bonds to be authorized, total face value, and
contractual interest rate.
Aalail) 32l Jana ¢ Asan¥) daidll laa) 5 ¢ Lgr a5l i Al claind) sae 3 oY) Galae 2aay o cang
Bond contract known as a bond indenture. Glaiul) Mo anly Cog yrall Claiul) Sie
Paper certificate, typically a $1,000 face value. Y53 1000 W 508 Ayl ey Bale ¢ 48 )5 Balgs

L X 4

Al ) @ig) ) Cra ey Cllis
@ Represents a promise to pay: 2Ll g i
» sum of money at designated maturity date sl Giaiu) gl A Jldl e @l
P> periodic interest at a contractual (stated) rate on the maturity amount (face value).
(e Aadll) asia¥) alie o (ana) @38lad jras 4y 50 5aild

@ Interest payments usually made semiannually. S5t Caal JSI Bale 3238l e iae 2o
@ Generally issued when the amount of capital needed is too large for one lender to supply.

o2 2a) 5 G e sl o G ST o stall Ll (ol e S0 Ladie ole (S s

Issuer of Bonds 0SS a8 g dpan) dansl)

Gl juas Premium

Face Value

Discount

INTERNATIONAL MINERALS & CHEMICAL CORPORATION Maturity Date
11.875% SINKING FUND DEBENTURE DUE MAY 1, 2018 FJ‘ \aﬁ

INTERNATIONAL MINERALS & CHEMICAL CORPORATION, 5 New York corporation (hersi reterted 1o 88 tho “Company’), 10t ##1ue aceisd, hemeby promises to iy to.

11.875%

DUE 2018

Contractual Interest Rate
aalal) 3258l Jaza

fotary or an Assistant Secratary by his sgnature, or & facemile thereor
b INTERNATIONAL MINERALS & CHEMICAL CORPORATION

Face or Par Value
GoauY! dadl)

Determining the Market Value of a Bond  icl! 438 guul) Aagdl) 3aas

Market value is a function of the three factors that determine present value:
Al Aagsl) saas Sl AESE Jal gl (e ANy oo A gl Aadl)

1. dollar amounts to be received LSl atas Al 45 Y gall bl
2. length of time until the amounts are received bl 230 s dyie 3 3 3l J gl
3. market rate of interest. sailall (3 gual) jms
|Page2
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The features of a bond (callable, convertible, and so on) affect the market rate of the bond.
] (3 aad) s Ao (A1 L) Lag Jygatll Gl 5 ple i JAY) dead) i jpa S

Accounting for Bond Issues <aiad) Lliad duulaa

Corporation records bond transactions when it Ladie Claiall COllae A8 pal) o
@ issues (sells) (a5) <l sl
@ retires (buys back) bonds il (o1l sale)) colaind) aeld - paclEiall

€ when bondholders convert bonds into common stock.  4le agul () cilaiall colaid) dles Jgay Larie

NOTE: If bondholders sell their bond investments to other investors, the issuing firm receives no further

money on the transaction, nor does the issuing corporation journalize the transaction.
& AT Jlsal ol 3 )aadll 48,8l Sl Gl ¢ o AT o paline ) Clanall (8 agsl jlaiinl g Claiad) glela 18 13) 1 4ad
Alalaall Jaaadis 3 juaall 4S pdd) 2685 Y g ¢ dlaleall

Issue at Par/face, Discount, or Premium?  Jawdl) sf b 3iillc Avanl 4ad Ja laay)

Aol A B ol e IS
Market Bonds Sell
Interest Rate at
e 8% —= Premium Jd
Bond Ladis jua O paisall Cpuca
Contractual Issued when
Interest 10% m—)=  Face Value
Rate 10% ey dagtll
3?.\51.;11 Bk Jane . 12% —— Discount
/10 il e oty 55

Ex: On January 1, 2014, Candlestick, Inc. issues $100,000, five-year, 10% bonds at 100 (100% of face
value). The entry to record the sale is:
e 33al LY 53 100,000 4esds cilais Candlestick 48 <iyual « 2014 (H) S s 1 A B Jas e
ton el Joail 2l (Apen¥) Al 0 2100) 100 s %210 5 ) sin
Jan.1 Cash 100,000
Bonds Payable 100,000

Ex2: On January 1, 2014, Candlestick, Inc. issues $100,000, five-year, 10% bonds at 100 (100% of face
value). Assume that interest is payable semiannually on January 1 and July 1. Prepare the entry to
record the accrual of interest on December 31, 2014, assume no previous accrual.
2 7100) 100 s 210 5 <) sin (el 3240 )Y 93 100000 dasy laiv Candlestick 48 i Gyaal ¢ 2014 Ll 1 &

b 3l Blini) Jmadl 0l Saely o8 sl sy 1 5 il 1 8 (5 st Chamd (S gdal) Abaana 5300 () (i 8 (AsansY) Al

s Bl g g e (Sl < 2014 e 31
Dec. 31 Interest Expense 5,000
Interest Payable 5,000

On 1/1/2015

Interest payable 5000
cash 5000

|Page3
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® This continues until we reach 1-1-2019, the maturity date. On this date,

Bonds payable 100,000

ACCT230_CH15 ueaili

el 138 b 3lEsiaY) o ¢ 2019-1-1 U Jesi s 138 ainny

Cash 100,000
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Q1. Circle the correct answer
1. Major disadvantages resulting from the use of bonds are:
a. thatinterest is not tax deductible and the principal must be repaid.
b. that the principal is tax deductible and interest must be paid.
c. that neither interest nor principal is tax deductible.
d. that interest must be paid and principal repaid.

2. The rate of interest investors demand for loaning funds to a corporation is the:
a. contractual interest rate.
b. face value rate.
c¢. market interest rate.
d. stated interest rate.

3. Karson Inc. issues 10-year bonds with a maturity value of $200,000. If the bonds are issued at
a premium, this indicates that:
a. the contractual interest rate exceeds the market interest rate.
b. the market interest rate exceeds the contractual interest rate.
c. the contractual interest rate and the market interest rate are the same.
d. no relationship exists between the two rates.
4. Bonds that are issued in the name of the owner are
a. coupon bonds.
b. bearer bonds.
c. serial bonds.
d. registered bonds.
5. The party who has the right to exercise a call option on bonds is the
a. investment banker.
b. bondholder.
c. bearer.
d. issuer.
6. Bonds that are not registered are
a. bearer bonds.
b. debentures.
c. registered bonds.
d. transportable bonds.
7. Bonds that are subject to retirement at a stated dollar amount prior to maturity at the option
of the issuer are called
a. callable bonds.

b. early retirement bonds.
c. options.
d. debentures.
|Pageb
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Q2: Indicate whether each of the following statements is true or false.

False 1. Each bondholder may vote for the board of directors in proportion to the number of bonds
held.
True 2. Bond interest paid by a corporation is an expense, whereas dividends paid are not an

expense of the corporation.

False 3. Registered bonds are bonds that are delivered to owners by U.S. registered mail service.

True 4. A debenture bond is an unsecured bond which is issued against the general credit of the
borrower.

True 5. Bonds are a form of interest-bearing notes payable.

False 6. Neither corporate bond interest nor dividends are deductible for tax purposes.

False 7. The holder of a convertible bond can convert an interest payment received into a cash
dividend paid on common stock if the dividend is greater than the interest payment.

True 8. The board of directors may authorize more bonds than are issued.

False 9. The contractual interest rate is always equal to the market interest rate on the date that
bonds are issued.

True 10. If $800,000, 6% bonds are issued on January 1, and pay interest semiannually, the
amount of interest paid on July 1 will be $24,000.

Q3: Match the items below by entering the appropriate code letter in the space provided.

A. Bonds Calaad)
B. Discount on bonds payable Aaaiiall claial) e @Bl jal)
C. Bondindenture Aokl calanadl
D. Premium on bonds payable bl daiall i) LLgf
E. Registered bonds U ced) cland
F. Face on bonds payable adall Aatiall dpan) day ol

1. A legal document that sets forth the terms of a bond issue.

2. Bonds issued in the name of the owner.

3. A form of interest-bearing notes payable used by corporations.

4. Occurs when the contractual interest rate is greater than the market interest rate.

5. Occurs when the contractual interest rate is less than the market interest rate.

6. Occurs when the contractual interest rate equal than the market interest rate.
Answers to Matching

1.C 2.E 3.A 4.D 5.B 6. F

Q4: On January 1, 2014, Gunne Corporation issued $800,000, 8%, 10-year bonds at face value. Interest
is payable semiannually on July 1 and January 1. Gunne Corporation has a calendar year end.
el daglly < sins 10 324l ¢ 78 ¢ LY 92 all 800 daiy ilain Gunne A8 b @iyaal ¢ 2014 (L) S oS 1 b
Ao o s Ll L Gunne AS 0 e 1 9 sl 1 (8 (5 s Cha JS Bl pda oy
Required: <:sikaall

Prepare all entries related to the bond issue for 2014. 2014 plad Claiidl Hlaaly dalaiall 5 gl 48S jaeas
2014
JaN. L Cash .. 800,000
Bonds Payable ..., 800,000
July 1 Interest EXPENSE ..ottt 32,000
CaSh e 32,000

($800,000 x 8% x 1/2 = $32,000)
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Dec. 31 INterest EXPENSE ..veveveieie e 32,000

Q5: On January 1, Focus Corporation issued $500,000, 6%, 5-year bonds at face value. Interest is
payable semiannually on July 1 and January 1.
Laiily Ol i 5 33al ¢ 76 ¢ So yal 5Y 52 500000 desis Claiv Focus Corporation 48 58 <jaal ¢yl 1 415 (e
o1 9 sl 1 B s Cual 24 Bl dpenY)
Required: < siball

Prepare journal entries to record the ol Aa gl yids YA dlacly o8
(a) Issuance of the bonds. Glaiadl lacal

(b) Payment of interest on July 1, assuming no previous accrual of interest.
B3l Gl (3lsil) dsa g pde il Bl ¢ il 1 L sailall ady

(c) Accrual of interest on December 31. Dt 31 850l Slastul
Answer:
(2) €SNt 500,000

Bonds Payable........eeevieeiiiiiiiiieeeee e 500,000
(D) INterest EXPENSE....uviieieiieee ettt ettt e 15,000

Cash ($500,000 X 3%) v..veevverreeiiecreeriseenreeresreesre e e sree e enes 15,000

(C) INTErESt EXPENSE..uttiiieeeeeeeeectitteeee e ee et e e e e e e e eabar e aaeeeas 15,000

Interest Payable. ... 15,000

Q6: On January 1, 2014, Borse Company issued bonds with a face value of $800,000. The bonds
carry a stated interest of 7% payable each January 1 and July 1.
bl Ainian 7 7 dpeay Ailaa 5236 Jand i) Y 50 il 800 dpansd ey i gy 53 4S5 & jaal ¢ 2014 i 1 b
O PY BTy U g
Required: < skl
a. Prepare the journal entry for the issuance assuming the bonds are issued at 95.
95 8 i il o () 58l laadl G sl a8 dlacly &8
b. Prepare the journal entry for the issuance assuming the bonds are issued at 105.
105 8 ol calaiad) o (gl il laadl de sl 2 slacly 48

Answer:
() CASN. ettt e s 760,000
Discount on Bonds Payable..........ccceeevciiiieeiiicieie i 40,000
Bonds Payable.......ccceeiiiieiiiiiiee et 800,000
(D) CASNeeeeeeee ettt 840,000
Bonds Payable.......c.covviiiiieiecee e 800,000
Premium on Bonds Payable.......c.ccccevieriiiee e 40,000
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